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M.Com. (Part — II) Examination, 2011
Group - B : Advanced Cost Accounting and Cost System (Optional Paper)
Paper — 111 : COST AND MANAGEMENT AUDIT
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) Attempt all questions.
2) All questions carry equal marks.
3) Use of Non-Programmable calculator is allowed wherever
necessary.

1. “Cost Audit can appropriately be called as an “Efficiency Audit” — Explain. 20
OR

Could the following persons be appointed as Cost Auditor of acompany ? Briefly
explain with your conclusion.

a A Cost Accountant in practice, holding part time employment in that company.

b) A Firm of Cost Accountants, who are presently acting as internal auditors of
that company.

c) A Firm of Cost Accountants, who were retained in the previous year as consultants
toinstall acosting system in that company.

d) Afirmof Cost Accountants, one of whose partner is adirector of that company. 20

2. Write short notes (Any four) :
a) Social Audit
b) PerformanceAudit
c) Advantages of Cost Audit
d) Liabilitiesof Cost Auditor
e) Appointment of Cost Auditor. 20

P.T.O.
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3. What isManagement Audit ? Explain it’sfeatures and advantages.

OR
Distinguish management audit with cost audit and Financial Audit.
4. Write short notes (any four) :
a) Management Audit process
b) Evaluation of MISand control system.
c) Advantagesof Management Audit.
d) Corporate service audit.

€) Audit of special responsibilities of management.

5. Fromthefollowing information prepare the statement of Reconciliation of financial

profit with that of costing profit.

Costing Information

Direct materials Rs. 2,24,00,000

FY.O.H. Recovered @ 20% on Prime Cost

Admn. O.H. Recovered @ Rs. 24 per unit of production
Selling O.H. @ Rs. 32 per unit sold.

Financial Information
(Rs. in lakhs)

D. Materials 200 Bad Debts
D. Labour 80 Preliminary Expns.
O.H. — Factory 64 Legal charges
Admin. 200 Dividend Received
Sling 384 Interest received
Sales (12 lakh units) 560 Closing stock (4 lakh units)
W.I.P.

OR

RE 08 roob
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20
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5. Fromthefollowing datacalculate :

a) Profit beforeinterest and taxation
b) Working capital
c) Capital Employed and

d) Networth.
A Rs.
1) Establishment Expenses 95,00,000
2) ExciseDuty 81,00,000
3) Provision for Investment Reserve 50,000
4) Profit before Appropriation 37,35,000
5) Other Incomes 4,00,000
6) Provision for Development Reserve 15,000
7) Interest paid 30,00,000
8) Provision for Taxation 10,00,000
9) Cost of goods sold 5,40,00,000
10) Sales 9,75,00,000
B Rs.
Net Fixed Assets 80,75,000
(Includes WIP 75,000)
Investments
Trade 25,000
Others 5,000
Current Assets 3,79,25,000

4,60,30,000
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Current Liabilities
Un-Secured Loans
Public Deposits
Interest accrued

Secured Loans

Cash credits

Term Loans
Share capita
Receipts of unpaid calls
General resarve
Development Reserve
Investment Reserve

Capital Reserve

75,00,000

40,00,000
2,00,000

1,40,00,000
5,00,000
97,00,000
5,000
50,60,000
15,000
25,50,000
25,00,000
4,60,30,000

B/1/11/810
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M.Com. (Part — I) Examination, 2011
Group G: ADVANCED BANKING AND FINANCE
(Optional Paper)
Law and Practice of Banking
(2002 Pattern) (Old)
Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explainthe provisionsof the BankingRegulationAct, 1949 regarding :
a) Powers of the Reserve Bank of India
b) Restrictions on the business of banks.
OR

Explain the functions of the Reserve Bank of India as per Section 17 of the
Reserve Bank of IndiaAct, 1934.

2. Explain the provisions of the Banking Regulation Act, 1949 as applicable to
co-operative banks.

OR
Explainthe provisions of the Foreign ExchangeM anagementAct, 1999 regarding :
a) Authorised person
b) Export of goods and services.

3. Who is a customer of a bank ? Explain the reasons of termination of banker
customer relationship.

OR

Explainthefollowing concepts:
a) Garnishee order

b) Banker’'s duty of secrecy of a customer’s account.
P.T.O.
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4. Explainvariousrisksfaced by abanker while managing hisassetsand liabilities.
OR

What is meant by acollecting banker ? Explain hisrights and duties.

5. Write notes on any two :
a) Capital adequacy
b) Management of non-performing assets
c) Instrumentsof liquidity management

d) Payment in due course.
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2011

103 : PROGRAMMING FUNDAMENTALS
(‘C’ Programming)

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Assume suitable data, if necessary.

1. Attempt any four : (4x4=16)
a) Explainany four typesof variableswith example.
b) Describe structure of C program.
c) Explain any two types of operatorsin details.
d) What isheader file ? Explain any two header fileswith example.
€) What isswitch () statement ? Explain use of it.

2. Attempt any four : (4x4=16)

a) Write a C program to accept a four digit number from user and count zero,
odd and even digits from the entered number.

b) Write aC program to calculate X *y without using * =’ operator.

c) Write a C program to accept character and display its ASCII value and its
next and previous character.

d) Write aC program to check whether a given number is palindrome or not.

€) Write a C program to display all perfect number between 1 to 100 by using
function.

3. Attempt any four : (4x4=16)
a) Which are the different parameter passing techniquesin C ?
b) What isarray ? Explain different types of arrays.
c) Explainindirection and address of operator in detail.
d) Explainany four string functionswith syntax.

€) What is structure and what is use of structurein C ?
P.T.O.
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4. Trace the output (any four) :
a) Voidmain()
{

inti:

for(i=0;1i<=5;i++4);

print f (“%d”, i) ;
getch () ;
}

b) externint a;
void main ()
{
inta=5;
{
inta=10;
print f (*%d", at++) ;
}
print f (“%d”, @) ;
getch () ;
}

c) #include <stdio.h>
intmain ()
{
inti=1;
switch (i)
{
printf (“helloin”) ;
casel:
print f (“Hi in") ;
break ;
case2:

print f (“In ByelIn”) ;

break :

}
return O;

(4x4=16)



d) # include <stdio.h>
intmain ()
{
inti=1;
1=2+2% 0 ++;

print f (“%d”, i) ;

return O ;
}
€) #include <stdio.h>
intmain ()
{
inta=0,b=10;
if @==0)
{
print f (“true’) ;
}
else
{
print f (“false’) ;
}
returnO;

[3970] — 163
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5. Attempt any four : (4x4=16)

a) Write a ‘C’ program to create student structure having field roll-no,

stud-name, class. Passthisentire structure to function and display the structure
elements.

b) Write a“C’ program to accept two strings as command line arguments and
display union of both the strings.

c) Writea'C’ program to accept 10 numbers from user, store these numbersin
an array and find the smallest number from an array using pointer.

d) Write a‘C’ program to calculate sum of the elements of lower triangle of a
m % n matrix by using dynamic memory allocation.

€) Write aprogram to encrypt the contents of one fileinto another file.

B/1/11/320
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5. Write short notes on (any 4) :

a) Bibliography

b) Types of Classification

c) Advantagesof Questionnaire

d) Research Paper

€) Research Topic

f) Research problemsin man-power planning.
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M.Com. (Semester — II) Examination, 2011
RESEARCH METHODOLOGY FOR BUSINESS
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

N.B.: i) All questions are compulsory.
ii) All questions carry equal marks.
1. What is Business Research ? Explain the types of Business Research.
OR

a What is Tax Information ? What are the different sources of collecting tax
information ?

b) Explain therole of computer in research process.

2. Write short notes (any 4) :
a) Dictionaries
b) Types of data base
c) Research plan
d) Process of action research
€) Sources of international businessinformation

f) Role of referencelibrarian in businessresearch.

3. What issampling technigue ? Explain its advantages and limitations.
OR

Define case study and discuss the types of cases.

4. What is Research Report ? Explain the stepsin organisation of aresearch report.
OR

a) State the purpose of project report.
b) Explain the survey method of research.

P.T.O.



AR R [3970] - 203

M.Com. (Semester — II) Examination, 2011
ADVANCED ACCOUNTING AND TAXATION
Special Paper — I11
Specialised Areas in Accounting (New)
(Group A) (2008 Pattern)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of non-programmable calculator is allowed.
4) Give working notes wherever necessary.

1. Following are the Balance-Sheetsof X Ltd. and Y Ltd. ason 31 March, 2010.

Liabilities X Ltd. Y Ltd. Assets X Ltd. Y Ltd.
Share Capital Fixed Assets :
Equity shares Machinery 5,00,000 2,50,000
of Rs. 100 each Motor car 80,000 20,000
fully paid 10,00,000 5,00,000 Furniture 20,000 5,000
Reserve and surplus 3,00,000 1,50,000 Investments:
Current liabilities: SharesinY Ltd. 1,25,000 —
Sundry creditors 2,00,000 3,50,000 Sharesin X Ltd. — 60,000
Current Assets:
Stock 3,75,000 2,25,000
Debtors 3,00,000 3,40,000

CashatBank  1,00,000 1,00,000

15,00,000 10,00,000 15,00,000 10,00,000
P.T.O.
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X Ltd. holds 1000 sharesin Y Ltd. and Y Ltd. holds 500 sharesin X Ltd. The
two companies agreed to amalgamate on the basis of intrinsic value of shareson

thefollowing conditions:
1) A new company isto beformed called XY Ltd.
2) The Goodwill isvalued for X Ltd. Rs. 2,50,000 and Y Ltd. Rs. 1,25,000.

3) The shares of new company will be of 14-10 each.

You are required to prepare a statement showing intrinsic value of shares of
X Ltd. and Y Ltd. and show the Balance-Sheet of XY Ltd. 20

OR

1. AB Ltd. had decided to reorganise its finances on 31% March, 2009. A final trial

bal ance extracted from the books of the company showed the following position

Particulars Debit Credit
Rs. Rs.
Share Capital :
1500, 6% pref. shares of Rs. 100 each 1,50,000
2000 equity shares of Rs. 100 each 2,00,000
Capital reserve 36,000
Profit and Loss Account 1,10,375
Preliminary expenses 7,250
Goodwill at cost 50,000
Trade Creditors 42,500

Sundry Debtors 30,200
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Bank overdraft 51,000
L easehold property at cost 80,000
Provision for depreciation

for leasehold property 30,000
Plant and Machinery at cost 2,10,000
Provision for depreciation

for plant and machinery 57,500
Stock-in-trade 79,175

5,67,000 5,67,000

The approval of the court was obtained for the following scheme of reduction of
capita
1) The preference shares to be reduced to Rs. 75 per share
2) The equity shares to be reduced to Rs. 12.50 per share

3) OnceRs. 12.50 equity shareto beissued for each Rs. 100 of GrossPreference
dividend arrears, the preference dividend had not been paid for three years.
(preference sharesare cumulative).

4) The balancein capital reserve account to be utilised
5) Plant and machinery to be written down to Rs. 75,000/-
6) The profit and loss account balance and all intangible assets to be written off.

7) Company issued 5000 equity shares at par of Rs. 12.50 each which are fully
subscribed and fully paid.

You are required to show the journal entries to record the above reconstruction,

transactions and show the Balance-Sheet after reconstruction. 20
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2. Thefollowing information relatesto abuilding contract for Rs. 10,00,000.

Particulars 2008 2009
Rs. Rs.

Material issued 3,00,000 84,000
Direct wages 2,30,000 1,05,000
Direct expenses 22,000 10,000
Indirect expenses 6,000 1,400
Work certified 7,50,000 10,00,000
Work uncertified 8,000 —
Material at Site 5,000 7,000
Plant issued 14,000 2,000
Cash received from contractors ~ 6,00,000 10,00,000

The value of plant at end of 2008 and 2009 was Rs. 7,000 and Rs. 5,000
respectively.

Prepare :
1) Contract account

2) Contractee’s account for two years taking into consideration such profit for

transfer to profit and loss account as you think proper. 20
3. A) From the following particular pertaining to four rooms in a hotel, draw up

suitable columnur ledger.

1) Room rent for each room Rs. 500 +15% tax

2) Room No. 1 —breakfast Rs. 45, laundry Rs. 50, Local phone calls Rs. 15
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3) Room No. 2 —lunch Rs. 85, STD calls Rs. 125, wine Rs. 60, previous
day’s outstanding amount Rs. 1,250.

4) Room No. 3 : Private taxi hired from hotel Rs. 400, STD calls Rs. 350,
Dinner Rs. 125, Whisky Rs. 100. Deposited Rs. 3,500 with the hotel.

5) Room No. 4 : Opening due from the guest Rs. 575, Laundry Rs. 30,

Lunch Rs. 120.

6) The guest in Room 3 is aregular visitor and is entitled to a discount of

20% on room rent.

All the above transactions pertain to asingle day.

12

3. B) A five star hotel in Pune has 350 rooms out of which 250 rooms are single-

bed rooms and rest of the rooms are double-bed rooms.

On 1% March, 2010, 180 single-bed rooms and 60 double-bed rooms are

occupied by the guests.

Calculate the bed occupancy rate for the day.

4. Thefollowing isthe Income and Expenditure Account of the Royal College for

the year ended 31% March 2010.
Expenditure
To Salaries
To Rent
To Rates and Taxes
To Postage and Telephone
ToAffiliation fees
paid to university

To Sports material

Rs.
24,000
10,800

600
720

1,200
15,750

Income
By Tuition fees
By Entrancefees
By surplus on
publication of
college magazine
By profit on sale

of old sports assets

Rs.

72,000

8,000

4,500

1,200
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To Electricity bill 1,200 By Interest on
To Repairs and 5% investments 600
mai ntenance of By Miscellaneous Income 225
collegefurniture 9,600
To Depreciation on assets 4,800
To Surplus 17,855
86,525 86,525

Thefollowing informationismade available.

Particulars As on 31-3-2009  As on 31-3-2010
Rs. Rs.
[) Sundry Assets 44,000 ?
Bank balance 4,800 ?
Feesin arrears 4,750 3,500
Feesin advance 1,400 2,600
5% Investments 12,000 12,000
I1) Expenditureoutstanding :
Sdaries 600 1,200
Rent 900 1,800
Rates and Taxes Nil 600
Tennis court maintenance 780 320

[11) Outstanding for purchase
of sports materials 1,400 2,950
V) Prizefund 4,600 3,250

V) During the year prize fund credited Rs. 2,800.
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V1) The book value as on 1-4-2009 for sports goods sold in the year was Rs. 4,000.
V1) Interest received for this year was only for two quarters.
VI1Il) TheAffiliation feespaid to University up to 31-3-2011.
IX) Advertisement charges in magazine yet to be collected Rs. 450.

X) A fixed deposit of Rs. 25,000 was made on 31-3-2010.

You are required to prepare the Recei pt and Payment A ccount for the year ended
31 March, 2010 and the Balance Sheet as on that date. 20

5. Write short notes on (any four) :
1) Financial reporting in respect of stock-brokers
2) Value Added Tax
3) ServiceTax
4) Share buy-back
5) Log-book under transport accounting

6) OPD register. 20

B/l/11/4,840
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M.Com. (Semester — II) Examination, 2011
Group E - COMMERCIAL LAWS AND PRACTICES (Paper - 1V)
Laws Relating to Copyright and Designs
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
II) All questions carry equal marks.

1. What isadifference between ‘Licence and Assignment’ of copyright ? Describe
the modes of assignment of copyright. State the purposesfor which the Copyright
Board may grant compulsory licences.

OR
What is Copyright Society ? State the functions and rights of a Copyright Society.

2. Explain the provisions of the Designs Act, 2000 with reference to infringement
(Piracy) of registered design.
OR
Who may apply for registration as a ‘ Registered User’ of layout-design ? What

are the conditions for registration as a registered user ? State the powers of the
Registrar for cancellation of registration as aregistered user.

3. Explain the term * Geographical Indication’. Who may apply for registration of
geographical indication ? State the procedure for and duration of registration of
geographical indication.

OR

What are the objectives of the Protection of Plant Varieties and Farmers' Rights
Act, 2001 ? State the plant varieties which can be and cannot be registered under
thisAct.

4. Answer the following questionsin brief (any two) :
A) Whoisan ‘Author of Work’ ?What are the rights of the author of copyright ?
B) Staterightsof aproprietor of aregistered design under the DesignsAct, 2000.
C) Statethelegal provisionsregarding assignment and transmission of layout design.
D) Writeanoteon“ThePlant Varietiesand Farmers Rights ProtectionAuthority”.

P.T.O.
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5. Write short notes on (any four) :
A) Scope of copyright
B) Infringement of copyright
C) Registerableindustrial designs
D) Appellate Board under the Layout DesignsAct.
E) Geographical Indications and Trade Marks.
F) Rights and privileges of breeders and researchers.
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M.Com. (Semester — II) Examination, 2011
Group (F) - CO-OPERATION AND RURAL DEVELOPMENT
International Co-operative Movement (New) (Paper — III)
(2008 Pattern)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Critically examinethe development of co-operative movement intheworld.

OR

Explainthe devel opment of co-operative movement in Great Britain after industrial
revolution.

2. |s co-operative a system or a sector.

OR
Explaintherole of co-operative philosophy in co-operative movement.

3. Explaintherole of co-operativesin USA.

OR
How is the development of China dependent on co-operatives ?

4. Explainthe future of co-operativesin the post globalised world.

OR
Explain the economics of co-operation.

5. Write short notes on (any two) :
a) International co-operativeAlliance
b) Concept of co-operation
c) Co-operativemovement in|sreal
d) Principles of co-operation.

P.T.O.



[3970] - 213 0 0 O AR R0
ST EUTR
et ¢) Td I GISIE0 HTIvIH ST,
?) @ JEHT THTT I T8,
9. STNT{cieh Tghil T3des =T faenmama feeheres aieror o=,
feRar
SAENes Fid R faeTaed geei) Toaad = STl forehid TIs hl.

3. TEHR & Toh HAEAT TS Al & 378 7
fea
EhR] ey TR Tcdcs Ml Y{HeR 5 3.
3. ITHTEhcT TEehire fHeRt T .
fehat
<l forshe Teshrer T STaced 3118 7

o~ M

¥, STTfdehisRonat=an StHefiet Tgehrre Sferded Tse .
ferart
TEFHRI AL T .
4. oesRTd AT it (FveErdiem)
3) AT TEFHRT TEAT HETEH
§) TEhR ehodH T
%) TS Heficd TRl Tosdes

T) HEhI e,

B/1/11/580



RO O [3970] - 217

M.Com. (Semester — II) Examination, 2011
(Group H) ADVANCED MARKETING (Paper - I1I)
Customers Relationship Management and Retailing

(2008 Pattern) (New)
Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. What factors do retailers consider when deciding where to locate their stores ?
Explain.
OR

1. What arethe critical issuesthat retailers should consider when designing aretail
store ?

2. Bring out theroleof information technology in Building, maintaining and enhancing
profitability.
OR
2. What isInternet Marketing ? Explain the dynamics of awebsite.

3. How will you manage storeinventories and displays ?
OR
3. Bringout therole of CRM inretailing.

4. What isrelationship marketing ? Bring out the rel ationship between relationship
marketing and marketing strategy.

OR

4. As amanager of aretail store, how would you manage in store promotion and
events ?

5. Write short notes on any four :
a) Integrated supply chain planning
b) Space Mix
c) Electronic dataexchange
d) Floor ready merchandise
€) Evolution of relationship management

f) Managingreverselogistics.
P.T.O.
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M.C.A. (Commerce) (Semester — II) Examination, 2011
203 : COST ACCOUNTING AND COST CONTROL TECHNIQUES

Time: 3Hours Max. Marks: 80

Instructions : 1) Black figures to the right indicate full marks.
2) All questions carry equal marks.
3) Use of electronic pocket calculator is allowed.

1. A) Define Cost Accounting. Explain the advantages of Cost Accounting. 8
B) Explain the advantages and limitations of Job Costing. 8
2. Write short notes (any four) : 16

a) Profit-volumeratio
b) Selling and distribution overheads

c) Features of process costing
d) Methods of coding

e) Limitationsof Financial Accounting
f) Cost centre.

3. From thefollowing particularsrelating to M/s Chand and Moon Bros, Nagpur,
prepare a cost sheet showing : 16

a) Prime cost

b) Factory cost

c) Cost of production
d) Cost of sales

e) Profit/loss.

Particulars Amount
Cost of materials consumed 40,000
Oil and waste 100
Operating labour 9,000

P.T.O.
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Wages of foreman 1,000
Direct expenses 2,000
Store keeper’s wages 500
Sales 1,00,000
Commission paid to partner 350
Electric power 200
Salary paid to partner 650
Consumable stores 1,000
Direct wagespayable 1,000
Lighting i) Factory 500
i) Office 200
Carriage outward 150
Rent i) Office 1,000
ii) Factory 2,000
Warehouse charges 200
Repairs and Renewals i) Factory plant 500
ii) Machinery 1,000

i) Office premises 200

Iv) Warehouse 100

Advertising 400
Depreciation i) Office premises 500
ii) Machinery 200

Travelling expenses 200



Office Manager’s salary

Salesmen’s commission and salaries
Directors fees

Printing and stationery

Telephone charges

Postage

Bad debts

2,250
500
500
200

50
100
450

[3970] - 263

4. Hextech Constructions, Pvt Ltd., Mumbal undertook a contract for construction
of alibrary building. Thefollowing istheinformation relating to the contract

during theyear 2009-2010.

Materialssent to site
Materials purchased and issued
Materials returned to stores
Materidsat site 31-3-2010
Labour engaged on site
Wages paid

Engineersfees

Direct expenses payable
General overheads

Overheads outstanding
Depreciation

Work certified

Cost of work not certified
Cash received from contractee

Rs.
1,00,000
70,698
1,098
3,766
1,40,000
8,750
6,334
580
8,252
9,250
8,000
3,90,000
9,000
3,60,000

Prepare Contract Account and Contractee's Account.

OR

16
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4. Using thefollowing information cal culate labour variancesfor department X and
department . 16
a) Labour cost variance
b) Labour ratevariance
c) Labour efficiency variance

Particulars Dept. X Dept. Y
Gross Wages Direct (Rs.) 28080 19370
Standard hours 8640 Hrs 6015 Hrs
Standard rate per hour 3.00 Rs. 3.40 Rs.
Actual hoursworked 8,200 Hrs 6,345 Hrs
Actual rate per hour 342 Rs. 3.05 Rs.
5. A factory produces 20,000 units. The budgeted expenses are given below : 16
Per unit (Rs.)

Raw materials 75

Direct labour 20

Direct expenses 25

Overheads 15

Fixed overheads (Rs. 4,00,000) 20

Administration overheads (fixed) 10

Selling expenses (10% fixed) 15

Distribution expenses 20

Total cost of sale per unit 200

You are required to prepare a budget for 15000 units and 10000 units.

OR
5. The sales and profits during two years were : 16

Year Sales Profit

2009 15,00,000 2,00,000
2010 17,00,000 2,50,000
Fixed cost isRs. 1,75,000 p.a. you are required to calculate :
a) BEP (Break-even point)
b) P/V ratio
c) The profit when sales are 25,00,000
d) Salesrequired to earn profit of Rs. 4,00,000.

B/l1/11/995
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M.Com. (Part — II) Examination, 2011
Group - E : SECRETARIAL PRACTICE AND COMPANY
MANAGEMENT (Optional)
(Paper — III)
World Trade Organisation
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : i) All questions are compulsory.
ii) All questions carry equal marks.
1. Explain the basic principles of W.T.O. Trading System.
OR
What is W.T.O. Accession ? Discuss the current status of individual accession.

2. What is Dumping ? Discuss the objectives, types and effects of Dumping.
OR
ExplainW.T.O. Report on Anti-dumping and review A nti-dumping agreements.

3. Write short notes on (any four) :
a) W.T.O. and IndianAgriculture.
b) Dispute settlement mechanism of W.T.O.
c) Amalgamation of Banking Companies.
d) GATS.
€) Board for Industrial and Financial Reconstruction (BIFR).
f) Sick Industrial Company.
4. What is sick company and potentially sick company ? Explain the role of BIFR
under SICA in amalgamation of sick companies.
OR

What isAmalgamation of Banking Companies? Explainthelegal procedurerelating
to amalgamation of Banking Companies.

P.T.O.
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5. Write short notes on (any four) :
a) Amalgamation and Capital GainTax
b) Objectives of SICA

c) Provisionsrelating to set-off losses in Amalgamation Scheme as per Income
Tax Act

d) Non Banking Companies
€) Powersof RBI regardingAmalgamation of Banking Companies
f) Incentives under Income Tax Act in case of Amalgamation.
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M.Com. (Semester — IV) Examination, 2011
Gr. A : ADVANCED ACCOUNTING AND TAXATION (Optional)
Spl. Paper — VIII
Case Studies in Advanced Accounting Taxation and Auditing
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) Attempt Question No. 1 which is compulsory and any three
of the remaining.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.
4) Use of non-programmable calculator is allowed.

1. Comment on the following cases, referring necessary sections of relevant laws,
case laws and any other supporting evidence and calculations, if any 25

a) Shri Dharmadasdonated Rs. 1 croreto the Muslim DharmaPrachar Panchayat
but ITO disallowed it from deduction under Chapter V1.

b) Shrimali Joy Lollito’s premises is raided by the department and found huge
cash. ThelTO claimed IncomeTax, Interest and penalty there on but Shrimali
Joy Lollito claimed that she has merely possessing the cash and this doesnot
indicate that she is the owner of the cash.

c) Miss Shikare is a member of the institute of chartered accountants of India

does not hold a certificate of practice. Will her appointment as an auditor of
the company be valid.

d) The manager of the branch of a District Coop. Bank, of which you are
conducting the audit, argues that it is not necessary for the branch auditor to
follow the “study on audit of the Bank” issued by the ICAI since that study
does not have the status of “statement or guidance note”.

€) The Assetsand Liabilities aswell asincome and expenditure in respect of a
Foreign Branch are translated into Indian rupees at the prevailing rates of
exchange at the end of theyear. Theresultant exchange differencesare carried
to other liabilities account and the loss, if any, is charged to revenue. Is this
treatment correct as per the relevant accounting standard ?

P.T.O.
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2. Comment on the following cases :

a)

b)

c)

d)

A senior partner of your firm has been appointed as inspector by the Central
Govt. u/s 235. The company argues that it will show the relevant document
only to the inspector i.e. your senior partner, and to nobody else i.e. his
assistants or partners. It also argues that the inspector also cannot show any
of the documents, records etc. to his assistants.

You are appointed to investigate a suspected fraud rel ating to misappropriation
of storesin an enterprise. You conduct anormal audit of the storesby reviewing
the internal controls and carrying out selective checks of transactions, and
come to the conclusion that no fraud seems to have been committed.
Subsequent to the submission of your report, it is found that a major fraud
had indeed taken place. The management now seeks to hold you responsible
for negligence. You argue that you exercised reasonable skill and care and,
therefore, you cannot be charged with negligence.

Whileinvestigating acompany to assessafairvaluefor its purchase, you find
that the shares of the company have an intrinsic value of Rs. 90 as against the
face value of Rs. 10. The company paid adividend of 10% inthelast 5 years
against an average annual earning pershare of Rs. 4.50. The average market
value of the share during the last one year has been Rs. 20. On which of the
three values i.e. earning per share, intrinsic value or market value, will you
place greater reliance ?

Baburam has been appointed as inspector u/s 235 of the Companies Act,
1956. As he starts hiswork, he receives aletter from the statutory auditor of
the company stating that Baburam is guilty of professional misconduct since
he didnot communicate with the statutory auditor prior to starting the
investigation.

3. Comment on the following cases, referring necessary sections of Income Tax
Act and case laws, if any.

a)

b)

The Samsung Co.-Ltd. claimed adeduction for furnishing of bank guarantee
but the ITO refused it, as actual payment has not happened.

Due to Maharashtra Govt.’s pressure the Maharashtra Electric Co. was not
ableto collect the enhanced tariff, necessary entriesregarding such tariff made
in its books of accounts as the company follows Mercantile system of
accounting, asthough the company pleadsthat thisisan hypothetical income,
the ITO claims Income Tax on such income.

25

25
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c) Aninstitution hasbeen established wholly for charitable and religious purposes
within the meaning of Section 11 and 12. Donations made to such aninstitution
do not automatically qualify for deduction under Section 80G.

d) Mr. Shantilal deriving income from house property, realised a sum of
Rs. 1,04,000 on account of display of advertisement boardings of various
concerns on the roof of the building. He claims that this amount should be
considered under the head “Income from House Property” and not under the
head “Income from other sources’.

4. B. Ltd. is thinking to absorb A Ltd. on the basis of the company’s following

position
Rs. Rs.

Equity sharecapital 5,00,000 Plant and Machinery 5,00,000
(Rs. 10 each) Furniture 1,00,000
Profit and Loss A/c. 2,00,000 Debtors 80,000
Longtermliabilities 1,00,000 Stock 1,00,000
Current liabilities 30,000 Bank 50,000

8,30,000 8,30,000

Advise the B. Ltd. on the amount of the consideration to be agreed upon

A) If itisbased on theintrinsic value of sharesof A. Ltd. and B. Ltd., which are
asfollows:
A Ltd. —Rs. 10
B Ltd. — Rs. 12.50

B) If the consideration is to be discharged by issue of shares @ 25% premium
and the fair values of assetsand liabilitiesof A. Ltd. were asfollows::

Rs. Rs.
Plant and M achinery 4,00,000 Furniture 50,000
Debtors 50,000 Stock 75,000
Current ligbilities 25,000
C) If in above case the consideration is to be discharged by issue of shares of
Rs. 10 each at par. 25

5. How would you value the inventory per kg of finished goods from following
detallsasper AS—27?
Material cost Rs. 1,000
Direct labour cost Rs. 200
Direct variable production overhead Rs. 100
Fixed production charges for the year on normal capacity of onelakh kgs, is
Rs. 10 Lakhs. 2000 kgs of finished goods are in stock at the year end. 25

B/l/11/2,665
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M.Com. (E-Commerce) (Semester — IV) Examination, 2011
402 : INTERNET AND WEB DESIGNING

Time: 3Hours Max. Marks: 70

Instructions : 1) All questions are compulsory.
2) Figures to right indicate full marks.
1. Explainthefollowing terms (any five) : 10
a HTTP
b) <img>tag
c) Frames
d) Web Browser
e) ASP
f) <table> tag.

2. Solve any two questions : 20
a) What isHTML ? Explain basic structure of an HTML document.
b) i) Explain briefly user defined functionsin VB Script.
i) What are control structuresin VBScript ?
c) Explainimage mappingin HTML with suitable examples.

3. Solve any two questions : 20
a) Write HTML code for the following.

Frame 1 Frame 2

Frame 3 Frame 4

b) What is Web Server ? How to configure [1S ?

c) Explaindifferent built in objectsinASP.
P.T.O.
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4. Solve any two questions : 20
a) Explainindetall cascading style sheetsused in HTML.
b) Write VBScript code to print 1 to 10 nos.
c) Explainindetail thefollowing:
1) ASP and databases

i) Concept of error handling in VBScript.

B/I/11/195
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M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2011
406 : KNOWLEDGE MANAGEMENT FOR BUSINESS

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

|. Attempt any four of the following : (4x4=16)
1) Describethe cyclic model of knowledge management.
2) Discussthe mgjor activities in construction and use of expert system.
3) What do you mean by RGA ? Discuss how RGA works ?

4) What is Semantic Network ? Discuss how knowledge is represented in a
Semantic Network ?

5) What is Case Based Reasoning ? Compare Rule based and Case Based
Reasoning.

I1. Attempt any four of the following: (4x4=16)
1) Explainthe processof knowledge Engineering.
2) What isuncertainity ? Explain different methods of representing uncertainity.
3) Explainthedifferent development strategiesused in devel oping expert system.

4) WhoisaChief Knowledge Officer ?What are the different responsibilities of
aCKO?

5) List different advantagesof artificial intelligence over natura intelligence.

[11. Write a short note on any four : (4x4=16)
1) Frame
2) Interview
3) Expert system and I nternet/Intranet
4) Rapid prototyping

5) Organizational Memory.
P.T.O.
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V. Attempt any four of the following : (4x4=16)
1) Discussvariousdifficultiesintransferring knowledge.
2) Discussknowledge management activities.
3) Discuss difference between shallow and deep knowledge.

4) What do you mean by explanation and metaknowledge ? List some of the
purposes of explanation capability.

5) Discuss the reasons why expert system fail.

V. Attempt any two of the following : (2x8=16)
1) Explain structure of expert system with diagram.
2) Explainproject initialization phase of expert system development life cycle.

3) Explain process of forward chaining with example.

B/1/11/350
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M.Com. (Part — I) Examination, 2011
Group — D : BUSINESS ADMINISTRATION (Optional) (Paper —1)

Production, Operations and Marketing Management
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain the concept of ‘Production Management’. Discuss the functions of
production management in detail.
OR
What do you mean by ‘Plant Layout’ ? Discuss various types of plant layouts.

2. What is Industrial productivity ? Explain the effects of liberalisation and
globalisation on business.
OR

Explain ‘Inventory Control’. State the objective and importance of inventory
control.

3. Explain the causes of failure of a new product. Suggest remedial measures to
overcome the failure of anew product.
OR

What do you mean by social marketing ? Explain its relationship with business
ethics.

4. Write detailed note on ‘ Consumer Behaviour and Consumer Education’.

OR

Define the term ‘Marketing Communication’. Explain new trends in todays
Globalized marketing communication.

5. Write short notes (any four) :
a) Product designing
b) Techniques of product development
c) Production planning
d) Rura Marketing
€) Scope of material management

f) Servicesmarketing. P.T.O
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4. EXCOM Limited, Pune wants to purchase a new machine for the company.
Therearetwo aternative machines available, the details of which areasfollows:

Particulars Machine A Machine B
Cost (Rs)) 6,00,000 5,00,000
Life SYears 4Years
Year Net profit after depreciation and tax
1 40,000 (loss) 1,50,000
2nd 40,000 1,00,000
3 1,00,000 1,00,000
4 1,50,000 50,000
5t 2,50,000 ---

Depreciation has been charged by straight line method. The company expects
minimum rate of return at 10% at which the present value of Re. 1 to bereceived
at end of each year isgiven below :

Year 1 2 3 4 5
Present value  0.909 0.826 0.751 0.683 0.621
You are required advise the management which of the alternative machinesisthe
best on the basis of the following methods appraisal :

a) Pay back method b) Averagereturnon averageinvestment

c) Net PresentValue d) Profitability Index.

5. Write notes on any four of the following :
1) Long Term Solvency Ratios
ii) Cost Volume Profit Analysis
i) Budget factor
Iv) Internal rate of return
V) Reporting needs of the different levels of management
vi) Kinds of Report.

B/l/11/2385
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3. Thefollowing estimated informationis provided by Mr. CA :

Months Sales Purchases Factory Office
Overheads Overheads
Apirl 2,50,000 1,50,000 42,000 24,000
May 2,80,000 1,60,000 45,000 24,000
June 3,00,000 1,80,000 36,000 27,000
July 3,50,000 1,70,000 57,000 30,000
August 3,00,000 1,60,000 45,000 30,000
September 2,80,000 1,80,000 60,000 42,000

Additional information :

a) 20% of the sales are cash sales. The credit sales may be recovered within one
month of the sales.

b) 40% of the purchases are on credit basis and can be paid with two months
credit.

c) Wages are 20% of the purchases and are paid on every 7" day of the next
month.

d) Factory and office overheads are paid with 10 days and 20 days in arrears.

€) Advance Income-tax Rs. 20,000/- is to be deposited in the month of July.

f) Balance ason 31%May 2010 was Rs. 50,000/-

You are required to prepare Cash Budget for the period from 1% June to 30"

September 2010.

OR
3. A) What is Cost of Capital ? Explain the various kinds of cost capital. 10

B) COSTKAP limited, Pune, wants to raise long term fund amounting to
Rs. 20,00,000/- by issuing equity shares, Preference shares and Debenturesin
any of thefollowing ratios:

Alternativel - 221
Alternativell - 112
Alternativelll - 321
The specific cost of capital isasfollows:
Equity shares - 20%
Preferenceshares - 18%
Debentures - 13%

You are required to advise the management as to the best alternative for the
company. 10
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You are required to prepare the Fund Flow Statement with necessary working
notes after considering the following information :

a Dividend was distributed on the shares @ 12%.

b) All fixed assets are depreciated by 10% except the land and building whichis
depreciated by 5%.

c) During the year Rs. 30,000 are paid by way of taxes.

d) During the year a machine costing Rs. 60,000/- having depreciated by 30%
was lost by fire and the Insurance Company has settled the claim at 70% of
the book value.

€) At theend of the year old furniture was sold at 40% | oss.
OR

2. The following accounting information and financial ratios of RA limited, Pune
relate to the year ended on 31 March 2010 :

Current Ratio 1.75
Liquid Ratio 1.25
Inventory turnover ratio 9

Gross profit ratio 25%
Average collection period ratio 1.5 months

Reserves and surplus to capital 0.2

Turnover to fixed assets 1.2
Capital gearingratio 0.6
Fixed assets to Net Worth 1.25

Total sales during the year Rs. 12,00,000/-

You are required to prepare Balance Sheet with as much details as possible.
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M.Com. (Part — I) Examination, 2011
MANAGEMENT ACCOUNTING (Compulsory Paper)
(Old Course) (2002 Pattern)

Time: 3Hours Max. Marks: 100

N.B.: 1) All questions are compulsory and carry equal marks.
2) Use of simple calculator is allowed.

1. Define and distinguish between ‘Management Accounting’ and ‘Financial
Accounting’ . Statetheimportant limitations of Management A ccounting.

OR

Explain the importance of working capital. What are the factorsto be considered
while determining the need of working capital ?

2. Thefollowing are the Balance Sheets of EMCOM limited, Pune, prepared as on
31 March 2009 and 31% March 2010 :

Liabilities 31-03-08 31-03-09 Assets 31-03-08 31-03-09
Share Capita 10,00,000 10,00,000 Plant& Machinery 5,50,000 6,75,000
Generd Resarve 1,00,000 1,50,000 LandandBuilding 8,00,000 7,60,000
Profit & LossAlc 1,52,000 1,83,000 Furniture 1,80,000 1,20,000
Bank Loan 2,00,000 2,50,000 SundryDebtors 2,26,000 2,50,000
15% Debentures 4,00,000 3,00,000 BillsRecevables 45,000 36,000
Sundry Creditors 76,000 55,000 Stock 95,000 75,000
BillsPayables 48,000 43,000 CashandBank 78,000 80,000

Provisonfor taxation 60,000 55,000 Preliminary expenses 62,000 40,000

20,36,000 20,36,000 20,36,000 20,36,000

P.T.O.
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M.Com. (Part — I) Examination, 2011
Group-D : BUSINESS ADMINISTRATION (Optional) (Paper - II) (Old)
Financial Management
(2002 Pattern)

Time: 3Hours Max. Marks: 100
Instruction : All questions are compulsory and carry equal marks.

1. What isfinancia management ?Explainthe challengesand opportunitiesof financia
management.

OR

Discussthe problemsthat financial manager facesin making financial decisions.

2. What is meant by Merger and Acquision ? How Merger classified ?
OR

Explain the meaning of “fundflow statement” state the main objectives of fund
flow statement.

3. What are the causes of “Business combination” ?
OR
Write short noteson :
a) Projected profit and loss Account

b) Causes of over capitalisation.

4. State the causes of industrial sickness, Explain the role of BIFR in rehabilitation
of sick unit.

OR

Describe therole of SEBI in controlling stock exchange.

P.T.O.
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5. Write short notes on (any two) :
a) Objectives and importance of Human Resource A ccounting
b) Issue of bonus shares
c) Significance of Capital Budgeting
d) Utility of Financial Ratios.
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M.Com. (Part — I) Examination, 2011
Group.E : Secretarial Practice and Company Management (Optional)
(Paper - 1)
LAWS AND PRACTICES RELATING TO LPG
Liberalization, Privatization, Globalization
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Statethemeaning of E.Commerce. Explainthe opportunitiesin E-Commercefor
business.

OR

1. What isWeb Page ?How it iscreated ? Explain theimportance of Website asan
Advertising and Marketing channdl.

2. Explainthefollowing conceptsin E-Commerce with suitable examples:
a B2B
b) B2C
OR
2. Explain the purchase procedure with reference to E-commerce.

3. Explainindetail various*“ Cyber Crimes’.
OR

3. Explainindetail ‘ Formation andValidity of contracts’ according to the Information
Technology Act, 2002.

4. Explainthefollowing conceptsaccording to Information Technology Act, 2002 :
a) Attribution of DataMessages
b) Retention of Data M essages.
OR
4. Write detailed noteson:
a) Cyber Laws

b) ClausesinthelnformationTechnology Bill. PO
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5. Write short notes on (any four) :
a) Miscellaneous Provisions under |.T. Act, 2002.
b) Digital Signature.
c) Front page explorer.
d) Penalties and offences under |.T Act, 2002.
e) Carriage of goods.
f) E-Governance.
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M.Com. (Part — I) Examination, 2011
Group E : SECRETARIAL PRACTICE AND COMPANY MANAGEMENT
(Optional)
Intellectual Property Laws
Paper — II (2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. What isintellectual property ? How isit protected ? Discuss the role of
Intellectual property in economic development of the Nation.

OR
Who may apply the patent ? Describe the procedure for obtaining a patent.

2. What is patent ? Describe the advantages of patent to Inventor.
OR

Discuss the procedure for Registration of Trade-mark.

3. Explain the objects and functions of Trade-mark.
OR

Explain the nature and purpose of copyright. What is the procedure for
registration of copyright ?

4. What is meant by infringment of copyright ? Discussthe remediesfor its
infringment.

OR

Discuss the nature of offences and penalties under the Trade-Mark Act-
1999.

5. Write short notes (Any four):
a) Intellectual property
b) Inventions not patentable
¢) Computer programme
d) Qualities of good trade mark
€) Copyright Board.
P.T.O.
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M.Com. (Part — I) Examination, 2011
Co-operative Movement in India and Abroad-Paper — 1
(2002 Pattern) (Old)

Group-E :CO-OPERATION AND RURAL DEVELOPMENT
(Optional Paper)

Time: 3Hours Total Marks: 80

N.B. : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explainindetail the co-operative Movement intheworld.
OR

State and explain the principles of co-operation and their application.

2. Explainindetail the co-operative movementinlsrael.
OR

Elaborate the co-operation in socialistic and capitalistic system.

3. Explainthe co-operationinthe post industrial revolution of Great Britain.
OR

Explainthe salient features of Maharashtra state co-operativeAct, 1960.

4. Explaintheroleand functionsof International co-operationAlliance (ICA).
OR

Explain the role of Government control over co-operatives.

5. Write short notes (any four) :
1) Recommendationsof Mirdha committee
2) Philosophy of co-operation
3) Indian planning and co-operation
4) Nature of co-operation
5) Co-operative movement in India (Post Independence)

6) Globalisation and co-operationinIndia
P.T.O.



[3970] - 13 R0

T HUTaR
AT ; ¢) Gd Jv7 GISIH0 HATTIE T8,
?) @a JEIT GHIT 7T 37ET.
9. STl HEshR] Tbdes e Hoat Jui .
TeRan
eI Tedl T TERRTT off TeAeTa sheft STFTA ST ST el TRl 3l

[a¥WiaN o

2. TERCHY A GEhR Tbacdi= Gfedt Jui .
feran
GUTSIATE! SATT HTSaeteTTe! Sadidiet Teshi aui .
3. U2 foreme shenfires shidHat=at el Tesh e ST JHR Bid T, © TI5 .
feran
RIS T TEhR] TEATET HRIET, § ] & o =t Se5eh A3Tees) Tase .
¥, RAT el TEATa el JeTieh feromeh oftreh Tose .
feran
4. feur foren (v e m)

B/l/11/305



R0 [3970] - 14

M.Com. (Part — I) Examination, 2011
Group. F : CO-OPERATION AND RURAL DEVELOPMENT (Paper - II)
(Optional)
Organisation and Management of Co-operative Business
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. How arethe principlesof Co-operation and principlesof management integrated
in co-operatives ?
OR

Explain the need of professionalisation of co-operative management.

2. Explaintherole played by National Co-operative Union of Indiain co-operative
education and training.

OR
“The success of co-operatives depends on proper leadership”. Explain.

3. Explain the business policies and practices of dairy co-operativesin India.
OR

Evaluate the performance of co-operative agricultural processing business.

4. Explainthecurrent situation regarding industrial relationsin Indian co-operative
business.

OR
Evaluate performance of co-operative marketing societiesin India.

5. Write short notes (any two) :
a) Roleof membersin co-operative institution.
b) Housing co-operatives.
c) Co-operative education and training.

d) Problems of sugar co-operatives.
P.T.O.
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M.Com. (Part — I) Examination, 2011
(Group - G) ADVANCED BANKING AND FINANCE (Optional)
(Paper — IT) Central Banking and Monetary Policy
(Annual Pattern)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. How is the Money supply defined ? Describe various components of Money
supply adopted by the Reserve Bank of India.

OR
Describe structure and recent trends of India’s Money Supply.

2. Explaintheroleand importance of Non-Banking Financial in India
OR

Explain the objectives and effectiveness of Monetary Policy.

3. Explain theimportance of selective credit controlsin India.
OR

What is Monetary Management ? How it isimplemented with the instruments of
Reserve Requirement and Interest Rate Policy ?

4. Describethe Reserve Bank of India’s Policy regarding licening of Banks.
OR

What is Exchange Control ? Explain the objectives of Exchange control.

5. Write notes on any two :
a) High Powered Money
b) Lending policy of the Reserve Bank of India
c) Amalgamation of Banks
d) Liquidation of Banks.

P.T.O.
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2011
101 : INFORMATION COMMUNICATION TECHNOLOGIES IN BUSINESS

Time: 3Hours Max. Marks: 80
N.B. : All questions are compulsory.
1. A) Explain communication through internet and video conf erencing system. 8

B) What is cross-culturd communication ? Giveitsadvantages and disadvantages. 8
OR

1. A) How tointegrate information technology in business ?
B) What ismeant by networking ? Explain difference between LAN and WAN.

2. A) Difference between internet and extranet.

R X L X

B) What is need and functions of business letters ?
OR

2. A) Explain process of communication. State importance of communication.
B) Write down difference between internal and external communication.

3. A) What are different audio and video tools used in communication ?

R L X X

B) Explainroleof National InformationCentre.
OR

3. A) Explain mobile communicationin detail.
B) Explain variouslayouts of business|etter.

4. A) What are different communication softwares ?

R L L X

B) What are different electronic mediafor communication ?
OR

4. A) Definereport writing. Explain with suitable example.
B) Give history and development of IT.

P.T.O.
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5. Write short notes (any four) : 16
a VPN
b) Telnet
c) Oral Communication
d) Artof Listening

€) Internal Communication.

B/I/11/260
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2011
102 : SYSTEM ORGANISATION AND MANAGEMENT

Time: 3Hours Max. Marks: 80
Note : All questions are compulsory.
1. Answer the following questions (any 4) : 16
1) What isdirecting ?
i) Define strategic management.
i) What iscentralization of authority ?
Iv) What is Customer Relation Management ?
V) Define Decision Making.
2. Attempt any 4 of the following : 16
1) Define planning. What are the advantages of planning ?
i) What isCommunication ?Write the principles of effective communication.
i) Define Information System. Stateitsrole.
Iv) Explaintheessentialsof efficient marketing.
v) State the functions of top level management.
3. Attempt any two of the following : 16

1) What isinformation systems ? Which are the different information systems
used in business organisation ?

i) What isManagement ? Stateits nature and importance and role of management
in Business organisation.

i) Define delegation of authority. State the different barriers in delegating the
authority.

P.T.O.
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4. Attempt any four of the following: 16
1) DefineMotivation.
i) What isstaffing ?

i) What is decision support system ?

Iv) Define production and operation management.

v) Write the difference of application software and system supplied software.

5. Write short notes (any four) : 16

1) Characteristics of organisation.

i) Theory X and Theory Y of motivation.
i) Effective communication.
iv) Decision making.

v) MIS.

B/1/11/270
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2011
104 : STATISTICAL AND NUMERICAL METHODS

Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

3) Use of calculator and statistical table is allowed.

4) Symbols and abbreviations have their usual meanings.

1. Attempt any three of thefollowing : (5 each)
a) Using Newton-Raphson method, obtain areal root of the equation
x2—29=0
b) Find aroot of the equation f(x) = x3—4x —9 = 0 using the bisection method.
c) Obtain Newton-Raphson formulato find
1) Inverse
ii) Inverse square root of a given number.

d) The function Y = f(x) is given at the point (7, 3), (8, 1), (9, 1) and (10, 9).

Findf (9,5) using Lagrange' sinterpolation formula.

5X +12 ]

AN —MM
e) Evauate [x2+5x+6

P.T.O
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2. Attempt any three of thefollowing: (5 each)
« (&%)« B . o
a Showthat € = E F A% ; interval of differencing being unity.
b) The population of atown in the decenial censusis as follows. Estimate the
population for the year 1925.
Year : 1891 1901 1911 1921 1931
Population :
(in thousands) 46 66 81 93 101

1
C) EpraintheSimpson’s§ Rulefor numerical integration.

3
d) Cdculate JX4 dX by taking seven equidistant ordinates, use Trapezoidal Rule.
-3

e) Use Picard’'s method to approximatey when x = 0.1, 0.2

d
giventhat y = 0 when x =0 for d—)):=X+Y.

3. Attempt any three of thefollowing : (5 each)

a) Define normal distribution with mean m and variance ¢? . State any two
propertiesof normal distribution. Further define standard normal distribution.
b) Explain thefollowing termsused in thetesting of hypothesis
1) Hypothesis
i) Typell error
i) Critical region
c) The following time series shows production in thousands of a particular
product.

Year 1 2 3 4 5 6 7 8 9

Prod. | 100|120 |124 | 148|156 |162|170 172|175

Fit alinear trend equation by the method of least squares.

d) Statethe componentsof ‘ Time Series . Further explain any two components
of Time Series.

e) Explainlarge sampletest for testing two population mean problems
HO: M1=M2v/sHA : M1 M2
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4. Attempt any three of the following : (5 each)

a) A vote isto be taken among the residents of a town and the surrounding
county to determinewhether aproposed chemical plant should be constructed.
The construction site is within the town limits and for this reason many
voters in the county feel that the proposal will pass because the large
proportion of town voters who favor the construction. To determine if there
isasignificant difference in the proportion of town voters and county voters
favoring the proposal, a poll is taken. If 120 of 200 town voters favor the
proposal and 240 of 500 county residents favor it, would you agree that the
proportion of town votersfavoring the proposal isnot equal to the proportion
of county voters ? Use 1% level of significance.

b) A random sample of 90 adultsis classified according to gender and number
of hours they watch T.V. during a week.

Gender
Male Female
Over 25 hours 15 29
Under 25 hours 27 19

Use 1% level of significance and test the hypothesis that the time spent
watching T.V. isindependent of whether the viewer ismale or female.

¢) If X isanormal random variablewith mean m =2 and variance 6 = 25, find
i) P[X<6]
i) P[X>-3]
jii) P[3<X <6]

d) Explainthe Ftest for testing 67 = 65 against 67 # 65

€) Explain meaning of ‘ Time series’. Explain the method of estimating trend as
acomponent of time series by graphical method.
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5. @ Find first and second derivative of f(x) from thetableat X = 1.1. 10

fx):| 0 | 01280 | 05440 | 1.2960 |2.4320 |4.0000

OR
a) Use Runge-Kutta method to approximatey when x = 0.1 and x = 0.2 by

d
second order formula. Given that d_z: =X+Y,x=0wheny = 1. 10

5. b) Thefollowing data give the sales (in thousands) of acompany.

Year

® 1990 | 1991 | 1992 | 1993 | 1994 | 1995| 1996 | 1997 | 1998

Sales | 48 69 | 71 88 70 65 86 70 88

Calculate 4-yearly centered moving averages. 10
OR

b) Estimate trend using 10% smoothing constant for the following time series.

t 1 2 3 4 5 6 7 8 9 10

10
Y 30 35 38 36 40 32 39 28 27 25

B/1/11/605
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2011
105 : OPERATING SYSTEMS

Time: 3Hours Marks: 80

Instructions: 1) All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

1. Attempt any four of the following: 16
a) Define Operating system. Enlist various characteristics of operating system.
b) Explainthe SSTFin detail.

¢) What is meant by File alocation ? What are the different types of access

methods ?
d) Explain Recovery from Deadlock.

€) Explain Dining Philosopher’s problem of process synchronization. What is

the solution for it ?

2. Attempt any four of the following: 16
a) What is CPU schedular ? Explain the scheduling criteriain detail.

b) What is deadlock ? What are the necessary conditions for a deadlock to

occur ?
c) Differentiate between Internal and External Fragmentation.
d) Explainsafestatealgorithm.

e) Explainfunctioning of multilevel queues.

P.T.O.
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3. Attempt any four of the following: 16

a) Consider the following jobs executed with one processor.

Job Arrival Time Burst Time
1 0 12
2 2 3
3 5 8
4 5 5
5 7 6

Calculate the average turn around time and total wait time using pre-emptive
SJF scheduling algorithm.

b) What is semaphore ? How to implement it ?
c) Write anote on Direct Access Method.

d) Compare Physical and Logica addresses.

e) What isDMA ?Whenitisused ?

4. Attempt any four of the following: 16

a) Consider the following snapshot of a system. System has 5 processes
Py Py» Poy P; and P, and Recourses A, B, C, D.

Allocation Max Available

ABCD ABCD ABCD
Po 0002 0012 1520
P, 1000 1750
P, 13514 2 356
P, 06 32 0 6 52
P, 0014 0 6 56

2

1) What are the contents of Matrix need ~
ii) Isthe system in safe state ?
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b) Consider thefollowing referencestring
2,3,2,1,52,4,5,3,2,5, 2
Calculate page fault for the following page replacement al gorithm assuming
3 frames.
i) LRU i) FIFO.
c) What issystem call ?How it isimplemented ?
d) What is meant by Process ? Describe PCB in detail.
€) Writeanote on C-SCAN disk scheduling algorithm.

5. Attempt any four of the following: 16
a) Definethefollowingterms:
i) Bitmap

i) Devicecontroller.

i) Reentrant code.

iv) Circular wait.
b) What is System Program ? Explain Device Management in detail.
c) What is Segmentation ? Explain segmentation with paging.
d) Write anote on swapping.
€) ExplainIndexedAllocation Method.

B/1/11/405
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2011
106 : SOFTWARE ENGINEERING

Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

3) Draw diagrams wherever necessary.
1. Solvethefollowing case study :

Ramchand College of Commerceisan undergraduate college. The collegereceives
sufficiently large number of application for admissionto FY, SY andT.Y. B.C.A.
classes. The college has decided to computerize its admission programme. The
standard admission procedure requires adhering to the norms set by concerned
government agencies, the University and the college administration. The procedure
also involves disbursing admission forms at a cost, collection duly completed
forms, preparing merit lists and admitting the students as per the norms, notifying
students, collecting fees, preparing and submitting reports to the concerned

authorities.

Draw thefollowing .

a E-Rdiagram. 6
b) Contextlevel diagram. 4
c) First Level DataFlow Diagram. 6

P.T.O.
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2. Answer the following (any four) : (4x4=16)
a) Draw decisiontreefor thefollowing:

ABC Co. Ltd. decides to give Diwali bonus to all employee for which the
management has decided the employees into three categories namely
Administrative Saff (AS), Office Staff (OS), Workers (W) and considered
thefollowing rules

1) If theemployeeis permanent and intheAS category the bonus amount is
three months salary.

2) If theemployeeis permanent and in the OS category the bonusamount is
two months salary.

3) If the employeeis permanent and in the W category the bonus amount is
one month’s salary.

4) If the employeeistemporary then half of the amount is given to them as
per the permanent employee’s bonus amount.

b) What is System ? Explain different types of system.

c) Discussspiral model in detail.

d) Explaintesting objectivesand principles.

e) Explaindifferent typesof strategiesfor implementation of software.

3. Explainthefollowing (any four) : (4x4=16)
a) Explain characteristicsof systemin detail.
b) Explain SO standards for software quality.
¢) DiscussNormalizationwithitstypes.

d) ExplainInterview and questionnairefact finding techniques.

€) ExplainInput Designwith example.
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4. Explainthefollowing (any four): (4x4=16)
a) Explainthe elementsof system.
b) Explain4GL indetail.
c) Differentiate between Reverse and Re-engineering.
d) Discuss any four software quality.

e) Explaindifferent stepsof implementation of software.

5. Write notes on the following (any four) : (4%x4=16)
a) DataDictionary.
b) Structure chart.
c) Waterfal model.
d) Capability maturity model.
€) Testing strategies.

B/I/11/285
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M.Com. (Part — I) Examination, 2011
PRINCIPLES OF MANAGEMENT AND MANAGEMENT
INFORMATION SYSTEM (MIS) (Compulsory)
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explainthe similarities and differences between Taylor and Fayol’s thoughts.
OR

Write noteson:
a) Advantages of scientific management
b) Elementsof planning.

2. Define communication. Explain various barriers to communication. How would
you overcome the same ?

OR
Write noteson :
a) Types of leadership
b) EmployeeMorale.

3. Describethe role and effects of computer on Management Information System.
OR

Write noteson:
a) Importance of performance appraisa

b) Methods of Merit Rating.

P.T.O.
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4. What Total Quality Management ? Explain the need and advantages of total quality
management.

OR
Write noteson :
a) Social Audit
b) Leadership styles.

5. What do you mean by case study method ? Describe the various advantages and
l[imitations of case study method.

OR

The Managing Director of an International Company, having branches all over
India, selected an accountant for its Mumbai branch to be groomed for a branch
manager’s position. Accordingly, in February, 1983 the necessary training
programme was chalked out and the accountant was put through it. It was also
decided that on the home leave of Mumbai branch manager for six monthsin
December, 1985, the accountant should take over the charge of Mumbai branch
to enable the management to assess his abilities as such.

In January, 1984, the Managing Director wastransferred to the head officein the
United Kingdom and his position was filled by one of the working directors.

The vacuum created was filled by upgrading a Senior Manager to the Director’s
position. The nephew of the new Director, who was at the head office asAssistant
Commercial Manager wastransferred to Mumbai as anAccountant in July, 1985.

The question of hisfuture arrangement was raised by him with the management,
and the management took an adamant attitude of transferring him to the head
office as per the order and by-passed the issue.

Analyse the case and suggest solutions.
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M.Com. (Semester — II) Examination, 2011
Group - A : ADVANCED ACCOUNTING AND TAXATION
Special Paper - IV
Business Tax Assessment and Planning
(2008 Pattern) (New)

Time: 3 Hours Max. Marks:; 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Read all the questions very carefully before attempting the
questions.

1. Write short notes on any four of the following : 16
a) Refund of Income Tax
b) Merits and Demerits of VAT
c) Types of Assessment
d) Income Tax Authorities
€) Taxable Services
f) Concept of tax evasion
g) Vauation date under Wealth Tax Act, 1957.
2. Answer any two of the following : 14
a) Explain the procedure of registration under service tax.
b) What is meant by Tax Planning and Management ?
c) Explain briefly the provision of Section 80 P.

d) Explain concept of VAT and features of VAT.

P.T.O.
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3. Aryan and Arnav are two partners of a firm sharing Profits in the ratio 3 : 2.
The Profits and Loss Account of the firm for the year ending 313 March, 2011 is
as follows. 20

Profit and Loss Account as on 315t March 2011

Particular Rs. Particular Rs.
To Cost of Goods sold 16,00,000 By Sales 24,00,000
To Salary to staff 2,93,500 By Long term capital gain 30,000
To Depreciation 45,000 By Miscellaneous
To Remuneration to Partners Business Income 24,000
Aryan 1,30,000
Arnav 70,000

To Intrest on Capital at 24%

Aryan 24,000

Arnav 18,000

To Other expenses 1,03,000

To Net Profit 1,70,500
24,54,000 24,54,000

Other Information :

1) Thefirm is being assessed as a firm.

2) Thefirm has a given donation of Rs. 30,000 to Prime Minister’s National Relief
Fund which is included in other expenses.

3) Salary and interest paid to partners as per partnership deed.
4) Depreciation Allowable U/S 32 is Rs. 30,000.

5) Income and Investment of Aryan and Arnav are as follows.
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Particulars Aryan Arnav
Interest on Company Deposits 12,000 14,000
Dividend from Foreign Company 7,000 2,000
Long term Capita Gain 80,000 40,000
Short term Capital Gain 4,000 -12,000
Winning from lottery 6,000 Nil
Principle amount of House loan 50,000 60,000

Compute the Total Income and Tax Liabilities of the firm for the assessment
year 2011-12.

4. A) Mr. Sachin who is ordinary resident and citizen of Indiafurnishes following
details of his wealth. 10
a) State Bank of India PPF A/c Rs. 10,00,000
b) Flat at U.S.A. Rs. 30,00,000

c) Self occupied Flat at Mumbai Purchased in 1992 Rs. 30,00,000,
Valuation according to Schedule 11l is Rs. 10,00,000, Market value as
on 31.03.2011 is Rs. 50,00,000.

d) Diamond jewellery purchased for Rs. 30,00,000 valued at Rs. 40,00,000.
€) Personal motor car Rs. 4,00,000.
f) Share in the listed companies having market value Rs. 9,00,000.

He has taken Loan for purchase of the shares Rs. 4,00,000.

Compute his Taxable Net Wedlth and Tax Payable for the A.Y.2011-12.
B) Mr. Rga aregistered dealer made the following purchases and sales in the

month of March 2011. 10
Particulars Purchases Sales
4% VAT goods 20,80,000 22,88,000
12.5% VAT goods 18,00,000  20,25,000

VAT exempted goods 4,00,000 5,00,000
42,80,000  48,13,000
1) All Purchase and Sales are exclusive of VAT.
2) The Input Tax paid on purchases of goods is eligible for VAT credit.

Compute the VAT Liability for the month of March 2011.
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5. For the A.Y. 2011-12 Satysai Co-operative Society drive total Income from the
following sources. 20

a Income from processing (with aid of power) Rs. 1,60,000

b) Income from collective disposal of labour of the member Rs. 70,000
c) Income from House Propetry Rs. 1,92,000.

d) Interest from other Co-operative Society Rs. 1,40,000

€) Income from other business Rs. 1,16,000.

Find out the tax Liability and Taxable Income of Co-operative Society.

6. On 12t February, 2011, Mrs. Sayna got a refund of Rs. 15,000 for the
A.Y.2011-12. Tax due for the said assessment year was Rs. 1,78,000. Advance
tax and Income tax deducted at source amounted in all to Rs. 1,93,000. The
return for the A.Y. 2011-12 was filed on 30" July 2010. Mrs. Sayna had
proposed to complain to the Income Tax Officer regarding non-receipt of | nterest
on refund of Income tax of Rs.15,000. As a tax consultant what will be your
advise to her ? 10

B/I/11/5,075
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M.Com. (Semester — II) Examination, 2011
Group-C : BUSINESS PRACTICES AND ENVIRONMENT
Special Paper - 111
Modern Business Practices
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
1. Explain objectives and functions of Maharashtra Chamber of Commerce.
OR

State the functions of Maratha Chamber of Commerce.

2. Explainimportance and functionsof Federation of Indian Chamber of Commerce
and industries.

OR
What is public enterprise ? State the objectives of public enterprise.

3. Statethenature of Indian agriculture and Government policiesrelating to agricultural
business.

OR
Explain characteristics of Agricultural Businessin India.

4. What isAgricultural product ? State nature and disposal of agricultural By-product.
OR
Explain impact of WTO (World Trade Organisation) on Agri-business practices.

5. Write short notes (any four) :
a) Farm waste
b) Dairy business
c) Agricultura Tax policy
d) Publicuitilities
€) Autonomy of public enterprises

f) AlliedAgricultura Business.
P.T.O.
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M.Com. (Semester — II) Examination, 2011
Group ‘C’ — BUSINESS PRACTICES AND ENVIRONMENT
Paper - 1V
Business Environment Analysis
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.

2) All questions carry equal marks.

1. Statetheimportance of , ‘ ForeignInvestment and Foreign Technology’. Explain

therole of ‘“MNC’ in development of nation. 20
OR
Explaintheroleof ‘ Indian Money Market’ inthefinancia environment of business. 20
2. A) Describe the problems faced by small and cottage industries. 10
B) Explaintheroleof Co-operative Banksin Financial Environment of Business. 10
OR
A) Statethetechniquesof Environmental Analysis. 10
B) State the need and importance of competition analysis. 10
3. What is unemployment ? Explain the reasons of unemployment. Suggest the
remediesfor reducing unemployment. 20
OR
A) Describe how socia injustice affects on growth of business ? 10

B) “Lack of technical knowledge and information” adversely affects on growth
of Business. Discuss. 10

4. Define Global Environment. Explain theimpact of social and natural factors on

growth of business. 20
OR

A) Explaintheimpact of demographic environment on world trade. 10

B) State the need of study of ‘Global Environment’. 10

P.T.O.
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5. Write notes (any two) :
1) Growth of industriesin private sector.
2) Indian capital market.
3) Inflation —Hurdlein business growth.
4) Cultura environment.
5) Bargaining power of suppliers and buyers. 20

ST TUTR

: ¢) @ JIT HTTTTH e,
& ?) @ JIIT GHIT T 37E .

9. TEhI TGV SATTVT TXfohd Ao Hecd oIeTa s SRTT=AT frehTam e SIgirse i =]

+ftrehT ¥ U (Role of MNC). R0
Tera
R T TR TeRuTTd T Ao TSR fHeh T5e 3. Ro
R. ) T AN FHER ITNTHT HSHTEUT=T GHEIT FUH . %0
§) IR T TTaoTTd HEshR) siehTeit YfHehT T . %0
TeRan
37) ATt forveryoTT=aIT Uegelt |, %0
q) i fageryom=h STTaweRar 1 qee fowTe . %0
3. ‘IUSITRY TEUS R 7 SIS =R R0l ST SRS AT ot 3U gl R0
e
1) “GHTRTeR TR SITSHRITAT AT R T TROMH SHdTd T 9 3. %0
) “qifes 1 Tor ATt 1uTe’ semer forada uimmy shdrd — == . %0
¥ STTfceh TTaoTT=h ST 21, Aafiies ST1f01 ATHTRIeh SeehTel sTaHmRITaR SI0TRT TRy Tose
. R0
e
1) AR T TOTT=IT STRT{eh SATARTER B VT THOTH $9 1. %o
) STTfcreh TTeRuTT=AT 1T ATIgehdT foere . g0

b, A ferer (ForaE Em)
%) WIS &t STRTETeT=h are
R) ARATTS TTead FTeIK
3) <Fare (Inflation) STeErT=a1 ATl SAEUes!
)
)

%) T {ceh T TaRol
4) YRISTER ST ERERR FT< EaTeTehe. 20
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M.Com. (Semester — II) Examination, 2011
(Group — D) BUSINESS ADMINISTRATION
(Paper — III)

Marketing Management
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Definetheterm ‘Marketing’. Explain the different concepts of marketing.
OR

What is*Rural Marketing' ? State features and importance of Rural Marketing.

2. What is* Consumer Education’ ? Explain the needs and objectives of * Consumer
Education’.

OR

Describe Economic, Political, Technol ogical and Global Environment which cast
influence on Consumer Behaviour.

3. What do you mean by CRM (Customer Relationship Management) ? Explainthe
problems and suggestions of CRM.

OR

Explain stepsinvolved in ‘New Product Development Process'. State causes of
New Product’s failure,

4. Define the term ‘Media . Explain the factors to be considered for selection of
‘Media.
OR

What do you mean by ‘Branding’ ? Describe with relevant illustrations different
strategies adopted by the companies for building ‘Brand Loyalty’.

P.T.O.
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5. Write short notes (any four) :
a) ServicesMarketing
b) Consumer Protection
c) Customer Integration Management
d) E-marketing
€) EthicsinMarketing

f) Product Life cycle.

TS TUTAR

AT ¢) Td J97 G0 STTTTH 376,
?) @d JET GHTT I 378,
3) TYIGI3] 4eE ST FoTIEHT TET.
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feRat

“gretor faque’ reust s 7 O ferguETEh Aftet 9 geed gL

2. TTeeh 1318707 TS i ¢ TTEeh TRT&TUTTT TST SATTOT e T .
feRar

TTEShT=AT TAU[GhIER TTel ThUTTT ST, TSI, T 9 STHTfdeh GTaXuTTel Jui ol

3. UTeh G LTI U h ¢ UTEeh oY SFACATIHT=AT TS0 ATV SURFIISHT TIE
.

TeRa
T T forepma” wfshartar farfare oo Toee S0, el St STIIT=H SRl |,
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fehat

HEToh TEUTS 1 ¢ HET a1 AT uaTarel shai gR aTReT SO SR TelTeA STauem=
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M.Com. (Part — II) Examination, 2011
BUSINESS FINANCE (Compulsory)
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Define Business Finance. State the factors to be considered while estimating the
financial requirement. 20

OR

Explainin detail the various sources of finance availableto the Private sector. 20

2. What do you mean by Capita Market ?Explainthe need, limitationsand government

regulations of Capital Market. 20
OR
Write short notes on (any two) : 20

a) NRI Equity Participation.
b) Need of Foreign Direct Investment.
¢) Financial problemsof SSI inIndia

3. What is Securities and Exchange Board of India (SEBI) ? Describe in detail the

need and functioning of SEBI. 20
OR
What is De-materialisation ? Explain its need and advantages. 20

4. What isMutual Fund ? Explainin detail the various types of Mutual Funds. 20
OR

What is Merchant Banking ? Explain the various services rendered by Merchant

Banker. 20
P.T.O.
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5.  Write short notes on (any four) : 20
a) PlayersinPrimary Capital Market.
b) E-Broking.
c) Functions of Depository System.
d) Advantagesof Portfolio Management.
€) Need of Credit Rating.
f) Loan Syndication.

TS EUTAR
GeAT: 1) T 597 TS} STavee: 776,
2) @F FEIT GHIT 0T S84
3) IwdtBESIeT ik QU T I,
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ESIRIIR 20
feran
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2. g IR FEUISl i { STgaed STSTr ] TS, TieT STI0T TTehi =t Tqee o, 20
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M.Com. (Semester — II) Examination, 2011
BUSINESS ADMINISTRATION (Paper -1V)
Financial Policies and Practices
Group -D (2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions: 1) All questions are compulsory.

2) All questions carry equal marks.

1. What is profit planning ? State the important basics of profit planning.
OR

1. Define the term ‘Reserve' . Explain different types of Reserves.

2. What is ‘Dividend’ ? State the different types of dividend.
OR

2. Explain the term ‘Financial Planning’. What are the important characteristics
of Financial Planning ?

3. What is ‘Amalgamation’ ? What are the conditions to be fulfilled for
amalgamation of corporations ?

OR
3. What is ‘Option contract’ ? Explain different types of options.

4. What are the different types of |ease transactions ? State the mechanism of sale
and lease back.

OR

4. Define the term ‘venture capital’. What are the different features of venture
capital ?

P.T.O.
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5. Write notes on any two of the following :
a) Uses of break even analysis.
b) Implications of over-capitalization.
c) Methods of calculation of purchase consideration.
d) Characteristics of deep discount bonds
€) Features of world monetary system.
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M.Com. (Semester — II) Examination, 2011
Group E : Commercial Laws and Practices
(Paper - III) (New)
E-SECURITY AND CYBER LAWS
(2008 Pattern)
Time: 3 Hours Max. Marks: 100

N.B. : All questions are compulsory and carry equal marks.

1. Discuss various types of security problems and common threats to e-commerce.
OR

Explain various security protection mechanism with special referenceto E-security.

2. Explainindetail creating and using front page based website.
OR

What do you understand by XML ? Explain advantages and disadvantages of
XML.

3. Elucidate the provisionsof Information Technology Act, 2000 relating to
a) Legal recognition of e-recordsand digital signatures.
b) Retention of e-records.

c) Useof e-recordsand digital signaturesin government offices.
OR

What is cyber law ? Explain its scope and objectives.

4. State and explain the provisions of IT Act 2000 relating to attribution,
acknowledgement and time and place of dispatch and receipt of E-records.

OR

What do you understand by ‘cyber crimes ? Discuss any four cyber crimes

dealt with by IT Act, 2000.
P.T.O.
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5. Write short notes on any four :
a) Cyber flying
b) Penaltiesunder IT Act, 2000
C) Internettrading
d) HTML
€) Duties of subscriber

f) Types of intruders.

B/l/11/745
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M.Com. (Semester — II) Examination, 2011
(Group - F) CO-OPERATION AND RURAL DEVELOPMENT (Paper —1V)
Management of Co-operative Business
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Critically examinethefinancia and socia responsibilitiesof Co-operative busness.
OR

What criteria are used for appraising the performance of co-operative business ?

2. Evaluate the business policies and practices of credit co-operatives.
OR

What business policies and practices are followed by the District Co-operative
Banks ?

3. What factors contributed to the success of Gokul Sahakari Sangh, Kolhapur ?
OR

What are the various problems of marketing Co-operativeingtitutions ?

4. Write the success story of any one of the following :
a) PravaraCo-operativelnstitutions.
b) Anand Dairy Co-operative, Gujrat.
5. Write short notes (any two) :
a) Industrial relationsin Co-operative business.
b) Role of Co-operative in department.
c) Problemsof Non-agricultural credit Co-operatives.

d) Problemsof Dairy Co-operatives.

P.T.O.



[3970] - 214 O A
TS TUTHR

geAT : ¢) Gd 3o TSl HTTTIH 378,
?) TS AT THIT 0T 37784,

9. Gghi) SFaErT=AT fa o GTHTSTeh SToTeeri= diehTcHeh TieTor .
feRa

TR ST ShH R HeIHTIH HOTET3! ShivTd TRt JTRuETd dTd ¢

R. JAGES] HEhRI HEATH AL STV FTER. TG =TI .
TR

fSTegT Tgeri) SR ShiIUTd T ST STTTUT STaeR Ygd! ITaLdrd ¢

3. TIehe HEoh! TH. ShIcaTYL, ATAT fIehEm e Ve Heshi= TMTaH 37Tg 7
ferar
e foraur Tee=an fafare aae i ?
¥. WTeiieTdeh! shivTeTal UehTei J9mier fotat :

H) o HEHR IAN R,

§) e g9 GERR] G, TSAIC.

4. ofigRITa AT foteT (vt e)
37) ekl FaHTTHE S ST Hai.
§) HEHRI QT fHeT.
%) o Y Tq TR TEu=a1 a0,

T) U HEHR] ST GHA.

B/I/11/580



RN A AT [3970] - 215

M.Com. (Semester — II) Examination, 2011
Group (G) ADVANCED BANKING AND FINANCE (Paper —1III)

Banking Law and Practice
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. What do you understand by Money Laundering ? What are the obligations of
banking companies, financial institutionsand financial intermediariesunder the

Prevention of Money LaunderingAct, 2002 ? 20
OR
What do you understand by a banker and his customer ? Explain in detail the
relationship between abanker and his customer. 20
2. What isCredit Information Bureau of IndiaLimited ? Explain its operations. 20
OR

Explainthefollowing concepts:
a) Garnishee order

b) Right of set off. 20
3. ‘Asset liability mismatchesare common’ critically appraise. 20
OR
Define non performing asset. Spell out in detail income recognition and asset
classification norms. 20
4. Write adetailed note on management of investment portfolio. 20
OR

Explainthe Reserve Bank of Indiaguidelinesfor asset and liability management. 20

5. Write notes on (any two) :
a) Approaches to reduce Non-Performing Assets
b) Modes of electronic payment
c) Mergersand acquisition

d) Law of limitation.
P.T.O.
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M.Com. (Semester — II) Examination, 2011
Group-G : ADVANCED BANKING AND FINANCE
(Paper - 1IV)
Monetary Policy
(2008 Pattern) (New)
Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explain the concept of ‘Money Supply’. How is money supply measured by
RBI ? 20

OR
What is Monetary Management ? Explain the objectives of Monetary policy. 20

2. Explainin detail the concept of High Powered Money. 20
OR

Elaborate mechanism and effectiveness of qualitative instruments. 20

3. Explain the recent Monetary policy changes announced by the RBI. 20
OR

Critically review monetary policy of RBI during last five years. 20

4. What is RBI’s export promotion credit ? How isit given ? 20
OR

Explaintherole of RBI in export finance. 20

5. Write short notes (any two) : 20

a) Open Market Operations
b) Money Supply and Price Stability
c) Regiona Rural Banks

d) RBI and Industrial Finance.
P.T.O.
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M.Com. (Part — II) Examination, 2011
INDUSTRIAL ECONOMICS
(Compulsory)
(Annual Pattern)
Time: 3 Hours Max. Marks. 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Answers should be precise and to the point.

1. Discuss inter-relationship between Industrial development and economic
development.

OR

What is Location of Industries ? Discuss the factors influencing location of
industries.
2. Write short notes on (any two) :
a) Sargant Florence's theory of Industrial Location.
b) Importance of Industrial economics.
c) Problems of public sector in India

d) Impact of Industrialization on Urbanization.

3. Discuss India's Industrial Policy of 1991.
OR

State the need of foreign capital. Discuss the Indian Government Policy
regarding foreign capital.

4. State and explain the effects of Liberalization, privatization and Globalization

on Indian Industries.

OR

Discuss the progress and problems of cotton textile and power generation

Industry in India
P.T.O.
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5. Write short notes on (any two) :
a Evolution of Modern Industries.
b) Industrial Policy Resolution, 1956.
c) Role of Multi-National Corporations in India s Industrial Development.

d) Problems of sugar Industry in India
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M.Com. (Part — II) Examination, 2011
BUSINESS STATISTICS
(Paper — 1V) (Compulsory)
(2002 Pattern) (Old)
Time: 3 Hours Max. Marks. 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4) Symbols and abbreviations have their usual meaning.

1. Attempt any four of the following : (5 each)
a) Define and give one example of
1) Sample space, i) Mutually exclusive events.

b) Two cards are drawn at random from a pack of 52 cards (i) Find the
probability that they belong to different suits, (ii) Find the probability that
the cards are of different colours.

1

c) A coinwith 3 asthe probability of head istossed 6 times. Find the probability
of getting (i) exactly 4 heads, (ii) at least 2 heads.

d) Define the term sample. Describe SRSWR and SRSWOR.

e) Define Karl Pearson’s correlation coefficient and state two of its important
properties.

f) If X is a Poisson variable with 3P (X = 2) = P(X = 4), find mean and
standard deviation of X.

2. Attempt any four of the following : (5 each)

a) Two events A and B on sample space S are such that P(A)= 0.5, P(B) = 0.6
and P(ANB) = 0.4. Find (i) P (A|B), (ii) P (B|A") (iii) Are A and B
independent ? Why ?

b) A department of transportation study on driving speed and mileage for
two-wheelers got the following data :

Speed X) : 30 50 40 55 35 25 60
Mileage (Y): 28 25 25 23 30 32 21

Draw a scatter diagram. What does it indicate about the correlation between
XandY ? P.T.0.
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c) Describe the procedure of systematic sampling. Give one example.
d) Define normal distribution. Sate any four properties of normal distribution.

€) Income of corporate executives follows a normal distribution with mean
Rs. 50 lakh and standard deviation of Rs. 16 lakh. In a sample of 1000
executives, find how many would have income (i) above Rs. 60 lakh ?
(i) below Rs. 45 lakh ?

[Given : Area to the right of 0.625 = 0.265, Area to the right of
0.4125 = 0.3409 from normal probability table].

f) Write a note on statistical methods used in 1SO. 5
3. Attempt any four of the following : (5 each)

a) Estimate secular trend by the method of 3 yearly moving averages for the
following time series data :

Year © 1991 1992 1993 1994 1995 1996 1997

Y 20 24 26 28 32 35 38

t

b) Estimate population mean and population total from the following stratified
random sample data.

Stratum No. Stratum size  Sample size Sample mean

1 1000 50 12.42
2 1500 80 26.78
3 3000 200 38.49

c) Give names of two official organizations collecting statistical datain India
State four functions of any one of them.

d) Given the following information n = 20, X = 45.4, Y=19.1, s.d. (X) = 1.3,
s.d.(Y) = 25, Cov(X, Y)= -2.75. Find the appropriate equation of line of
regression for estimating Y. Also use it to estimate Y for X = 50.

e) Define time series. Give two illustrations. Describe cyclical variations.
f) Calculate Karl Pearson’s correlation coefficient and interprete the value

for the following data. n = 50, XX = 450, XY =64, ¥X%=5100,
>Y?2=254, TXY = 858.
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4. Attempt any two of the following : 10 each
a) The quarterly sales data for a college text book over past 3 years are given
below :
Year
Quarter n 5 3
| 160 | 180 200
Il 20 80 110
I 260 | 290 300
\Y, 250 | 230 260

Compute seasonal indices for the four quarters by link relative method.
b) 1) Define : Null hypothesis, type | error, type Il error.

i) 20% of the workers are believed to be favourable for a 5 day week. A
poll with a sample of 596 workers found 83 workers favourable for a
5 day week. Can the belief be accepted at 5% level of significance ?

c) Following data are related to diameters (in inches) of computer disks :

Sample No. Sample mean Sample range
1 3.506 0.014
2 3.502 0.036
3 3.497 0.023
4 3.500 0.031
5 3.495 0.034
6 3.501 0.009
7 3.493 0.021
8 3.497 0.026
9 3.509 0.027
10 3.498 0.026
11 3.493 0.031
12 3.507 0.025

Draw appropriate control charts. Write your conclusions about statistical
control of the process average and process variability. Assume that sample
sizeis 5 for each sample. (Given: D3 =0, D, = 2.115, A, = 0.577).
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5. Attempt any two of the following :

a)

b)

1) Toevaluatedifferencein educational quality between two training centres,
following data are obtained.

Center A Center B
n, =30 n, =40
X, =825 X,=78
S =8 S, =10

Test the hypothesis that the two centers do not differ significantly at
o =0.05-

i) Explain the difference between (1) Process control and product control
(2) control limits and specification limits.

Gross revenue datafor Regional Airlinesfor a7 year period are asfollows::
Year 1 2 3 4 5 6 7
Revenue (in million Rs.) : 24 29 35 36 33 32 27

Fit a quadratic trend equation to this time series data. Also estimate the
revenue for the 81" year.

The following data were collected on the height (in inches) and weight (in
pounds) of women swimmers.

Height 68 64 62 65 66
Weight 132 108 102 115 128

Find the two equations of lines of regression for the above data. If a
swimmer’s height is 63 inches. What would be the estimate of her weight ?

B/I/11/470

(10 each)
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M.Com. (Part — II) Examination, 2011
Group A : Advanced Accounting and Taxation (Optional)
Paper - 111
ADVANCED AUDITING
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. “Auditing beginswhereAccountancy ends’. Explain. How doesAccountancy differ
fromAuditing ?

OR

1. How would you vouch the following ?
a) Salariesand wages.
b) Acquisition of motor car.
c) Director’s Sitting Fees.
d) Sharesissued for consideration other than cash.

2. Write short notes (any two) :
a Auditor’s Responsibility for Detection of Frauds and errors.
b) Audit Programme.
c) Investigation U/S 235 and 237 of Company Act, 1956.
d) Tax Audit.
3. “Internal Audit has become an important Managerial Tool”. Discuss.
OR
3. 8 Define ManagementAudit.
b) Discuss the objects of Management Audit.

c) Differentiate between CostAudit and Management Audit. .
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4. Discussin detail, the specia features of Bank Audit.
OR

State the special points to be considered in Audit of co-operative societies.
5. Write short notes on (any four) :

a) Roleof Comptroller and Auditor General of India.

b) Components of Internal Control.

c) Proprietary Audit.

d) SystemAudit.

€) Audit of Public Sector Undertaking.

f) Efficiency Audit.

B/I/11/1,125
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M.Com. E-Commerce (Semester — II) Examination, 2011
201 : BUSINESS PROCESSES AND PRACTICES

Time: 3 Hours Max. Marks: 80

Note : i) All questions are compulsory.
ii) Figures to the right indicate marks allotted to the question.

1. Explain the prerequisites of success in any business venture. 16
OR

Narrate the success stories of business|eaderswho have matched their production
with changing needs of the customers. 16

2. How do you identify the value additive and Non-value additive activities in
any business process ? How to eliminate waste in any industrial process ?
Illustrate your answer with practical examples. 16

OR

What is meant by project Monitoring ? State various tools employed to monitor
the projects by any Turn-key industry. 16

3. What is meant by “Routing’ and ‘ Scheduling’ of production ? Explain the
flow of activities from O to D (i.e. from Order to Delivery). 16

OR

Y ou have been retained by a small scale unit to design the system of inventory
control. Write a synoptic note to be submitted to the controller of finance.
Y our note should include the following :

Description of the existing system
Flaws in the existing system
Brief description of the system you developed

Formats of reports, models etc suggested by you. 16

P.T.O.
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4. What is meant by ‘ Capacity Enhancement’ ? Discuss the scope of Capacity
Building of a company marketing its products on global level.

OR

Whatis‘Logistics ?Explainessential prerequisitesto develop effectivelogistics

with the supplier network in any manufacturing industry.

5. Write short notes (any four) :
a) Interactive models
b) Enterprise software
c) R/3 information
d) Six Sigma
€) Business Forecasting
f) Customer Relationship Management (CRM).
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M.Com. (E-Commerce) (Semester — II) Examination, 2011
202: OPERATIONS RESEARCH

Time: 3Hours Max. Marks: 70

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. Attempt any three of the following. 15

a) Explaintheterms:
I) Slack variables i) Surplusvariables
b) Obtainall the basic solutionsto the following system of linear equations:
X1+ 2X5+Xq=4
2X+X5+DbX5=5
c) Obtain the dual problem of the following L.P.P.
Maximize z = 2x;+5X,+6X5
Subject to the constraints
5X1+6X5X3<3
—2X X+ aAX3<4
X1—HX,+3X3< 1
—3X,—3X3+X3<6
X1:X9,X3 > 0.
Also verify that the dual of the dual problem isthe primal problem.

d) Findtheinitial basicfeasible solution for thefollowing transportation
problem by least cost method

Destinations

D D D D, Supply

1 2 3 4

O | 10 2 20 | 11 |15

Origins 12| 7 9|2 |25

Demand 5 15 15 15

P.T.O.
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€) Find the basic feasible solution to the following transportation problem
using north west corner rule.

Sink
A B C E
Origin P 2 11 10 7
Q 1 4 7 1
R 3 9 4 12
Demand 3 3 4 6

2. Attempt any three of the following:

a) Explaintheterms:
1) Mixed strategy.

i) TwoO person zero sum game.
b) Solvethe game whose pay off matrix isgiven by

Player B
B B, B, B,
Al 20 15 12 35
Al 25 14 8 10
Player A
A,| 40 2 10 5
A, -5 4 1 0

Supply

15
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c) Useprincipleof dominanceto solvethefollowing gamewhose pay off matrix

isgiven by
Player B
1 2 3 4 5
I 3 5 4 9 6
II 5 6 3 7 8
Player Ay | g 7 9 8 7
10Y 4 2 8 5 3

d) Solvethefollowing assignment problem to minimize cost.

Persons
1 2 3 4
[ 2 3 4 5
Jobs II 4 5 6 7
III 7 8 9 8
v 3 5 8 4

€) Thefollowing game givesA's pay off. Determine the values of p and g that
will make the entry (2, 2) of agame a saddle point.

Player B
2 4 7

10 7 q
4 p 8

Player A
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3. Attempt any two of the following. 20
a) Use simplex method to solve the following L.P.P.
Maximize  Z=4x,+10x,
Subject to the constraints
2X1+X,<50
2X1+5%,<100
2X1+3X,<90

X1,X5>0
b) Use Big- M method to solve the following L.P.P.
Minimize z=2x,+X,
subject to the constraints
33X+ X5=3
4X1+ 3X5,>6
Xyt 2X5<3
X Xo>0

c) Obtain aninitial basic feasible solution to the following T.P. by Vogel's
approximation method.

Destination
D . D2 D3 D A Supply
O1 1 2 1 4 30
Origins
O2 3 3 2 1 50
O3 4 2 5 9 20

Demand 20 40 30 10
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d) Find optimum solution of thefollowing transportation problem. Isthe solution

unique?
Sales Agency
1 2 3 4 Capacity
Factory A 7 5 6 4 10
B 3 5 4 2 15
C 4 6 4 5 20
D 8 7 6 5 15
Requirement 8 12 18 22
4. Attempt any two of the following: 20

a) Definethetermswithillustrations:
1) Maximincriteria
i) Maximax criteria
i) Hurwicz criteria
Iv) Trafficintensity
v) Pay off.
b) A floristinorder to satisfy the needs of anumber of regular and sophisticated
customers, stocks a highly perishable flowers. A dozen flowers cost Rs. 30/

- and sellsat Rs.100/-. Any flower not sold on the day areworthless. Demand
distribution in dozen of flowersisasfollows:

Demand : 1 2 3 4
Probability: 0.2 0.3 0.3 0.2

How many flowers should he stock daily in order to maximise his expected
net profit ?
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c) A snack bar has one cook specialized in preparing one particular menu. The
number of customersrequiring that menu arrive with probability distribution
of mean 15 per hour. Customers are attended on first come - first served
basis. The customersarewilling toweight if they arein aqueue. Servicetime
Isexponentially distributed with mean 3 minutes. Find

1) Utilization factor.

i) Probability of queuing system beingidle.
i) Average timethat cook isfree 10 hoursworking in aday.
Iv) Expected no.of customersin a shop.

V) Average number of customersin a gqueue for service.

d) i) Solvethefollowinggame:
Player B

B B
1 2

Player A A1|:3 5:|

A241

Also find value of game.

i) For the following profit table find Expected monetory value for each

strategy and state which is the optimal strategy. Also find Expected
Value Perfect Information (EVPI).

States of Nature

Strategies
Nl N2 N3
S1 20 18 -9
S2 25 15 10
S3 40 | -10 | 12
Probabilities | 0.3 | 0.6 | 04

B/I/11/205
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M.Com. (E. Commerce) (Semester — II) Examination, 2011
203 : FINANCIAL AND INVESTMENT ANALYSIS

Time: 3Hours Max. Marks: 70

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explainin brief thefollowing terms (any five) : 10
I) Financial Assets
i) Secondary Market
i) Mutual Fund
Iv) Market Indicator
v) Stock Exchange
vi) DerivativeTrading
vii) Depositaries
viii) Gambling.
2. Solve any two questions : 20

1) What islnvestment ?What arethe objectivesof Investment ? Distinguish between
Investment and speculation.

ii) State objectivesof mutual fund and explain advantages and limitations of mutual
fund.

i) Which arethevariousintermediariesin the stock exchange ? Describethe services
of eachintermediary.

P.T.O.
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3. Solve any two questions : 20
1) What isTechnical Analysis ? Explain the varioustechniques used init.
i) What is Fundamental Analysis? How it is performed ?

i) Distinguish between primary market and secondary market.

4. Solve any two questions : 20
1) Explain Markowitz Portfolio Theory.
i) Explain various components of portfolio investment performance.

i) Explain the concept of risk. What are the risks associated with investment ?

B/I/11/205
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M.Com. (E-Com.) (Semester — II) Examination, 2011
204 : HUMAN RESOURCES MANAGEMENT INFORMATION SYSTEM

Time: 3Hours Max. Marks: 70

N.B. : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Define Human Resource Management. Explain the objectives and significance of
Human Resource M anagement.

OR
1. Discusstherole of Human Resource Management in an organisation.

2. Describe economic, legal and socio-cultural environment inview of present Human
Resource Scenario.
OR

2. “Human Resource Information System can be more effective with the
computer-aid”. Explain the statement.

3. What is Human Resource Planning ? Explain how human resource selection
system is developed in the corporate world.

OR

3. What do you mean by socialisation system ? Explain the features of sound
socialisation system.

4. Describe the role of Human Resource Devel opment System in creating learning
organisation.
OR

4. What is Knowledge Management System ? How is it useful in the process of
Human Resource Management ?

5. Write notes on (any two) :
a) Methods of Job Evaluation
b) Financia Incentive System
c) Performance Management
d) Human Resource Audit System.

P.T.O.
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M.Com. (E-Commerce) (Semester — II) Examination, 2011
205 : KNOWLEDGE MANAGEMENT

Time: 3Hours Max. Marks: 70

Instructions : 1) All questions are compulsory.
2) Figures to right indicate marks.
3) Give illustrations wherever necessary.

1. Explainin brief any five of thefollowing terms: 10
a) KnowledgeAudit b) Knowledge Engineer
c) Knowledge Capture d) Tacit Knowledge
e) KnowledgeAnaysis f) Corporate Memory
g) KnowledgeWorker.

2. Answer any two of the following : 20
a) What is KnowledgeAcquisition ? Explain briefly the objectives of Knowledge

Management.

b) What isknowledge management ? How doesit promote organizational learning ?
c) Distinguish between Data, Information, Knowledge and Wisdom.

3. Answer any two of thefollowing : 20
a Explainthefollowing important conceptsthat are closely related to knowledge
management.
1) Knowledge Assets ii) Intellectua Capital.

b) Describe the Knowledge Management System Cycle.
c) Explainthe KnowledgeAudit process.
4. Answer any two of the following : 20
a) Explainthefollowing Knowledge Management activities:
1) Knowledge Discovery and analysis
i) Establishment of organizational knowledge base.
b) What isthe Internet ? How it differ from World Wide Web ?

c) Assess the role of Knowledge Management and Knowledge Management
programme in business.

B/l/11/205
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M.Com. (E.Com.) (Semester — II) Examination, 2011
206 : INTERNATIONAL BUSINESS

Time: 3Hours Max. Marks: 80

Note : 1) Attempt all questions.
2) Figures to the right indicates marks.

Answer thefollowing :

1.

What arethe features of international trade ? Distinguish between domestic trade
and international tarde.

OR
What does | nternational economiesinclude ? Explain therelationship between trade
and economic growth.
State the Hecksher-Ohlin Theorem.

OR
Explain Ricardian Theory in detail.
Discuss the role of MNC'’s (Multi National Corporation) in developing countries.
Write anote on Indian MNC's.

OR

Definetheterm global corporation.Analysethe reasonsfor the growing dominance
of the MNC'’s.

What was the basic objective behind starting IMF (International Monetary Fund) ?
Stateit objectivesand rolein international business.

OR

What isWorld Bank ? Bring out its objectives and function.

P.T.O.
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5. Write short notes (any two) :
a) NAFTA (NorthAtlantic Free TradeAgreement).
b) Role of Special Economic Zones (SEZ’s) in International Business.
c) ExchangeRate.

d) Trendsin Indian Imports and Exports.

B/lI/11/205
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M.Com. (Part — II) Examination, 2011
Group-C : Business Practices and Environment (Optional)
(Paper - III)
ENTREPRENEURSHIP DEVELOPMENT
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions: i) All questions are compulsory.

ii) All questions carry equal marks.

1. Explainthetools and techniques of assessing potential entrepreneurship.

OR

What is* Entrepreneurship’ ? State the qualities of Entrepreneurship.

2. Explain the meaning of Entrepreneurship Development Programme. State the
objectives and importance of Entrepreneurship Development Programme.

OR

Explain the need and importance of Trainer-motivator in EntrepreneurshipTraining
Programme.

3. Explain the term ‘ Business Opportunity’. State the importance and relevance of
Business Opportunity.

OR

Explain the role of specialised institutions in Entrepreneurship Development
Programme.

4. Explain the term ‘PERT’. State the importance of project evaluation review
techniquein Developing New Business.

OR

Explaintheterm‘ Project Management’. Explain theissuesin Project management.

P.T.O.
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5. Write short notes on (any four) :
i) Critical path method.
i) New trends in service sector.
i) Role of Government in entrepreneurship Development.
Iv) Skill of trainer-motivator.
V) Project direction.

vi) Project cost evaluation.
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M.C.A. (Commerce Faculty) (Semester — II) Examination, 2011
201 : BUSINESS PROTOCOL AND CROSS-CULTURE
COMMUNICATION SKILLS

Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. What iscommunication ? Explain the importance of Good Communication. 16
OR

What do you understand by Cross-Culture communication ? What isitsneed ? 16

2. What isInterview ? Explain the Do’s and Don'ts of Interview. 16
OR

State the meaning, scope and importance of Etiquettes. 16

3. State the advantages and disadvantages of written and oral communication. 16
OR

What do you mean by formal and informal communication ? State its advantages
and limitations. 16

4. What isListening ? Explainitsimportance and principles of Good Listening. 16

OR
Explain the importance and role of Business Protocol in Organization. 16
5. Write short notes on (any two) : (8x2=16)

a) Do's and Don’ts of Group Discussion
b) International communication and itsimportance
c) Functions of communication

d) Importance of Body Language.

B/1/11/990
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M.C.A. (Commerce Faculty) (Semester — II) Examination, 2011
202 : RELATIONAL DATABASE MANAGEMENT SYSTEM

Time: 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.

1. Attempt any eight : (8x2=16)
a) State any 4 applications where databases are widely used.
b) List any 4 disadvantages of file system.
¢) What is data model ? Which are categories of data model ?
d) Define: 1) Primary Key 2) Super key
e) Give syntax for granting privilages to a user.
f) What is Referential Integrity ?
g) What is difference between Single valued and Multi valued attributes ?
h) What is Entity ? List different types of relationships between entities.
1) What are properties of Transaction ?
]) Which are 2 different Lock modes associated with a data item ?
2. Attempt any four : (4x4=16)
a) Write a note on “Two phase Locking Protocol” and list its versions.
b) Explain the transaction states with the help of diagram.
c) Write a note on “Immediate Database Modification”.
d) What is Database Recovery ? Which are the fields of Log Records ?
€) Explain the validation based Protocol.

P.T.O.
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3. Attempt any four : (4x4=16)
a) What isa schedule ? What is difference between serid and concurrent schedule ?
b) Definei) Deadlock ii) Wait-Die iii) Wount-Wait iv) Wait-for-graph

c) Explain the following operations with example

1) union i) Project
d) Write a note on “Integrity constraints’.
€) Explain closure of Attribute set with example.
4. Answer the following : (10+6=16)
a) Attempt the following : (1x10=10)

A “star” is an agency for flat booking and it has number of builders and
agents. A customer can get a flat for residential or commertial purpose. If
customer approach through the agent, the agency and builders are giving
some commission to the agent. Agent shows various flats and sites within
various location.

Draw ERD for above scenario. Identify Entities and Relationships.

b) Attempt any two : (2%3=6)
1) What is BCNF and second Normal form ?
i) What are Binary and Ternary Relationship ? Explain with example.

iii) Explain the extented E-R features of Aggregation with example.
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5. Attempt the following : (10+6=16)

a) Attempt the following : (5x2=10)
Consider the following schema
Emp(Eno, Ename, Salary, Designation, Dno)
Dept (Dno, Dname, Location)
Solve the following queries using SQL.

1) Find the name of employee having maximum salary in “Computer
Deartment”.

i) Update salary for every employee by 10% who belongs to “Account
Department”.

iii) Display employee who are working at “Mumbai” Location.

Solve the following queries using relational algebra
1) Give employee numbers of employees having designation “Manager”.
i) Give names of departments located at “Pune” Location.

b) Attempt any two : (3%2=6)
a) What is strong Entity ? Explain with Example.
b) Consider the following schedule.
T T

R(X) R(X)

X = X+5 X = x+50
W(X) W(X)
R(Y)

Y=Y +10

W(y)

Give anon-seria schedule that is serializable.
¢) Consider the following schedule and check its serializability using

precedence graph.
T, T, T,
R(2)
W(2)
W(z)

W(2)

B/I/11/990
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M.C.A. (Commerce Faculty) (Semester — II) Examination, 2011
204 : ACCOUNTING FOR MANAGEMENT

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

SECTION — |
1. What is management accounting ? State the differences between financial
accounting and management accounting. 16

OR

What is Management Accounting ? Explain the advantages and limitations of
management accounting. 16

2. What isfinancial statement analysis ? Explain its objectives and importance of

financial statement analysis. 16
OR
Write short notes on any four : 16

a) Format of Multi-step income statement
b) Objectives of budgetary control

c) Qualitiesof management accountant

d) Importance of Trend analysis

e) Types of budgets

f) Utility of CashFlowAnalysis.

P.T.O.
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SECTION —11
3. @ Explainthecurrent ratio, liquidity ratio, debt equity ratio and proprietary
ratio. 8
b) In aperiod 20,000 units of S were produced and sold. Costs and revenue
were: 8
Rs.
Sales (20,000 kg) 2,00,000
Production costs - variable 70,000
Production costs - fixed 30,000
General overhead - fixed 50,000

Produce operating statements using absorption and marginal costing, showing
the result for the period.

4. Dhrupat wish to approach his bankers for temporary overdraft facility for the
period from June 1 toAugust 30", 2007. During the period of these three months,
Dhrupat will be manufacturing mostly for stock. Prepare a cash budget for the

above period. 16
Sales Purchases Wages

April 3,60,000 2,49,600 24,000

May 3,84,000 2,88,000 28,000

June 2,16,000 4,86,000 22,000

July 3,48,000 4,92,000 20,000

Aug. 2,52,000 5,36,000 30,000

a) 50% of credit salesarerealized in the month following the salesand remaining
in the second following month.

b) Creditorsare paid in the month following the month of purchase.
c) Estimated cash ason June 1isRs. 50,000.



5. Thefollowing arethe balance sheets of theAndhralndustrial Corporation Ltd. as

on 31% December 2006 and 2007.
Balance Sheet
Assets :

Fixed Assets : Property
Machinery

Goodwill

Current Assets : Stock
Trade Debtors

Cash at Bank
Pre-payments

Liabilities :

Shareholdersfunds : Paid up Capital
Reserves

Profit and Loss Account

Current Liabilities : Creditors
BillsPayable

Bank Overdraft

Provision for taxation

-3

2006
1,48,500
1,12,950
1,10,000

86,160
1,500
3,370

4,62,480

2,20,000
30,000
39,690
39,000
33,790
60,000
40,000

4,62,480

2007
1,44,250
1,26,200

10,000
92,000
69,430
11,000
1,000
4,53,880

2,70,000
40,000
41,220
41,660
11,000
50,000

4,53,880

[3970] - 264

16

During the year ended 31 December, 2007, a divided of Rs. 26,000 was paid
and assets of another company were purchased for Rs. 50,000 payable in fully
paid-up shares. Such assets purchased were :

Stock Rs. 21,640; Machinery Rs. 18,360; and goodwill Rs. 10,000. In addition
Plant at a cost of Rs. 5,650 was purchased during the year; depreciation on
property Rs. 4,250; on Machinery Rs. 10,760. Income tax during the year
amounting to Rs. 28,770 was charged to provision for taxation. Net profit for the

year before tax was Rs. 76,300.
Prepare fund flow statement.

B/1/11/995
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M.C.A. (Commerce Faculty) (Semester — II) Examination, 2011
205 : NETWORKING OPERATIONS

Time: 3 Hours Max. Marks: 80

Instructions : 1) Attempt all questions.
2) All questions carry equal marks.
3) Draw diagrams wherever necessary.

1. Answer the following (any 4) : 16

a) What are the key elements of protocol ? Explain the different protocol
standards.

b) Compare ISO-OSI model and TCP/IP protocol suite.
c) Explain Bluetooth architecture.
d) What are the different network security devices ?
e) Explain in detal WWW.
2. Write short note on (any 4) : 16
a) Compare connectionless and connection oriented services.
b) Modes of communication.
c) Goals of computer Networks.
d) Broadcast and point-to-point networks.
€) Advantages of fibre-optic cable.

3. Answer the following (any 4) : 16
a) What are the objectives of Wireless LAN ?
b) Explain the two MAC sub-layers in IEEE 802.11.
c) Explain the working of spanning tree bridges.
d) Explain seria and Parallel transmissions.
€) What is Ethernet ? Describe IEEE 802.3 Ethernet architecture.

P.T.O.
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4. Answer the following (any 4) : 16
a) Compare active hub and passive hub.
b) What is NIC ? Explain different functions of NIC.
c) Explain in brief the propagation methods.
d) Explain the physical structure of Twisted pair cable. State its applications.

e) Explain the working of WAN.

5. Answer the following (any 1) : 16
A) a) Explain the Wireless transmission in detail. 8
b) Explaion the structure of Computer Network. 4
¢) What are Search Engines. 4
OR

B) @ Explain with neat diagram how data passes from one layer to another
layer in OSI-model. 8

b) Write in short the functions of each layer of OSI-model. 8

B/I/11/995
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M.C.A. (Commerce Faculty) (Semester — II) Examination, 2011
206 - OBJECT ORIENTED PROGRAMMING

Time: 3Hours Max. Marks: 80

Instructions : 1) Figures to the right indicate full marks.
2) All questions carry equal marks.
3) Assume suitable data, if necessary.
4) All questions are compulsory.

1. Attempt any four : (4x4=16)

a) What isobject oriented programming ? How it isdifferent from the procedure
oriented programming ?

b) Explain array of object with exampleusing C + +.
c) “Javais platform independent”. Justify .
d) What isinlinefunction ?How inlinefunctionisused ? Explain with example.
€) Writeanote on following keywords:
1) Static i) Super
2. Attempt any four : (4x4=16)

a) What is application of scope resolution operator (: :) in C++ ? Explain with
example.

b) What isinheritance ? Explain multipleand hierarchical inheritancewith example
using C++.

¢) How multipleinheritanceisachievedin Java? Explain with example.
d) What is constructor ? Explain type of constructor used in C++ ?

e) What islateand early binding ?How itisachieved in Java?

P.T.O.
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3. Attempt any four : (4x4=16)

a) Define Array. What are the different way to initialize array ? Give example
(using Java).

b) What is operator overloading ? Explain any two operators that can be
overloaded by C++.

c) How do you prevent a subclass from having access to a member of a
superclassin Java?

d) Why do we use destructor in C++ ? Explain with example.
e) Explainsmilaritiesand dissmilaritiesbetween aninterface and abstract class ?

4. Attempt any four : (4x4=16)
a) Write a C++ program to calculate Fibonacci series of a given number.

b) Write a C++ program to read any two numbers and print addition using
operator overloading ‘+'.

c) Write a C++ program to find out minimum of two integer numbers of two
different classes using friend function.

d) Write a java program which accept marks of three subject. If marks are
greater than hundred. Display an error message (using command line
argument).

€) Writeaprograminjavato print following outpui.
1

1
1
1

N N DN
w w
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5. A) Trace the output (Assume there is no syntax error):

a) ClassMax

{
Public static void main (string args|[ ] )
{
intmax =10;
max (max, 20, 30) ;
system. out. printin (max) ;

}

Static void max (int max, int X1, int x2)

if (x1>x2)
max = x1;
dse
max = X2,
}
}

What valueis printed out, when executed ? Explain why ?

b) intm=1;
while(m<11)
{
m+ +;
cout<<m++;

}

What does the following loop print out ? Explain.

B) Attempt any two :

[3970] - 266

(4x2=8)

(4x2=8)

a) Create an abstract class media (id, description). Derive Classes Book
(page count) and CD (play Time). Define parameterised constructors.
Create one object of Book and CD each and display the details.

b) Write a program which will calculate maximum of three numbers. Using

function overloading in C++.

c) WriteaC++ program to accept details (Roll No, Name, Mark, Percentage)

of five students. Find out topper among them with their grade.

B/l/11/995
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M.Com. (Part — II) Examination, 2011
(Group - D) : BUSINESS ADMINISTRATION (Optional)
Paper - 111
Human Resource Management
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain the need, importance of Human Resource management in Modern
Business.

OR
What are the objective of Human Resource Planning ?

2. What arethe causes of Accident ? State the various protective measuresto prevent
Accident ?

OR
Describe the Indian Perspective in employee counselling and Empowerment.

3. What is Job Design ? Explain the Techniques of Job Design.
OR

Explain the different methods of types of Training.

4. State the various Benefits and service that are provided to employees in an
organization.

OR
Define management devel opment programmes. Explain methods/techniques of
management devel opment programmes.
5. Write short notes on (any four) :
1) Objectives of Transffer.
2) Hexitime.
3) Health programmes.
4) Human Resource Audit.
5) Principal of Training.

6) Voluntary Retirement scheme.
P.T.O.
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M. Com. (Part — II) Examination, 2011
Group F : CO-OPERATION AND RURAL DEVELOPMENT (Optional Paper)
(Paper — III)
Co-operative Credit and Banking Systems
(Annual Pattern)

Time: 3Hours Max. Marks: 100

N.B. : i) All questions are compulsory.
ii) All questions carry equal marks.

1. What do you mean by linking of Co-operative credit with marketing ? Explainits
progressin India

OR

Explaintherole of District Central Co-operative Banksin rural credit. What are
their drawbacks ?

2. Explainin detail the promotion and registration process of Co-operative credit
organisation.
OR

Explainthe administrative set-up of Co-operative Department in Maharashtra.

3. Explain therefinance linkages of NABARD with Commercial Banks. State the
problemsinit.

OR

Explain the eligibility and procedure of advances given under priority sector
schemes.

4. Criticaly evaluate the progress of Urban Co-operative Banksin India.
OR

Explain the role of Land Development Banks in rural credit. What are their
problems ?
P.T.O.
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5. Write short notes (any four) :
a) Co-operative credit structurein India.
b) Role of Reserve Bank of Indiarural credit.
c) Importance of Bye-Laws.
d) Depositsin Co-operatives and Mobilisation of Funds.
€) Problem of overdues in co-operatives.
f) Primary credit Co-operative societies.
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M.Com. (Part — II) Examination, 2011
Group - G : ADVANCED BANKING AND FINANCE (Optional)
(Paper — III)
Foreign Exchange and International Finance
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. What is Foreign Exchange Market ? Explain the role of Reserve Bank of India
inforeign exchange market.

OR

1. Who is a non-resident Indian (NRI) ?Explain the different types of foreign
exchange accounts.

2. Explainthe determinants of foreign exchangerate.
OR

2. Explain the functions of Export Credit and Guarantee Corporation (ECGC).

3. Discuss the merits and demerits of Gold Standard.
OR

3. 1) Whatisflexibleexchangerate ?

" i) Explainthree provisions of Foreign Exchange Management Act (FEM A),
1999.

4. Explain the organisation and functions of Asian Development Bank (ADB).
OR

4. Explain the objectives and functions of International Bank for Reconstruction
and Development (I B R D).

P.T.O.
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2.

3.

Write notes on (any two) :
a) Credit Cards
b) Current account convertibility and Capital accout convertibility
c) International Monetary Fund
d) Euro.
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M.Com. (Part — II) Examination, 2011
Research Methodology and Case Studies
ADVANCED ACCOUNTING AND TAXATION
(Optional) (Paper - 1V)

(Annual Pattern)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions in Section I are compulsory.
2) Attempt any two questions from Section II.
3) Write the answers to the both Sections in the
same answer book.
4) Figures to the right indicate full marks.
5) Use of non-programmable calculator is allowed.

SECTION — |

(Research in Accounting)

1. What do you mean by Research ? Discuss the Research in Accounting. 15
OR
Explain the meritsand demerits of the observation method in collecting dataand
state the various types of Observation Methods. 15
2. What do you mean by “Analysis of Data’? Explain the Data I nterpretation and
Generalisation. 15
OR
What do you mean by Design Strategy of Research ? Explain the principles of
Experimental Design. 15
3. Write short notes (any four) : 20

a) Primary and Secondary Datain Research in Accounting
b) Types of Research

c) Useof Computer in Research in Accounting

d) Census Survey

€) Classification and Tabulation of Data.
P.T.O.
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SECTION — 11

(Case Studies in Accounting)

4. Comment on the following cases referring necessary Sections of Income Tax
Act and Case Laws, if any. 25

a) MissAishwaryaowning aresidential property at L ucknow, wherein her

sister-in-law resides. She, due to her employment residesin rented housein
Pune. She claims the Lucknow property as self occupied but I TO refusesto
accept her claim.

b) Shri Mukharjee changed hisaccounting method in last financia year but the
ITO refused to accept the same as no approval received by him from the
department.

c) The Satyam Co. Ltd. in calculating book profit excluded its capital gain asit
is not taxable but the ITO wanted to includeit in itstotal income.

d)Mr. Fernandes claimed the interest of Rs. 1,50,000 as a deduction from
taxable income as paid on the loan taken for Payment of Advance Income
Tax.

5. Giveyour commentsin following cases : 25

a) An auditor determines the Computed Upper Deviation Rate in asample
@ 6%. His Tolerable deviation Rate is @ 5%. He decides not to rely on the
particular internal control.

b) The auditor of alimited company has given a clean report on the financial
statement on the basis of Xerox copies of the books of accounts, vouchers
and other records, which were taken away by the IncomeTax Department in
search under Section 132 of the Income Tax Act, 1961.

c) You have not been paid the Fees for audit of a company. You are asked by
the Managing Director of the Co. to send him the papers relating to tax
computation of his own proprietory business, the taxation work of whichis
also, looked after by you.

d) Anauditor arguesthat once he has obtained a certificate from the Management
regarding the nature and quantum of contingent liabilities, he has no further
dutiesregarding the same.
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6. The General ComputersLtd. , areputed company in thefield, wantsto sell its
business but cannot decide on the valuation of goodwill. The company consultant
advisesto compute the goodwill by capitalising the adjusted profit of last
3 years. The capital employed in the company is Rs. 6,24,00,000. The profit
before charging interest on capital @ 6% for 2007 was Rs. 27,08,000,
for 2008 Rs. 50,24,000, for 2009 was Rs. 48,80,000 and for 2010 Rs. 32,48,000.

Please advise the company how to arrive at current value of the goodwill. 25

B/l/11/915
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M.Com. (Part — II) Examination, 2011
Advanced Cost Accounting and Cost Systems (Paper —1V)

Research Methodology and Case Studies
(Optional) (Annual Pattern)

Time: 3Hours Max. Marks: 100

SECTION - |
(Research Methodology)

Note : All questions are compulsory.

1. What do you mean by ‘ Research Methodology ? Explain the difference between
Basic Research and Applied Research. 15

OR

1. Explainthe term ‘Hypothesis . State the methods used for testing the hypothesis. 15

2. Explain the methods used for collection of Secondary Data for research. 15
OR
2. Explainthe meritsand demeritsof ‘ Questionnaire’ asamethod of datacollection
for research purpose. 15
3. Write short notes on (any four) : 20

a) Research Report

b) Bibliography

c) Practical Applications of Research in Cost Accounting
d) Identification of Research Problem

€) Role of Computer in the process of research

f) Useof Library for research purpose.

P.T.O.
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SECTION — 11
(Case Studies)

Note : Both the cases are compulsory.

4. Your client has started a bakery unit. As a cost consultant identify various cost

centersin bakery and prepare amodel of Cost Sheet for the bakery. Make logical
assumptions. 25

5. Suggest various Cost Control techniques (along with the exampl es) which would
form an integral part of DSS (Decision Support System) in any MNC
(Multi National Corporation). 25

B/1/11/680
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M.Com. (Part — II) (Optional Paper) Examination, 2011
Research Methodology and Case Study
ENTREPRENEURSHIP DEVELOPMENT
Paper — IV : Business Practice and Environment
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions in Section — I are compulsory Attempt any two
questions from Section — I

2) Figures to the right indicate full marks.

SECTION — |
1. Definetheterm research. Explain different types of research. 16
OR
1. Narratethe essential qualitiesof aresearcher. 16
2. Define the term hypothesis. Discuss the different types of hypothesis. 16
OR
2.Write a detailed note on * Pattern of Research Report’. 16
3. Write short notes on (any 3) : 18

a) Importance of research design.

b) Main partsof statistical table.
c) Sources of secondary data.
d) Types of graphs.

€) Importance of bibliography.

P.T.O.
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4. JK. Industries

Mrs. J.K. Moneisayoung lady with tremendous entrepreneurial zeal . During her
collegelife, she had set her mind on running aunit of her own.

Immediately after getting her B.A. degree, shewas successful ingettingashedin
Ranjangan M.I.D.C. Thus, in 2006, this young lady, fresh form college and
unmarried, set about establishing and running asmall unit.

Surprisingly, she picked on manufacture of PV C electrical cables and wires as
her product line, aline in which she had no background. This Arts student had
only association with electrical wires was in attending to connecting wires and
plugs onto her table lamp and table fan. However, having decided on PV C cables
as her product line, she was determined to make a success of it. She took athree
months training course in the line and she was ready to start. Thus was born her
unit, J.K. Industries.

Mrs. Mone did remarkably well in achieving aturnover of morethan Rs. 5 lakhs
in the very first year of her operations — 2006-2007. By December, 2007, her
turnover was about Rs. 7 lakhs. However, shewasin for aseverejolt. In January
2008, her unit was burgled and copper wires worth about Rs. 70,000/- were
stolen. And from then on she had been facing all sorts of problems, primarily
with her banker.

She had instructed her banker to get her an insurance cover for her unit including
coverage against theft. The bank officials ignored her instructions regarding
insurance against theft with the result that she had to bear the loss of Rs. 70,000/
- herself. This, subsequently, led the bank authorities to apply its clamps on any
further credit facilitiesto her.

Meanwhile she got married. Between herself and her husband, they sold off their
car, her husband | eft hisjob to join her and to put in his provident fund collections
intheunit, and jointly they initiated the process of self-revival, without any support
from the bank or any other financial institution. Most entrepreneurs would have
rolled down the shuttersin face of such heavy odds, but sheis differently made,
sheisbent upon reviving her unit, no matter what the hardships are.
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Sheisextremely disillusioned with the so called government support to the small-
scaleentrepreneurs. Sherecallsthat shewaskeen to do well in her enterprise. Her
first step was to get her cables and wires approved by the Government Test
House against 1Sl standards. The result was that she was able to secure orders
from such large business houses as orient fans, Usha fans, etc. If only there was
some guidance, some help and some sympathetic attitude from financial
institutions, she wouldn’t have had to spend so many sleeplessrights. Asfor the
banks, shefindstheir attitude not only unhel pful but positively inimical. Shealso
wonders that no onein the authority really looks into the problems of the small-
scale unitsserioudly.

Questions :

1) What are the factors responsible for the failure of Mrs. J.K. Mone ? 12

2) Suggest a suitable solution and rehabilitation processfor Mrs. JK. Mone. 13
5. Tanmay Export Corporation :

Mrs. Jdnyasa Satheisahousewife-turned-entrepreneur through sheer determination
and hard work. Her husband, acivil engineer by profession, had spent a number
of years in Japan in senior positions which had earned him and Mrs. Sathe many
helpful friends.

Mr. Sathereturned to Indiain 2006 and started his consultancy work here. However
in 2008 Mr. Sathe met with amajor accident and this brought about a complete
change in Mrs. Sathe's life style. She was quick to realise that she could no
longer be content with remaining asahousewife; she would need to do something
toincreasethefamily income.

She showed a good bit of business acumen in deciding to make use of her
contactsin Japan and go in for exports. She had known a good number of Indian
families there and had known their requirements and tastes. The first thing that
struck her was that a great demand existed among the Indians settled down there
for greeting cards for variousfestivals and occasions. Thisis how she started her
career in exports and so was born Tanmay Export Corporation in 2008.

Soon Mrs. Sathe added on other items in her export list to Japan, more notable
among those being the calenders displaying wild life and some brassitems. She
later found a good market for terracotta murals and decorative pots.
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Her success in exports to Japan gave her the confidence to expand her activities
in other countries where her relatives were settled. Currently, Mrs. Sathe has a
turnover of about Rs. 10 lakhs, working amost alone her youngest daughter
doeshelp her invariousactivities. However, her mgor forte has been her personal
contacts. She keeps going abroad for renewing her contacts and promoting her
exports. Her latest thrust is in France and she hopes to push a number of items
therein the not too distant future. While she does the paper work herself, she has
left the packing and forwarding to professionalsin the field. Sheis full of self-
confidence and plans to expand her exports on a much bigger scale.

Questions :

1) Identify the causes responsible for Mrs. Sathe to become an entrepreneur and
the contributing factors for the successin venture. 13

2) Examinethe opportunitieslinked with her qualitiesasawoman entrepreneur. 12

6. M/sDamini and Co. Ltd. isengaged in manufacturing of Paithani Sareesat Paithan.
It employs 2000 employees, including expert artisanswho are paid regular aswell
as production-based rewards. Regular employees are needed for continuity in
marketing. Payments are regularly made. The existing pattern of salary and
behaviour of employees are satisfactory.

On the background of growing competition, owner’s designer son Rohit joined
the company who revolutionalised production by introducing new and prospective
design. The employees are unhappy and complain that Rohit isrude and arrogant.
Employees are not treated properly by him. The designer has a product-oriented
attitude. Personal relations have goneto dogs. M/s Damini and Co. Ltd., however,
has benefitted from the new designer, asit has started exporting Paithani Sarees
and the profits have increased three-fold.

Questions :
1) What are the problems you can identify in the case above ? 12

2) What entrepreneurial strategies should be used by M/s Damini and Co. Ltd.? 13
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M.Com. (Part — II) Examination, 2011
Research Methodology and Case Study
BUSINESS ADMINISTRATION (Optional)
(Paper - IV) (Annual Pattern)

Time: 3Hours Max. Marks: 100

N.B.: i) Section — I belongs to Research Methodology and Section — II
Case Study.
ii) Section — I and II carry fifty marks each.
iii) Figures to the right indicate full marks.
iv) Answers to both Sections should be written in the same answer

book.

SECTION — |
Research Methodology

1. Explain the importance of primary data and secondary datain Social Research. 16

OR
Explain features, advantages and demerits of interview technique. 16
2. @ Describe types of Research. 8
b) Importance of Hypothesis in Research. 8
OR
a) Qualities of a Researcher. 8
b) Write anote on ‘ Sampling Technique'. 8

P.T.O.



[3970] - 34 2- AC O AR A

3. Write short notes on (any 3) : 18
a) Importance of Computer in Research.

b) Research Report.

c) Indexing.

d) Bibliography.

€) Limitationsof Questionnaire.
f) Social Research.

SECTION — 11
Case Study
4. Explainthe utility of Case Study method in Social Research. 10
OR
Describe various types of cases. 10
5. Attempt any two cases from the following : 20

A) Case No. 1

You have been asked to look in to the operations of a Company whichisin
the business of repairing and overhauling automobiles. Current practices have
led to an extreme amount of customer dissatisfaction dueto very high waiting
time, discourteous behaviour of workforce with the clients, poor quality of
workmanship.Asaresult the customers have started getting their maintenance
services elsewhere. This operation is located in an environmentally alert
community and they have also been complaining to the local municipal
authoritiesthat the hasty way inwhich operations are handled and waste material
and water disposed off, is causing lot of inconvenience in the locality. The
owner wants your managerial advice on testing machines and equipment,
repairing materials, workforce and eco-friendly environment inimproving the
effectiveness of systems operations.

In this context, answer the following questions.

a) How will you analysethesituation ?

b) What further information you may need ?

c) Give your suggestionsto improve the present condition.
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B) Case No. 2

Informal Organation : A Boon OR A Curse 20

Shreeram Departmental store had a large toy shop that engaged twenty
salesmen and one cashier for the last eight years. All of them were loyal,
competent and had formed a compact informal social group.

The store announced the expansion programme requiring five new salesman.
The manager encouraged the old salesman to recommend their relatives or
friendsfor these appoi ntmentsthinking that this practice of encouraging relatives
of employees to be recruited would develop close co-operation among the
old aswell as new employees.

It was very soon realised that old salesmen were pushing down the undesirable
work to new employees. The old staff took longer period for tea-breaks. The
new comers were required to undertake cleaning work of window-displays
and checking inventory. Theold timerssaw to it that they would get moretime
with customers since there is special commission to every salesman for sales
above a certain quota. Old salesmen are now concentrating on this aspect
only. One of the new comers had courage to lodge their grievances of
discrimination to the manager. The result wasthat he a ong with other two new
comers was discontinued after a month on the grounds of lack of efficiency
and minimum sales and some otherswere recruited. The remaining three new

comers started in full obedience of the old timers.
Questions :

1) Analyse the case and discuss the benefits and demerits of informal
organisation.
i) As manager of toy shop, what would you do in case of such informal

practices ?
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C) Case No. 3

Mr. Yashodhan : 20

A Senior Supervisor, Mr. Yashodhan, in a medium size industrial unit had
completed twenty years of honest service. He had reached the age of 45
years. Histotal salary per month was Rs. 20,000. Unfortunately, however he
was involved in misappropriation of cash during the last three months of his
career and the management decided to terminated his service and to Punish
him by making certain deductions from the payment of hisgratuity and other
retirement benefits. Mr. Yashodhan feelsthat heisunjustily treated and agroup
of the labour seemsto agree with him.

Would such action on the part of the management be justified ?

Giveyour detailed view and advice in the matter.
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M.Com. (Part — II) Examination, 2011
Paper — IV : Research Methodology and Case Studies
SECRETARIAL PRACTICE AND COMPANY MANAGEMENT (Optional)
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions in Section — I are compulsory.
2) Attempt any two cases in Section — I1.
3) Figures to the right indicate full marks.

SECTION - |
(Research Methodology)

1. Describein brief thedifferent types of Research, clearly pointing out the difference

between an ‘ Experiment’ and a“ Survey’. 15
OR
1. “Report writing is an art that hinges upon practice and experience”. 15
2. Enumerate different tools of datacollection, stating their importancein brief. 15
OR
2. What is Hypothesis ? Explain the meaning, characteristics and sources of
Hypothesis. 15
3. Write short notes (any three) : 20
a Primary Data

b) Research Design

c) Research Problem.

d) Typesof Questionnaire
€) Random Sampling

f) Coding of Data.

P.T.O.
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SECTION —11
(Case Study)

1. LTO Ltd. isaleading and renowned manufacturer of tube lights. The company
has aregistered trade-mark in Part ‘A’ of the Register. The company had crossed
the turnover of Rs. 15 crores. However, during the last five years, it has been
observed that the sal e has started declining sharply. Hence, the company recently
initiated a market research to find the causes for the decline in the sales. It was
found that two companies - oneisat Nashik itself and another at Aurangabad are
selling their products under the same trade-mark. This type of sale of these two
companies has directly affected sale in these two regions.

The management isthinking to takelegal action.Advisethe Management of LTO
Ltd., astother rightsand remediesalong with the provisionsin respect of Offences
and Penalties under the Trade and Merchandise MarksAct, 25

2. Dabour oil Mills Company Limited (DOMCO) and Pune Lever Limited (P.L.L.),
which is a subsidiary of Uni-lever (U.L.) — a multinational company - are the
manufacturers of soaps, detergents, etc. DOMCO was incurring losses from
1990-91 and as such was graded as a sick company. The Board of Directors of
DOMCO decided to amalgamate their company with P.L.L. which was a more
prosperous company in the same field of activities.

The proposal of DOMCO was accepted by P.L.L. The Scheme of amalgamation
was accepted by the Board of Directors of both the companies, alarge majority
of shareholders, debenture holders and others. However, two of the shareholders
of DOMCO, holding a nominal percentage of shares and two workers unions
opposed the scheme of amalgamation. The grounds of opposition were - statutory
violations, procedural irregularities of the Companies Act, MRTP Act,
undervaluation of shareswhich was against the public interest.

The matter was referred to the Supreme Court. You are required to discuss the
following issues giving your opinions, with reasons, about the issues rai sed.

1) Since more than 51% of the shares of PL.L were being givento aforeign
company, it is deemed to be against the public interest.

2) Isthe scheme of amalgamation violating the MRTPACt, as prior approval of
the Government was not taken for amalgamation ? 25

3) Canthetransfer of assetsat alower price be held asviolative of publicinterest ?
4) State the Provisions related to improvised Company’s Act.
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3. Mr. Choteinstalled awebsite “ chahooindia.com”. Thisisresembling the another
renowned website - “chahoo.com”. The services rendered by Mr. Chote are
similar to the services rendered by the “chahoo.com” (plaintiff).

M/s Bade and Company, which had installed “chahoo.com”, claimed that they
areglobal internet media, rendering servicesunder the domain name“chahoo.com”
which wasregistered with the“ Network Solution Incorporation”, since 2000.An
application for registration of trademark “chahoo” was pending in India.

M/s Bade and Company, further claimed that they arethefirstinthefield to have
a domain name “chahoo” and also to start web directory and provide search
services. In June, 2000, such directory was named “chahoo”.

Mr. Chote adopted the domain name “chahooindia.com” which is closely
resembling to the renowned name “chahoo.com”. It was found that the internet
users, who wanted to use “chahoo.com” may reach to the “chahooindia.com”.
Hence, they claimed that the act of Mr. Choteis dishonest and was tantamount to

“Cyber Squatting”.
Mr. Chote claims that

1) Plaintiffstrademark was not registered in India. Therefore, there could not be
any action for infringement of registered trademark.

2) There could not be an action of passing of asthe defendants were not offering
goods but services.

3) Thepersonsusinginternet and seeking to reach theinternet stewereadl tehnicaly
educated and literate persons. As such there is no chance of deception and
confusion.

Discussthe claims of the parties and their legal rightswith reference to Cyber
Lawsand |.T. Act. 25
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faam - 2
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M.Com. (Part — II) Examination, 2011
Research Methodology and Case Studies
CO-OPERATION AND RURAL DEVELOPMENT (Optional)
Paper - 1V
(Annual Pattern)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. What is research methodology ? State the scope of research methodol ogy. 20
OR

“Research begins with problems” - discuss.

2. Describe basic principles of good research design. 20
OR

What are the various sources of data collection ?
3. A) Write short notes (any two) : 10
a) Characteristics of good hypothesis
b) Anaysisof data
c) Essential qualities of good research report
d) Interview technique.

B) What is the importance of case study method ? 10
OR

What steps are involved in solving a case ?

P.T.O.
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4. A Co-operative food processing industry has got a number of driversand many
trucks. One of the truck driver having 25 years faithful service and no blemish
record in the past, drove his vehicle on the wrong side of a National Highway,
struck car and killed three persons. He was also severely injured and was not
expected to service.

In view of the serious conditions of the driver, the industry did not take any
disciplinary action against him at that time. The Board of Directors and M.D.
supported him and paid him all sick benefits and hospital costs as per settlement
for six months. The expiration of six months period is coming to an end and the
driver will not be ableto return to hiswork within reasonabl e future. Discussthe
following questions with reasoning and analyse the case.

Questions:

1) What action should betaken against the driver by the management ? Whether
he should be charge-sheeted and enquiry held or should be simply discharged
as per servicerules ?

2) Whether the management wasjustified in not making any action against driver
immediately after accident ?

3) Whether thedriver isentitled to claim compensation for accident and injuries
met to him in addition to retiring benefits ? 20

5. Inthe Co-operative Marketing Federation, Mumbai, new General Manager joined
recently. He observed that annual increments are given on subjective
consideration. There did not exists any system of performance appraisal. The
new General Manager evolved ascientific system of performance appraisal and
also designed new pay-scales and grades.

The policy was welcomed by all. When the increments were declared, genera
opinion of the employeeswas good about the new system and rewards. However,
office bearers of the internal union were unhappy. In the past, due weightage
was given to them being union members. But under new system, no such
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differentiation was made. They approached the Chairman of Co-operative
M arketing Federation reminding him the co-operation they extended during the
past and especialy in the strike recently withdrawn. The Chairman declared
special incrementsto 10 such office bearers of the union. It resulted disparity in
the juniors and seniors. The complaints were received by the M.D., who
forwarded them to the Chairman, who refused to entertain. The senior employees,
getting lesser increments decided to leave the federation in group. The threat
was disregarded by the federation / institution. The ultimate result was the mass
resignation of over 25 senior employees, crucially playing roleintechnical aress.
Analyse the case and answer the following questions with proper justification.

Questions :

1) Analyse the role of Chairman in granting special increments to the union
office bearers.

2) Couldtheincidence of mass- resignations have been averted duetoindividua
counselling ? Who should have done that job ?

3) What would be the ideal solution in such situation whereby both parties are
satisfied ?

TS TUTR
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M.C.A. (Commerce Faculty) (Semester — III) Examination, 2011
301 : ADVANCED OPERATING SYSTEM

Time: 3Hours Max. Marks: 80

Instructions : a) All questions are compulsory.
b) All questions carry equal marks.
1. Answer thefollowing (any 4) : 16
1) Explain queued and non-queued messages.
2) Explainthe concept of valid and invalid rectangles.
3) What are Keystrokes ? What will be the values of LPARAM and WPARAM ?
4) How to use DLL'sin C and C++ Programs ?

5) What is common dialog box ? How to use them within application ?

2. State true or false and justify your answer (any 4). 16
1) Timer messages are not asynchronous.
2) Functionality of child window can be modified.
3) Anapplication requiring i/Pfocus calls create during WM—-CREATE message.
4) WM-Paint messageis generated only when window isresized.
5) Peekmessage () write for amessage to be placed in application message queue
beforereturning.
3. Answer thefollowing (any 8). 16
1) Explain Pages and Page tables.
2) Explainthetermregion.
3) How to execute and create shell program ?
4) Givethetypical interrupt levels.

5) DefineKerndl.
P.T.O.
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6) Explain Keystroke message.
7) Write message |oop.

8) What is GDI ?

9) What iscall back function ?

10) What are the different window resources ?

4. Attempt thefollowing (any 4) :

1) Create 2 push buttons “ADD and DEL". Read a string from the edit box and
push it in thelist box. Make the list box empty.

2) Theclient areahastwo control button ‘Grow’ and ‘ Shrink’, when first buttonis
clicked, window size increases while when the second button is clicked, it
decreases.

3) Display numbers 10, 20, 30, -------- 100 inwordsin client areaon separatelines.
4) Explain decission control statement of shell.

5) Write ashell program to accept file name and count the number of words, lines
and charactersin thefile.

5. Answer thefollowing (any 4).
1) Givethe scenarios for read and write pipes.
2) Explain process states and transitions.
3) Givethedifference between wait and exit.
4) What is Process Creation ? Explain the algorithm fork.
5) Explain Unix System architecture.

16

16

B/I/11/195
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M.C.A. (Commerce Faculty) (Semester — III) Examination, 2011
302 : HARDWARE CONFIGURATION AND SOLUTIONS

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Give illustrations wherever necessary.

1. Answer thefollowing (any four) : (4x4=16)
a) What are different types of memory used ?
b) What is Port ? Explain different types of Ports.
c) Why CPU is called asthe brain of a PC ?
d) Explain briefly the working of CRT monitor.
e) Explain working of Hard disk.

2. Answer thefollowing (any four) : (4x4=16)
a Whatispartitioning ? Explain different types of partitioning.
b) Explain briefly boot processing steps.
c) Explain briefly update and un-installation of devicedrivers.
d) Write short note on FAT 32.
€) Explain briefly the stepsto set up wired Network.

3. Answer thefollowing (any four) : (4x4=16)
a) Write any four memory trouble shooting problems.
b) What is Network Administration ?
c) Explain briefly Adjust Method.
d) ExplainPhysical layer issues.
€) What isfunction of File-server ?

P.T.O.
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4. Answer thefollowing (any four) : (4x4=16)
a) Explain briefly Network Performance problems.
b) Explainbriefly thevarious steps of Printer Installation.
c) Explain briefly address resolution problems.
d) Explainbriefly twisted pair cable.
€) Write a note on concept of color codes.

5. Write short note on the following (any four) : (4x4=16)
a) Gigabit
b) Internet working issues
c) Mouse
d) Routers
e) Printer Ports.

B/1/11/220
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M.C.A. (Commerce Faculty) (Semester — III) Examination, 2011
303 : ENTERPRISE RESOURCE PLANNING AND MANAGEMENT

Time: 3Hours Max. Marks: 80

N.B. : 1) Solve any five questions.
2) Figures to the right indicate marks.
3) Give illustrations, draw diagrams wherever necessary.

1. What do you understand by OLAP ? Explain in detail Data Mining. 16
2. What is ERP ? What are the characteristics of ERP systems ? 16
3. What do you understand by EDI ? How EDI works ? 16
4. List out any four ERP vendors. Explain about each one of them in brief. 16
5. Explain in details business process re-engineering and process improvement. 16
6. Describe the ERP implementation approaches. 16
7. Explainthefollowing: 16

a BAAN b) People Soft

c) SAP d) J.D. Edward.

8. What are Enterprise Systems ? How Enterprise System Works ? 16

B/I/11/195
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M.C.A. (Commerce Faculty) (Semester — III) Examination, 2011
304 : BUSINESS STRATEGIES

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) Each question carry equal marks.
1. Answer thefollowing questions (any 4) :
a) What do you mean by strategy ? State growth strategy.
b) State the importance of objectives in business strategy.
c) Explainthe concept of Environmental Scanning.
d) Write anote on SWOT analysis.

€) Explain the concept of production policies.

2. Attempt any four of the following :
a) Stateand explainthefunctional level strategies.
b) State and explain the factors to be considered in environmental appraisal.
c) What arethe external environmental factorswhich influence strategy ?
d) Discusstheissuesin strategy implementation.

€) Statethe characteristics of strategic decision making.

3. Attempt any two of the following :
a) Describe the factors affecting strategic choice.
b) Explain MergersandAcquisitionswith suitable examples.

c) Explaindifferent typesof strategies. Explain with suitable examples.

P.T.O.
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4. Write short notes (any four) :
a) Horizontal Integration
b) Elementsof mission statement
c) Strategy Formulation
d) Advantagesof strategic advantage analysis
€) Strategic control.

B/l/11/245
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M.C.A. (Commerce Faculty) (Semester — III) Examination, 2011
305: CYBER LAW AND ETHICS

Time: 3Hours Max. Marks: 80
Instructions : All questions are compulsory.

1. Attempt any four of the following : (4x4=16)
a How Insurance and Internet arerelated ? Explain.
b) Explain Dispatch of electronic records of IT Act, 2000.
c) Explainthe concept validity of electronic transaction.
d) Explain Dichotomy of offer and Invitation to treat.
€) Listand explaintypesof victimsof stalking.

2. Attempt any four of the following : (4x4=16)
a) Explain UDPAttack.
b) Explain securedigital signature of IT Act, 2000.
c) IsHacking cyber crime? Explainin details.
d) What ismirror imagerule ? What are the application of mirror imagerule ?
€) Explain Internet crimes and Web Based crimes.

3. Attempt any four of thefollowing: (4x4=16)
a) What are advantages of cyber law ? Explain.
b) Explain computer virusesin details.

c) Explain Public Key Encryption. What are the advantages of Public Key
Encryption ?

d) List down the mistakein E-Commerce.
e) Givethe classification of challenge posed by cyber crimes.

P.T.O.
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4. Attempt any four of the following : (4x4=16)
a) ExplainJurisdictionin detail.
b) Listall theregulationsof CertifyingAuthorities.
c) Explaintheconcept of Elliptic curve Digital Signature.
d) Explainextend of cyber stalking.
€) List down the common targets of computer crimes.

5. Attempt any four of the following : (4x4=16)
a) How partiesareidentified in E-commers ?
b) Explain moral’sand ethics and how they are related.
c) Iscyber agift or acurse to society ? Comment.
d) Explainpreventiveguidelinefor victimsof stalking.

e) Give the Indian schema of offences and punishment provided under IT Act.

B/1/11/200



RN RO [3970] - 366

M.C.A. (Commerce Faculty) (Semester — III) Examination, 2011
306 : FINANCIAL AND INVESTMENT ANALYSIS

Time: 3Hours Max. Marks: 80

N.B. : All questions are compulsory and carry equal marks.

1. What isMutual Fund ? State in brief the RBI guidelines on Mutual Fund.
OR
What do you understand by ‘ Derivative Trading’ ? Explain the various categories
of derivativetrading.
2. What is‘ Technical Analysis ? Explain the varioustools of Technical Analysis.
OR
What is Primary and Secondary market ? Explain theimportant regul ationsrelating
to the Primary Market.
3. What do you understand by Portfolio Investment Performance ? Explain the various
components of Portfolio Investment Performance.
OR
What is‘ Diversification’ ? Explain the various methods of effecting diversification.
4. What is MARKOWITZ Model ? Explain the assumptions and parameters of
Markowitz diversification.
OR

What is‘ Company Analysis ? Explain in detail how company analysisis made.

5. Write detailed notes on any two of the following :
a O.T.C.E.l
b) Risk and Return
c) Market Indicators
d) Industry Analysis.

B/I/11/195
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M.Com. (Part — II) Examination, 2011
RESEARCH METHODOLOGY AND CASE STUDIES
(Advanced Banking and Finance) (Optional)
Paper - IV
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

N.B.: 1) All questions in Section I are compulsory.
2) Attempt any two questions from Section II.
3) Write both the Sections in the same answer-book.
4) Figures to the right indicate full marks.

SECTION — |
1. Explainin detail the sources of data collection. 15
OR
Explain the importance and types of Research. 15
2. Define sampling. Explain the various methods of sampling. 15
OR

What is Research Design ? Explain the need and features of Research design. 15

3. Write notes (any two) : 20
a) Types of Research Report
b) Importance of Hypothesis
c) Importance of Questionnaire
d) Classification of data.

SECTION — 11

4. Mr. Avinash Sharmaisacustomer of Ideal Bank. He deposits valuables with the
Bank. The Bank has the duty to keep them properly and return them to
Mr. Avinash Sharma when demanded. In this case Mr. Avinash Sharma is the
beneficiary and Ideal Bank actsasatrustee. In view of this relationship between
the customer and the banker, give your comments on the following : 25

I) Can ldeal Bank use the valuablesfor its own use ?

i) Why does Mr. Avinash Sharma find the bank more suitable to perform the
services of trustee ascompared to individual trustee ? Give atleast three reasons.

P.T.O.
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i) State three precautions that a banker should take while performing the duties
as atrustee.

Iv) lIdeal Bank acts as a bailee in this case. Comment on the bailee — bailor
relationship.

5. Mr. Akshay Kumar opens a savings account with New Commercia Bank Ltd.
The Bank issues a Pass-book and a cheque-book to Mr. Akshay Kumar. He
deposits his savingsin the account and withdraws money occasionally. The bank
ensures that Mr. Akshay Kumar satisfies ‘Know Your Customer’ (KY C) norms.

In thelight of the above case, give suitable explanation on thefollowing aspects: 25

1) 1sMr. Akshay Kumar required to keep a minimum balance with the bank ?1s

there any restriction regarding the number of withdrawals from the savings
bank account ?

i) Why is introduction of the account holder required for opening a savings
account ? Who can introduce a customer to the bank ?
i) State any three legal aspects regarding savings bank account.
Iv) State any three features of savings bank account.
v) What are KY C norms ?

6. A customer has a savings account with Bank of India. The bank issues a debit
card to the customer. The customer can use the card for making purchases and

also useit asATM card. With reference to this, give explanatory answersto the
following: 25

1) What is a debit card ? What should the customer do if his card is lost or
stolen ?

i) What isanAutomated Teller Machine (ATM) ?What arethe servicesavailable
a ATMs?

i) Isthere any minimum and maximum cash withdrawal limit per day atATM ?
Iv) Do banks levy any service charge for use of ATMs of other banks ?

v) What are the benefits of ATMs to a) Customers and b) Banks ?
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M.Com. (Part — I) Examination, 2011
Group-A : Advanced Accounting and Taxation
BUSINESS TAXATION (Optional Paper)
(Annual Pattern)

Time: 3Hours Max. Marks: 100

Notes : 1) All questions are compulsory.
2) Figures to the right indicate full marks allotted to the
question.
3) Read all the questions very carefully before attempting the
same.
4) Level of knowledge — advanced (As per syllabus).

1. A) Briefly explain the provisionsin respect of input credit Service Tax under

Service Tax rules. 5

B) Briefly explainthe provisionsin relation to charging of interest under Service
Tax rules. 5
2. Write short notes on any three of the following : 12

1) Vauation date under Wealth Tax Act, 1957.

2) E-filing of Income-Tax Return.

3) Tax onincome under the head ‘Long-Term Capital gains'.

4) Scheme of computation of income of a transporter on presumptive basis.
5) Remuneration salaries payable by the firm to the partners.

6) Interest payable by the government to the assessee on income-tax refund.

3. Answer any three of thefollowing: 15

A) Briefly state the provisions of Income-Tax Act, 1961, relating to filing of Tax
deducted at source returns.

B) Briefly state the provisions of Finance Act, 2010, relating to Taxes for
non-resident femaletaxpayers.

C) Briefly state the provisions of Income-Tax Act, 1961, relating to computation
of Indexed Cost of acquisition of alLong-term capital asset.

P.T.O.
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D) Briefly state the provisions of Income-Tax Act, 1961, relating to filling of
appeal before Income-Tax appellate Tribunal .

E) Briefly state the provisions of Income-Tax Act, 1961, relating to revision by

the commissioner of Income Tax under Section 263.
4. Shri Rahul Gandhi had following assets and liabilitieson 31% March 2011 :

1) Gold and silver held as stock intrade Rs. 5 crores

2) Cash credit against stock Rs. 2 crores

3) Building at W.D.V. Rs. 2 crores, (used for hisjewellery shop)
(Government valuation of the same on 31.03.2011 was Rs. 7.20 crores).

4) Disputed VAT payable Rs. 12,50,500/-

5) Wealth-tax duefor theA.Y. 2010-2011 Rs. 45,500/-

6) Loan taken against above building for marriage of his son — Rs. 75 lakhs.
What is your advice to Mr. Gandhi regarding his wealth-tax return for the
A.Y.2011-20127? 7

5. Mrs. Obama submits the following particulars of her income for the previous
year 2010-2011 :

1) Interest on recognised Provident Fund account @ 12.5% from her employer
— Rs. 1,50,000/-

2) Interest received on Public Provident Fund account — Rs. 4,60,000/-

3) Interest charged on self-occupied residential house property (with her 20%
ownership share in this house) construction loan (taken in the previous year
2006-2007) @ 12.5% — Rs. 1,80,000/-. Out of this, she paid an interest of
Rs. 1,44,000 during the previous year 2010-2011.

4) Interest received on capital inapartnership firm asapartner inthesaid firm —
Rs. 1,70,000/-

5) Interest received on fixed deposits @ 12% from Bank of India after 10%
Income-tax deducted at source — Rs. 10,80,000/-

Find out her net IncomeTax liability for A.Y. 2011-2012 assuming that she
had deposited Rs. 70,000/- in PPF account. 12
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6. Adarsha Consumers Co-operative Society Ltd. of Mumbai submits you the
following particularsfor the previousyear 2010-2011 :

1) Net profit as per Profit and Loss Account — Rs. 7,50,000/-

Itincludesthefollowing:

a) Interest received on various Co-operative bank fixed deposit accounts Rs.
3,00,000/-

b) Dividend received (1) from PuneDistrict Central Co-operative Bank Ltd. Rs.
10,000/- and (2) Rs. 15,000/- received from ICICI Bank Ltd.

Find out itstax liability for theA.Y. 2011-2012. 10

7. 21% Century Ltd. submit you the following particulars for the previous year
2010-2011 :

1) Income tax due by it Rs. 7,20,000/-
2) Tax deducted at source by the said Company Rs. 3,50,000/-
3) Out of No. 2 above, actual tax paid by said Company Rs. 1,50,000/-

4) Tax deducted at source on behalf of the saidd Company Rs. 6,80,000/- by
other tax deductors.

5) Refund due to the said Company from Income-Tax department for
A.Y. 2010-2011 — Rs. 6,50,000/-

6) Disputed tax liability for theA.Y. 2007-2008 Rs. 2,50,000/-

7) It paid anincome-tax of Rs. 40,000/- for the current previous year 2010-2011
on 15" March, 2011.

Find out installments of advancetax due by the said company for the said previous
year with your remarks. 12
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8. Shri Chidambaram submitsyou following particulars of hisincomefor the previous

10.

year 2010-2011 and asksyou to compute hisincome-tax liability for the said year.

1) Income from salaries Rs. 4,60,000/-

2) Income from business (-) Rs. 1,35,000/-

3) Income from long-term capital gains (-) Rs. 45,000/-

4) Interest on bank account after 10% tax deducted at source Rs. 36,000/-
5) Investment in National Savings Certificates Rs. 1,00,000/-

6) Donation of medicines worth Rs. 45,000/- to Primary Health Centre at his
village approved by Maharashtra Government. 10

Mr. Amar Rastewalais a contractor engaged in construction of roads. During
the previous year 2010-2011, he received net amounts of Rs. 34,65,000/-
after deduction of Income-Tax @ 1.00%. He seeks your advice on finding
out income from this business for the previous year 2008-2009. What will be
your suggestion ? 6

On 12" February 2011, Mrs. Laxmi got arefund of Rs. 7,500/- for the assessment
year 2009-2010. Tax duefor the said assessment year was Rs. 89,000/-. Advance
Tax and Income-Tax deducted at source amounted in all to Rs. 96,500/-. The
return for the assessment year 2009-2010 was filed before due date. Mrs. Laxmi

had proposed to complain to the Income-Tax officer regarding non-receipt of
interest on refund of income-tax of Rs. 7,500/-. Astax consultant, what will be
your adviseto her ? 6

B/I/11/1,140
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M.Com. (Semester — IV) Examination, 2011
CAPITAL MARKETS AND FINANCIAL SERVICES
(2008 Pattern) (New)

(Compulsory Paper)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. What do you mean by ‘ Capital Market’ ? State and describe various instruments
in capital market.

OR
1. A) Explainthecharacteristicsof capital market.
B) Describe in detail the Forward Contracts.

2. What is Stock Market ? Describe in detail the primary market and secondary
market.

OR
2. Writenoteson :
A) Bombay Stock Exchange (BSE).
B) Over the Counter Exchange of India (OJCEI).

3. Explaintheterm ‘Mutual Funds . Describe in detail the various types of Mutual
Funds.

OR
3. What isCredit Rating ? Describein detail the various credit rating institutions.

4. What is Securities and Exchange Board of India (SEBI) ? Explain the powers
and functions of SEBI.

OR
4. A) Explainthe advantagesof listing.
B) Explaintheterm External Commercial Borrowing (ECB).

P.T.O.
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5. Write short notes on (any four) :
a) Structure of Capital Market.
b) National Stock Exchange.
c) Central ListingAuthority (CLA) Regulation—2003.
d) Portfolio Management.
e) Background of SEBI.
f) Foreign Institutional Investors(FlIs).
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M.Com. (Semester — 1V) Examination, 2011
GLOBAL INDUSTRIAL ENVIRONMENT
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : i) All questions are compulsory.
ii) All questions carry equal marks.
iii) Answers should be precise and to the point.

1. Review the Industrial progressin Indiasince 1991.
OR

State and explain the Internal Sources of Industrial Finance.

2. Write short notes (any two) :
a) Methodsof Privatization.
b) Information Technology Industry inIndia
c) Featuresof Industrial Labour.
d) Traditiona Indian Handicrafts.

3. What isForeign Capital ? Explainin detail therole of Foreign Capital.
OR

State and explain the Present Problems of Indian industrial labour.

4. What isMultinational Corporations ? Explain the advantages and disadvantages
of Multinational Corporation.

OR

State and explain the progress and problems of Agro allied Industry.

P.T.O.
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5. Write short notes (any two) :
a) Industrial Policy 1991.
b) Contract Labour.
c) Effects of Globalisation on Indian Industry.
d) Foreign Capital Policy Since 1991.
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M.Com. (Semester — 1V) Examination, 2011
OPERATIONS RESEARCH
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.
4) Symbols and abbreviations have their usual meaning.
1. Attempt any four of the following : 20

a) Writedual of thefollowing L PP.
Minimize z=1200x, + 1600 x,

subject to :

20X, +40x,=>10
10x,+10x, =4
X;20, x,20

b) Given thefollowing pay-off of adecision problem:

Market condition
Model
Excellent Good Fair Poor
Delux 60,000 28,000 18,000 8,000
Janata 78,000 30,000 8,000 @ - 12,000

If the probabilities of market conditionsare 0.2, 0.4, 0.3, 0.1 respectively,
suggest best decision.

P.T.O.
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c) Obtain initial solution to the following Transportation problem by North-
West corner rule.

Markets
Factory
M, M, M, M, | Supply
F, 75 80 70 0 75
F, 50 80 55 0 50
Demand 20 25 40 40 125

d) Determinethe shortest route from node 1 to node 6 in thefollowing network.

[o®

,ff” \ {5@

e) Explainuseof (i) slack (ii) surplus (iii) artificial variablein solving L PP,
f) Define (i) Two person zero sum game (ii) Fair game.
2. Attempt any four of thefollowing : 20

a) Solvethefollowing gameandfinditsvalue:

Y
Y, Y, Y, Y, Y,
X, 9 3 1 8 0
XX |6 55 6 7
X, 2 4 3 3 8
X, 5 6 2 2 1
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b) Obtaininitial solution tothefollowing TP by matrix minimamethod :

Destinations
Origins
P Q R | Supply
A 13 11 8 30
B 14 16 13 40
C 12 10 12 20
Demand 45 35 20 100

c) Given thefollowing pay - off matrix of a decision problem. Obtain the best
decision using minimax regret criterion.

Stock Demand (No. of units)
(No. of units) 9 10 1 12

9 36 36 36 36
10 32 40 40 40
11 28 36 44 4
12 24 32 40 48

d) Describe maximum flow network model with suitable example. Defineacut
and capacity of acut in thismodel.

€) What do you mean by unbalanced Transportation Problem (T.P) ? Describe
the method to balance an unbalanced Transportation problem. How will you
convert maximation type of problem in T.P. to minimization type ?
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f) Whileusing simplex method, when arethefollowing specia casesidentified :
1) Degeneracy
i) Multipleoptimal solution
i) Unbounded solution

Iv) Infeasiblesolution.
3. Attempt any four of the following : 20

a) A table given below has been taken from the solution procedure of a

transportation problem involving minimization of cost (in Rs.)

Stockists
Factories
S S, S, S, Supply
19 30 50 10
A 70
)
70 30 40 60
B 90
40 10 40 20
C 180
Demand 50 80 70 140 340

|sthe solution optimal ? Justify.
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b) Explainthetermswithanexample:
1) Node
i) Arc
i) Network
Iv) Flow

c) What isdecision making ? Describe any 3 criteriaof decision making.

d) Obtaininitial solutionto thefollowingTransportation problem usingVogel’'s
Approximation Method (VAM) :

Outlets
@) @) @) @) Supply

1 2 3 4

F 21 16 25 13 11

1

17 18 14 23

Factories F2 13
F, 32 27 18 41 19
Demand 6 10 12 15 43

e) Preparetheinitial ssimplex table and carry out oneiteration for the following
Linear Programming Problem.

Min z=3x; +2X,
subject to:

4X,+ 2%, 24
3Xq +4x,212
X;20, X,20

f) Explain with an example the concept of dominancein ‘ Game theory’.
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4. Attempt any two of the following : 20

a) Solvethefollowing game and also find the value of the game.

B——> B, B, B

A [ 1 6 5

Aq

Ayl O 4 3
A—

Azl 5 6 0

A4l—2 5 3

b) With mathematica formulation, describe atransportation problem as particular
case of aLinear programming problem.

c) Solvethefollowing L.P.P. by ssmplex method :
Maximize z=2x, + 8x,

Subject to :

5x,; +10x, =150
X;<20

X,<14

X;20, X, =20

5. Attempt any two of the following : 20

a) An authorised dealer of apopular brand of refrigerator finds that the cost of
holding aunit in stock for aweek is% 500. The loss of each customer to the
dealer calculated atX 2,500 /-,As customerswho cannot get anew refrigerator
tends to go to other dealers. Based on past experience the weekly demand
ranges between 0 to 4. Construct pay-off matrix. Determine best decision
using:

1) Maximin i) Maximax
i) Laplace IV) Hurwicz o criterion (o, = 0.6).
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b) What is minimum cost capacitated network problem ? [llustrate it with an

example. Describe the steps of solving such problem.

c) A TV cable company has received contracts for 5 housing projects. The
linkage and the cable kilometers are indicated in the following diagram. If
node numbered 1 is the source and the rest are the projects. Find most

economical network using spanning tree algorithm.

B/1/11/1,295
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M.Com. (Semester — V) Examination, 2011
Gr-A : Paper — VII : Advanced Accounting and Taxation
RECENT ADVANCES IN ACCOUNTING, TAXATION AND AUDITING
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) Attempt all questions.
2) All questions carry equal marks.
3) Figures at right hand indicate full marks.

1. What doyou mean by “Transfer Pricing” ? State the different methods of transfer

pricing and explain the benefits and limitations of market price method. 20
2. “Direct Tax Code—2009 isareal relief” Discuss. 20
OR
2. “New Dimensions of Carbon Credit Trading Accounting and Taxation —A boon
for Globa warming and climate change” . Discuss. 20

3. What do you mean by the* CreativeAccounting” ? Do you think that the collapse
of Enron is caused by the creative accounting ? Explain and evaluate whether
credible accounting is a solution to creative accounting. 20

4. What do you mean by strategic management accounting technique ? From the
following data you are requested to calculate the Economic Profit of Menron
Co-Ltd.

$
Operating profit after tax 2,50,000
Capital Employed 10,00,000
Cost of capital 10%
and explain the advantages of the strategic management accounting. 20
OR
4. Explainthedifferent valuation approaches, you may suggest for valuing Intellectud
property for itsinclusion in Balance Sheet. 20

P.T.O.
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5. Write short notes (any four) :
a) Convergence of Indian GAAP with IFRS
b) GST
c) Responsibility Accounting
d) Accounting for BPO
€) XBRL (extensive businessreporting language)
f) Accounting for human resources

g) Accounting for derivatives. 20

B/l/11/3,710
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M.Com. (Semester — 1V) Examination, 2011
Group - B : ADVANCED COST ACCOUNTING AND COST SYSTEMS
Special Paper — VII
[Recent Advances in Cost Accounting and Cost Systems]
(2008 Pattern) (New)
Time: 3 Hours Max. Marks: 100

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Define the following terms in one sentence only as per ‘CAS'. 10
1) Cost unit i) Freight
lii) Direct materials Iv) Abnormal cost
V) Finance cost vi) Overheads

vii) Primary packing Material  viil) Regects

B) Write short notes on the following as per ‘CAS' (any two) : 10
1) Employee cost
i) Packing material cost
iii) Direct expenses
iv) Classification of cost.

2. A) What is‘ERP ? What are the main reasons for ERP implementation ? 10

B) Explain the problems in Productivity Audit. 10
3. What isa‘Five S ? Explain the benefits of the ‘Five S system. 20
4. What is VAT Audit ? Explain the issues covered by VAT Audit while it is

being conducted. 20
5. A) Explain the methods of six sigma. 10

B) Comment on the Article published in the journal ‘The Management
Accountant’ (August 2010) on ‘The Application of the Activity Based
costing in Logistics costs . By B. Ramesh. 10

B/I/11/2,415
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M.Com. (Semester — IV) Examination, 2011
Gr.B : ADVANCED COST ACCOUNTING AND COST SYSTEMS (Optional)
(Spl. Paper - VIII)
Case Studies in Adv. Cost Accounting and Cost System
(2008 Pattern) (New)

Time: 3Hours Total Marks: 100

Instructions : 1) Attempt any four questions.
2) All questions carry equal marks.
3) Use of non-programmable calculator is allowed.

1. Shyam Sunder company, Nasik has the option to procure a particular material
from two sources.

Source one assuresthat defectiveswill not be more than 2% of supplied quantity.

Second source does not give any assurance, but on the basis of past experience
of suppliesreceived fromiit, it is observed that defective percentageis 2.8%.

The company is about to select the first source being more economical but the
second source suppliesthelot at aprice, which islower by Rs. 100 as compared
to first source. The defective units of material can berectified for use at a cost of
Rs. 5 per unit. In both casesthe materia issuppliedinlotsof 1000 units. Comment
on the decision of the company and see whether first sourceisreally economical
or otherwise, support your comment with necessary calculation. 25

2. Charak Company Ltd. manufactures two types of herba products A and B. Its
budget shows profit after apportioning the fixed joint cost of Rs. 15 lacsin the
proportion of the number of units sold. The company seeks your advise on the
best option among the following, if it is expected that the number of unitsto be
sold would be equal.

Option - 1
Dueto change in a manufacturing process, the joint fixed cost would be reduced
by 15% and the variables would be increased by 7 ¥2%.

Option - II

Price of A could be increased by 20% as it is expected that the price elasticity of

demand would be unity over the range of price.
P.T.O.



Option - III
Simultaneous introduction of both the optionsi.e. | and Il above

The company’s budget for 2009-10 indicates —

A B
Profit Rs. 1,50,000 30,000
Sdlling price/unit Rs. 200 120
P/V Ratio (%) 40 50

. The Compromise Co.Ltd. needs a component in an assembly operation. If it
wants to do the manufacturing itself, it would need to buy a machine for Rs-4
lakhswhichwill last for 4 yearswith no salvage value. Manufacturing cost in each
of the 4 years would be Rs. 6 lakhs, Rs. 7 lakhs, Rs. 8 lakhs and Rs. 10 lakhs
respectively. If the firm had to buy the components from a supplier, the cost
would be Rs. 9 lakhs, Rs. 10 lakhs, Rs. 11 lakhs and Rs. 14 lakhs respectively in
each of the four years. However, the machine would occupy floor space which
would have been used for another machine. Thislatter machinewould be hired at
no cost to manufacture an item, the sale of which would produce net cash flows
in each of the 4 years of Rs. 2 lakhs. It isimpossible to find room for both the
machines and there are no other external effects. The cost of capital is 10% and
the present value factor for each of the four years is 0.909, 0.826, 0.751 and
0.683 respectively. The company is confused whether to make the components
or buy from the supplier and asks your suggestion to maximise its profit.

. High Speed Company presently brings coal to its factory from a near by yard
and the rate paid for transportation of coal from the yard located 6 km away to
factory is Rs. 50 per tonne. The total coal to be handled in a month is
24000 tonnes.

The company is considering proposal to buy its own truck and has the option of
buying either a 10 tonnes capacity or a 8 tonnes capacity truck to save the
transportation cost, the company management thinks that it 8 tonnes capacity
truck is purchased, it will save huge capital investment, advise the company.

[3970] — 407 2- R0 O
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25
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The company provides other information as under :

10 tonnes 8 tonnes
Truck Truck

Purchase price Rs. 10,00,000  8,50,000
Life-years 5 5
Scrap value at the end of 5th year Nil Nil
Km per litre of diesel 3 4
Repairs and maintenance p.a. per truck 60,000 48,000
Other fixed expns p.a. 60,000 36,000
L ubricants and sundries per 100 km 20 20

Each truck will daily make 5 trips (to and fro) on an average for 24 daysin a
month. Cost of diesel Rs. 15 per litre. Salary of drivers Rs. 3000 per month-two
driverswill berequired for atruck.

Other expenses Rs. 1,08,000 p.a. 25

5. Yeshaswi Ltd. makes and sells two products, Y and W. The company has two
production/sales options. The Y and W can be sold either in the ratio of two Y
and threeW or in theratio of oneY and two W. Considering the following other
information hel p the management in selecting the optimal mix.
The budgeted selling price of Y is Rs. 1800 and that of W is Rs. 2160.
Variable costs associated with producing and selling theY are Rs. 900 and
with W Rs. 1800. Annual fixed production and selling costs of Yeshaswi Ltd. are
Rs. 88,000. 25

B/l/11/2,015
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M.Com. (Semester — 1V) Examination, 2011
Gr.C : (Business Practices and Environment)
Spl. Paper — VII : RECENT ADVANCES IN BUSINESS PRACTICES AND
ENVIRONMENT
(2008 Pattern) (New)
Time: 3Hours Max. Marks: 100

Note : i) All questions are compulsory.
ii) Each question carries 20 marks.

1. Explainthebackground, objectivesand digibility for assistance under Rgjiv Gandhi
Udyami MitraScheme.

OR

1. Explainthe policy objective, policy targets and the policy strategies of Industrial
Investment and Infrastructural Policy of Maharashtra-2006.

2. Explain the process of empanelment of Udyami Mitras.
OR

2. Describein detail the promotional and financial incentives offered by Industria
Investment and Infrastructural Policy of Maharashtra-2006 for development of
agro processing units,

3. Tracetheevolution of Self Help Groupsin India
OR

3. Explain the modus operandi of formation of Self Help Groupsin India.

4. Explaintheroleof internal auditor of acompany with special referenceto reflection
of environmental considerationsin the statutory financial statements.

OR

4. Explain the meaning, objectives and importance of Corporate Governance.
5. Write short notes (any 4) :

a) Cluster approach for development

b) Servicetrainingingtitute

c) Urban Haat

d) Typesof environmental audits

€) Advantages of self help groups

f) Transparency in corporate reporting.

P.T.O.
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M.Com. (Semester — 1V) Examination, 2011
Gr.D : BUSINESS ADMINISTRATION

Spl. Paper — VII : Recent Advances in Business Administration
(2008 Pattern) (New)

Time: 3 Hours Max. Marks:; 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. ‘Resistance to change is an irrational response’ Do you agree or disagree ?
Discuss the forces for change and causes of resistance to change.

OR

What do you mean by ‘Management of change ? Describe the Kurt Lewin’s
3 phase change process.

2. What do you mean by TQM ? What are the objectives of TQOM and state its
features?

OR
Describe five ‘'S system of quality management.

3. What is global management ? What mgjor players and factors will a business
have to take into account for entering another country ?

OR

‘The skill of cross cultural management plays a very vital role in business in
the era of globalization’ . Discuss.

4. Explain turn-around process. What are the remedies used to turn sick business
around ?

OR

What do you mean by re-structuring of business ? Discuss various strategies of
business re-structuring.

P.T.O.
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5. Write notes (any two) :
A) Features of E.R.P.
B) Kaizen
C) The change agents
D) Computer and E.R.P.

E) Current trends in merger.

TS TUTR
EAT: §) TF 97 HTTITH T84,
?) @ JIIT GHTT T 378,

9. TG SiiehR B STRITTER JidETe 3R g aT=aTeil §eHd ST i STHeHd 18T ¢ 98d
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2. HYUl TUE e (TQM) Im= greTenl i sTefee gral ? f.a,uy. =i 3ferel @
Afres=r |
feran
TUTST SHEATIAT= 9T O (Fives) Tgd T8 .

3. Afie YT TEUN S 7 GHT TETE QYITHES TSl e SIosuTT=aT STad T ShivTd U&l
(players) o v e (Factors) femma siaet ifesid 7

feRar

SR TSROTI=RT ShICTEETd STTaRE T Toh AETI hi¥Ted THTITd e fHeR SreTard

<=1 .



[3970] — 410

¥, JTESa- SFaEITIAT= Tish T2 . TETE TSN ST SiSiareaedd SureErdt

HIUTd IYTT 3TTed 7

feRar

I OA: W1 W60 i ¢ gH: et (Re-structuring) fiftresn St ==t

.
4. feurforer (2M)

37) 3.371. Y. =t Sfsreesr

&) g (Kaizen)

%) a0 TS VIR HHh

T) IS AT 3. AR, d.

o oo

3) focfHisom= geuldial e T,

B/l/11/4,595



RO [3970] - 411

M.Com. (Semester — 1V) Examination, 2011
Gr.D : BUSINESS ADMINISTRATION
Spl. Paper — VIII : Case Studies in Business Administration
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Note : a) Attempt all the questions.

b) Each question carries 25 marks.

1. Evaluate the strengths and weaknesses of case study approach as a means to

resolve variousissuesin the management of the company.

OR

1. Explainthe meaning and scope of BusinessAdministration with referenceto any

organization of your choice.

2. X Ltd. isengaged in export of flowersto European countries. It hasits estatesin
the surroundings of Lonavla, in Pune District. Its average annual turnover isin
the range of 10 — 12 crores during last three years. It has been observed during
last quarter of the year that its export income has been showing areducing trend.
Market has become volatile and margin on sales is declining. You have been
appointed as the management consultant to evaluate the problem and report to
the management about your recommendations to boost the sales for the
year 2011-12. Your report must analyze the existing problem and remedial
measures to overcome it through the marketing strategy. You may assume any
logical datafor designing the report.

OR
P.T.O.
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2. YoursisaKPO firm dealing with software solutionsfor the client specific problems.
Your organization has hired 400 employees with multi skill qualities. You arein
the market since 2009. You have achieved average annual earningsof 2.5 billions
equivalents to Indian rupees. You now have set a target to quadruplicate the
earnings in the two years to come. You have to hire and train a team of another
100 personsto achieve this target. Suggest a scheme of recruitment for these
personnel and also design atraining programmeto set forth these newly recruited
personsto their mission. For this purpose you are allowed to assume any logical
data base.

3. X Ltd. specidizesintheinstallation of heating and air conditioning equipmentina
metropolitan area of about one million people. Although the company usually
installs nationally equipment, it engages in limited manufacturing of certain
components needed for commercia installations. Since it was established some
forty years ago, the company has earned areputation for quality work.

Prabhu Lal has been with the company as a sales representative for two years.
During this period he believes that the company has missed a number of
opportunities to obtain lucrative contracts because of the condition under which
he is forced to operate. Particularly in the case of commercial installations, he
does not have the authority to make any decision or commitments during
preliminary contract negotiations. He has to postpone discussion of price,
completion time, and credit termsuntil after each of the technical expertsinthese
areas has studied the job and made forma commitments. By this time, some
competing firm already completes negotiations and gets the contract. Prabhu Lal
considers this a continuing problem, and feels hampered.

a) Inwhat respects do you thank Prabhu Lal isjustified in hiscomplaint ?
b) What can be done on a company-wide basis to improve the situation ?

OR
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3. You have been working as Manager — Production in an automobile manufacturing
company. Your company manufactures two wheeler bikes. The market of your
brand isflourishing and thereis an increasing demand for your vehicles. In view
of this, the top management of your company has laid down a schedule of daily
production of final productsto be okayed by your department, failingwhichitis
afraid that you will not be ableto meet the demand, whichin turn will be affecting
your market share.

As aManager-Production write an exhaustive note to be submitted to ‘ The Vice
President-Manufacturing’. Your note should include the possible bottlenecks in
your endeavor to meet the daily target and the measures to remove such
bottlenecks.

For the purpose of this note any logical assumptions by you are expected.

4. Mr. JohnisaBranch Manager of Indian Bank at one of its village branches. His
staff included two clerks and an attendant. Very often Mr. John was | eft alonein
the bank after 9. p.m. to tally accounts, day books and complete all other
formalities.

On 31% March, Mr. John was working till past 2 am. tallying the accounts since
only one day wasleft for final closing. On that fateful night, the Branch Manager
was attacked by agroup of robbers, who looted Rs. 5 1akhs after brutally wounding
Mr. John’s right hand, which had to be amputated |ater. After his recovery, the
Branch Manager applied for compensation. The Bank Management was of the
opinion that the Branch Manager violated the job specification by working beyond
the stipulated hoursof work. He, intheir view, was not entitled to any compensation
astheincident occured during non-banking yours. The Bank also called for any
explanation as to why the amount lost cannot be recovered from his salary and
provident fund.
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a) Doyou justify the Bank’s stand on thisissue ?

b) Analyzethe case, point out the lacunas on the part of Bank Management and

suggest suitable course of action by Mr. John.
OR

4. COMFORT SERVICES is atravel company. They have afleet of luxury buses
with varying capacities. They areinthisbusinesssincelast 10 years. Their annual
turnover in 2010-11 was Rs. 5.6 crs. It is observed that in the year 2010-11 the
market share is reduced by 20%. The buses were flying with under utilized

occupancy.

COMFORT SERVICES have appointed you as a Business Analyst. Your task
includes study the existing business, study the impact on the business due to the
competitions and suggest aconcrete plan of action to achieve atarget of Rs. 7 crs,

fixed for the year 2011-12. Draft thisreport.
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M.Com. (Semester — IV) Examination, 2011
Group-E - COMMERCIAL LAWS AND PRACTICES
(Special Paper — VII)

Recent Advances in Commercial Laws and Practices
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. A) What are the main objects of Information Technology Act 2002 ? 10
B) Explainthe CertifyingAuthoritiesand Retention of Information. 10
OR

1. Writedetail note on “Right to Information and obligations of PublicAuthorities’. 20

2. Explainthefollowing terms: 20
A) Compulsory Registration.
B) Procedure after Registration.
C) Deposit of Wills.

OR
2. What are the objects and powers of the Securities and Exchange Board of India
Act, 1992 ? 20
3. A) Explaintheimportance of SecuritizationAct 2002. 10
B) Write detail note on Enforcement of Security Interest Act 2002. 10
OR
3. A) State the objects of Debt Recovery Act, 1993. 10
B) Write adetall note on ‘ Establishment of Appellate Tribunal’. 10

P.T.O.
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4. A) Write anote on Audit of Securities and Exchange Board of India. 10

B) Explain the duties of Public Information Officer under Right to Information. 10

OR
4. A) Explain the procedure of Tribunals under Debt Recovery Act, 1993. 10
B) State the functions of Securities and Exchange Board of India 10
5.  Write short notes (any four) : 20

a) ListingAgreement.

b) Adjudication.

c) AppellateAuthoritiesunder Right to Information.
d) Establishment of Tribunal.

€) Cyber Regulation.

f) Guidelineson sale of Financial Assetsto Securitization Company.
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M.Com. (Semester — 1V) Examination, 2011
Spl. Paper — VIII : CASE STUDIES IN COMMERCIAL LAWS AND
PRACTICES (Optional)
Gr.E. : Commercial Laws and Practices (2008 Pattern) (New)
Time: 3 Hours Max. Marks. 100

Instructions : 1) All questions carry equal marks.
2) Attempt any four cases.

1. Mr. P.M. Desai isadoctor in All India Institute of Medical Sciences invents a
machine which can delivered glucose to a patient through the skin by causing
the pores of the skin to absorb glucose and deliver it to the blood stream. The
claim of the doctor of such an invention is rebuked by medical community is
being highly improbable and useless in invention. However, when the invention
is put to demonstration it is found to be indeed effective. It is claimed by the
doctorsthat it isto be highly usefull method of treatment to diabetes by regulating
the amount of glucose supply to the blood. Now, that invention has been
strongly welcomed by the medical community, as being a new useful and
non-obvious method of treatment.

Discussin detail :
1) The legal provisionsin relation to this case as per Patent Law ; and
2) Can the doctor claim in the invention under the Law ?

2. Shri Sameer is ascientist in space research. He discusses a scientific principle
with his Colleagues. One of the Colleagues, Shri P.C. Sharma uses the principle
and invents working device based on the same principle. Another Colleagues
Shri. A.K. Bhat who was instrumental in suggesting the manner of putting in
place the arrangement of the mechanical devices claims himself that he is the
true and first inventor and applies for the patent.

Discussin detail :
1) The relevant provisions of Patent Law for the patent.
2) Is Shri A.K. Bhat entitled to apply for the patent or not ?

3) In case not, who out of the three can apply for the patent ?
P.T.O.
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3. Shri S.P. Morgan started using the mark “Container” as a trade mark for his
freight containers. He spent a huge amount on the advertisement of such freight
containers, so that they become very popular in the market. After ten years, he
applied for registration on the ground that his freight containers acquired 100%
distinctiveness. The registrar refused registration of the trade mark objecting
that the trade mark was descriptive word directly indicating the nature and
character of the goods of the trader.

Discuss the case with reference to the relevant provisions necessary for the
registration of trade mark and advise Shri S.P. Morgan to defend the registrar’s
objection.

4. Shri Anand wrote a play entitled “Hum Hindustani” in 1983. The play was
enacted in next few years in Delhi and Mumbai. It got good reviews in
well-known newspapers. The play was basically based on the theme of
provincialism and its baneful and divisive effects on the society. A film maker,
Mr. Mohan Sehgal become interested in making a film based on the play. He
heard the play from Shri Anand in his office by giving offer to him. Shri
Anand did not receive further communication from Mr. Sehgal. Thereafter,
Mr. Sehgal announed the production of a film ‘New Delhi’. The picture was
released in September 1986. From comments in the press Shri Anand felt that
the film was very much like his play, ‘Hum Hindustani’ . Thereafter, Shri Anand
himself saw the picture and felt that the film was entirely based on his play. He
felt that Shri Sehgal had dishonesty imitated the film and violated his copyright.
He therefore moved the court.

Mr. Sehgal (Relux film) claimed that they had communicated to Shri Anand
that the play might have been all right for the amateur stage but it was too
inadequate for the purpose of making a full length commercial motion picture.
The key argument of Relux film was that he could not have copyright on the
subject or idea of provincialism. Any one can adopt it in his own way. Relux
film claimed that the motion picture was quite different from the play ‘Hum
Hindustani’ initscontent, spirit and climax. Some similarities could be explained
by the fact that both were based on the idea of provincialism.

Discuss the case in detail in the light of the provisions of the Copyright Law
and advise Shri Anand to take action in the court of law.
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5. In an E-trade agreement, signature is based exclusively on asymmetric methods
or techniques. It has been described as a special door, which can be opened
with afour key lock. The two keys are on every side of door, and each of these
two keys possessed by the other party, since they have agreed on the shape and
notches in the key (public key). However, the other party is not, and none of
the parties known exactly, what kind of notches the other key will have. The
only thing is sure that the door can only be opened when the four keys arein it.
Once both the parties have locked the keys into the door it is possible to open
it and for the parties to be sure that they can negotiate through that open door
safely without being afraid that an outside might interfere in their business.
Discuss with reference to authentication of electronic records using digital
signatures.

6. Mr. Choteinstalled awebsite“chahooindia.com”. Thisisresembling the another
renowned website- “chahoo.com”. The services rendered by Mr. Chote are
similar to the services rendered by the “chahoo.com” (plaintiff).

M/s Bade and Company, which had installed “chahoo.com”, claimed that they
are global internet media, rendering services under the domain name
“chahoo.com” which wasregistered with the“Network Solution Incorporation”,
since 2000. An application for registration of trademark “chahoo” was pending
in India.

M/s Bade and Company, further claimed that they are the first in the field to
have a domain name “chahoo” and also to start web directory and provide
search services. In June, 2000, such directory was named ‘chahoo’.

Mr. Chote adopted the domain name “chahooindia.com” which is closely
resembling to the renowned name “chahoo.com”. It was found that the internet
users, who wanted to use “chahoo.com” may reach to the “chahooindia.com”.
Hence, they claimed that the act of Mr. Chote is dishonest and was tantamount
to “Cyber Squatting”.
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Mr. Chote clams that -

1) Plaintiffs trademark was not registered in India. Therefore, there could not
be any action for infringement of registered trademark.

2) There could not be an action of passing of as the defendants were not
offering goods but services.

3) The persons using internet and seeking to reach the internet site were all
technically educated and literate persons. As such there is no chance of
deception and confusion.

Discuss the claims of the parties and their legal rights with reference to Cyber
Laws and I.T. Act.
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M.Com. (Semester — IV) Examination, 2011
Group-F : CO-OPERATION AND RURAL DEVELOPMENT
(2008 Pattern) (New)

Recent Advances in Co-operation and Rural Development
Special Paper — VII

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Describethe Social responsibilities of Co-operative institutions.
OR

What policies should be adopted for building economic viability of Co-operative
institutions ?

2. Describe the various challenges posed by globalisation for Co-operatives.
OR
What measures should Co-operatives adopt for quality enhancement ?

3. “Sdf help groups have played an important rolein rural development” - Discuss.
OR

Evaluate the performance of self help groups.

4. What causes have been identified by various committees regarding farmers
suicides ?
OR

Explain the concept and need of self sustaining rural development.

5. Write short notes (any two) :
a) Sick Co-operative units
b) Marketing of self help group’s products
c) ‘Governmental measuresfor abating farmers’ suicides
d) Co-operativeleadership.
P.T.O.
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M.Com. (Semester — 1V) Examination, 2011
Gr.G : ADVANCED BANKING AND FINANCE

Spl. Paper — VII : Recent Advances in Banking and Finance
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explainthe concept of financial inclusion in detail. How do you think isit linked

to economic growth ? 20
OR
1. What isanon performing asset ? How do you think would maintenance of low
non performing assets and capital adequacy help banks ? 20
2. Explainthefollowing conceptsin detail : 20

ad RTGS and NEFT
b) Core banking.
OR

2. “Expansion of banks in non banking services has challenged the relevance of
development banks’. Comment. 20

3. What isatreasury bill ?Account for varioustypes of treasury billsbased on their
maturities. Also mention the treasury billsthat are not issued now. 20

OR
3. Explainindetail the collateralized borrowing and lending obligation. 20

4. Explain commercial paper and certificate of depositswith referenceto :
a Who can issue ?
b) Eligibility toissue.
c) Maximum amount an issuer isauthorized to raise.
d) Minimum facevalue of theinstrument.
€) Minimum and maximum termsof maturity. 20
OR
4. Explainindetail therecent developmentsinthe capital market withreferenceto: 20

a) Book building mechanismand
b) Green shoe option.

P.T.O.
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5. Write notes on (any two) : 20
a Money market mutual fund
b) Depository : Meaning and its services
c) Rationale behind mergers of banks
d) Interestratefutures.
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M.Com. (Semester — 1V) Examination, 2011
Gr.G : ADVANCED BANKING AND FINANCE
Spl. Paper — VIII : Case Studies in Adv. Banking and Finance
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) All cases carry equal marks.
2) Solve any 5 cases from the following.

1. What is the banker entitled to in the following cases - ‘General Lien’ or
‘Right of set off’ ? Explain your answers with proper reasoning.

a) Mr. ‘X’ has a deposit of valuables with your branch for safe custody. He
later borrows from your branch and does not repay.

b) ‘M.N. and Co.’ isapartnership firm. The firm isindebted to the bank. One
of the partnersof thefirm, Mr. M, hasacredit balancein his current account.

2. How will you deal with thefollowing casesasaBranchManager ? Explain with
reasons.

a) A cheque is presented for payment where amount mentioned in words is
different from the amount mentioned in figures. Will you pay or return the
cheque ?

b) ‘ABCand Co’ isapartnership firmwithAjay, Benny and Chandan as partners.
The firm enjoys an overdraft limit of Rs. one lakh with a bank. The bank
receives acommunication about Mr. Ajay’s death on 20t January 2010. On
the next day of the receipt of such acommunication two cheques signed by
Mr. Ajay on 10t January 2010 are presented for payment.

3. A banker negligently creditsthe proceeds of achequethat had actually bounced.
The customer to whose account such aproceed is credited withdraws the money
assuming that the cheque was honoured. The banker realises much later that the
chegue had actually bounced and the credit to his customer’s account was a
wrongful credit. Can the banker recover thismoney from his customer ? Justify
your answe.

P.T.O.
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4. An individual wishes to open a current account with your branch. Solve the
following questions pertaining to this situation.

a) Will you permit him to open acurrent account inthe capacitiesof anindividual ?
b) Why will you ?Why will you not ?
c) Why would that individual wish to open a current account ? Explain.

d) What may deter an individual from opening a current account ?

5. Mr. Rgeev and Ms. Nidhi are husband and wife. They are senior citizens. They
hold a joint fixed deposit account with your branch. Mr. Rajiv has a savings
bank account with your branch but his wife does not. The primary holder of the
fixed depositisMs. Nidhi (Rgjeev’swife). Inspite of not being entitled to interest
tax, the bank deducted anominal tax on theinterest earned by the couple on the
fixed deposit. The bank reversed the tax payments when this was brought to the
banker’snotice. Asareversal of thispayment the banker drew achequefavouring
only the primary holder of the fixed deposit. Ms. Nidhi has no savings account
in any bank to deposit that cheque. How, as a banker, would you help her
encash thismoney ? Mention all the possibilitieswith suitable explanation.

6. What course of action can a banker take in the following cases ? Explain your
reasoning in detail.

a) Mr. Kulkarni Sameer has a credit balance in his account. The banker wants
to set this off against a cash credit in the name of Mr. Kulkarni and hiswife.

b) Mr. Sunil Kamath holds ademat and asavings bank account with abank. He
has taken a personal loan from the same bank. He has not paid the Equated
Monthly Installmentsfor thisloan regularly. An amount worth Rs. 50,000 /-
remains due against his name as on today. In the meanwhile, he sells shares
of ‘XYZ Co. Ltd.” from his Demat Account. The amount of the sold shares
iISRs. 29,000/-. The proceeds are credited to his savings account. The banker
wants to set this amount off against the Equated Monthly Installments not
paid by Mr. Kamath.

7. A demand draft issued on a branch of your bank is lost before it reached its
payee. The purchaser of this draft wishes to apply for a refund. What are the
formalities associated with the same and how would you deal with such asituation ?
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M.Com. (Semester — IV) Examination, 2011
Gr-H : Advanced Marketing (Spl. Paper — VIII)
CASE STUDIES IN ADVANCED MARKETING
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

N.B. : i) Part I carry 25 marks and Part II 75 marks.
ii) Figures to the right indicate full marks.

PART — |
1. Definethe term ‘case study’. State its purpose. 10
OR
Describe in brief different types of cases.
2. Write short notes on (any 3) : 15

I) Limitations of case study

i) Case study as atool of marketing research.
iif) Modern approaches to case study
Iv) Stepsin solving case study.

PART — I
(Case Study)

Attempt any 3 cases from the following :

3. Case No 1: 25
Advertising Vs Quality :

Carrer circle is a coaching class started by Prof. Rao after retirement from a
reputed city college. The object of his coaching class is to provide in depth
coaching for all types of competitive examinations. Prof. Rao has made detall
study of pattern of such examinations. Heintendsto cover in his coaching classes
the all areas of competitive examinations. Prof. Rao drawn up an ambitious
advertisement campaign for marketing of these classes and ready to spent huge
amount on it. However his friend Prof. Rge is of the opinion that Prof. Rao
should spent more on devel opment of proper classroom infrastructure and paying
higher salaries to teaching staff instead of on advertising. Prof. Rao is unable to
decide his priorities and ask for your opinion.

P.T.O.



Questions :

1) With whom do you agree and why ?

i) What will be your adviceto Prof. Rao ?

Case No. 2

An Urban Consumer Co-operative Store Marketing Manager

‘Parijat’ is an urban consumer Co-operative store is functioning for last five
yearsin ‘Kiranagoods with success. The membership is now about 60000. The
store operates through its four branches situated at prominent places. The store
has now decided to enter into the field of marketing the note books for school
and college students. Note book manufacturers are willing to supply as many
note books as the store may demand.

Write adetail note on marketing strategy that should adopt by the store to expand
the size of this new area.

Case No. 3
The Story of ‘Clear-In’

Vijay Pharmais a new company established in 1996 by two young pharmacy
graduates Sagar and Ravi. They have developed new type of liquid names as
‘Clear in’. Which is multipurpose. This product is similar to already popular
product named as ‘clear-all’. But clear in has different uses than clear-all. It can
be use to clean glass, metal aswell as electronic products.

Sagar and Ravi plan to price this product at Rs. 25 per liter. For suppliers at
Rs. 16 per liter with credit of one month.

However having no marketing experiencethey areat | oss. Please answer following
questionswhich they haveintheir mind :
1) Who could be potential customers of ‘clear-in’ ?
i) How should they proceed to market ‘clear-in’ ?
iif) How should they fight competition from ‘clear-all’ ?
Case No. 4
Sky-bag Limited :

Sky-Bag Ltd. is a famous bag manufacturing Company is facing a serious set-
back in the market. Main reason isthe deal er-promotion scheme adopted by their
competitor ‘Super Bag Ltd’. This competitor company in addition to discount
they offer Europe tour to the dealersif they sell 25,000 piecesin ayear.

Sky Bag Ltd. offer discount direct to customers plus they provide good service
and quality product. Now they do not know how to handl e the promotion scheme
of their rival firm?

The company appointsyou to offer sound marketing advicewith special reference
to promotion policy.
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M.Com. (E-Commerce) (Semester — I1V) Examination, 2011
401 : CASE STUDIES IN E-COMMERCE AND M-COMMERCE

Time: 3Hours Max. Marks: 70

N.B.: 1) Question No. 1 is compulsory.
2) Solve any three questions from 2 to 6.
3) Figures to the right indicate marks.

1. Explain briefly thefollowing terms: 10
a) OnlineAdvertising b) Auction and Reverse Auction
c) Online ShareTrading d) M-Commerce
e) E-Governance

2. Sony online ventures isn't playing around with its popular online games and
electronic - commerce site. The New York - based unit of Sony Corporation-a
giant in electronics, movies, and videos- isusing Javato rev up and differentiate
its www sites. Sony is taking its successful game sites into a new realm by
turning its fairly static single- user game into interactive, multimedia ventures
with fast-paced animation and graphics.

And sofar it isworking. Sony was the most popular entertainment Web-site of
1997 among all sites accessed from home PCs, according to Media Matrix, a
media research firm. Sony’s web site (www.sony.com) showcases its movies,
videos, and electronic product by dazzling users with multimedia entertainment
such as its game show sites.

“The Web is being viewed more and more as an entertainment platform and
consumersdemand very different thingsfrom their entertainment than from buying
abook Online” said Lisa Simpson, a Senior Vice President at Sony Online.
“People expect something more just because it’'s Sony, so we' ve got to give it
to them.We can do that withjava.” Sony isbuilding server-side Javaapplication
that manages the multimillion-page site. The mediacompany alsoisinstalling
Java Web servers that shoot information in dynamic pages from databases to

users. P.T.O.
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But Sony’s popular game sites, with 60% growth in their audience and atotal of
2.9 million user, will get the most attention. Sony issouping up itsonline Feopardy
site, which has become one of the most popular games on the Internet. By
midyear, the site is slated for an update that will turn it from fairly static game
into a dynamic, multiplayer experience in which players have animated
representation and are able to see four or five different camera angles. That
gives them views from around the “studio” depending on who is asking or
answering questions.

Sate the significance of the case. 10
How does Sony use entertainment to promote its products at its Web site ? 10

3. FreeMarketsisaleader in creating B2B online auctions for buyers of industrial
parts, raw materials, commodities and services around the globe. The company
has created auctions for goods and services in hundreds of industrial product
categories. FreeM arkets auctions more than 500 Croresworth of purchase orders
ayear and saves buyers an estimated 2 to 25 percent of total expenses.

FreeMarkets operates two types of market places. First, the company helps
customers purchase goods servicesthrough its B2B global marketplace, where
reverse auctions usually take place. Second, FreeMarkets helps companies
improve their asset recovery results by getting timely market prices for surplus
assets through the FreeMarkets AssetExchange, employing forward auctions
process, as well as other selling models.

FreeMarkets OnsiteAuctions provide thefollowing :

1) Asset-disposal analysis. Market makers work with sellers to determine the
best strategy to meet asset recovery goals.

2) Detailed sales offering. The company collects and consolidate asset
information into aprinted or online sales offering for buyers.

3) Targeted market outreach. FreeMarkets conducts targeted advertisement to
aglobal database of 500000 buyers and suppliers.
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4) Event Co-ordination. The company prepares the site, provides qualifies
personnel, and enforces auction rules.

5) Salesimplementation. FreeM arkets summarizes auction resultsand assistin

closing sales.

State the significance of the case. 10
Using this case study characterize the FreeMarkets's approach to business
applications. 10

4. Nationa Informatics Centre (NIC) Maharashtra has been providing computer
and communication support to the State Government from 1987. It has
computerized the State secretariat and collector offices, developed various
applications for offline information collection from Districts, compiled the
information at statelevel and if required, helped in information dissemination to
the Government of India by e-mail or delimited datafiles. Application such as
the twenty point programme, fortnightly go-down stock information collection
system, commodity TV sets monitoring system. CM relief fund accounting
system (showing daily receipts of donation District wise at the time of the later
earthquake) isused extensively at the statelevel.

In the year 2002, the Employment Guarantee Scheme (EGS) project was taken
up to collect data of monthly expenditure and attendance of weekly laboures at
various EGS works at 33 District. The non availability of un-interrupted
connectivity constrained the EGC application to be designed as a client server
Softwarethedistrict level and web-based at the state level. At theDistrict level,
once data entry is done files containing datain XML tagsin prepared and sent
to the state severs as e-mail attachments. A demon programme written in JAVA
was used at the state server to extract datafrom e-mails and dynamically insert
them in respectivetable(s) of database at the state NIC server. The datafrom the
database is then presented at state headquarterson LAN by web applications.
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E-Governanceinvolves providing accessto flow of information for government-
to-citizen and citizen-to-government interfaces. Although, some e-governance
schemes and systems have been designed and implemented at different levels, it
has been observed that most concerned people are not using them effectively
and efficiently. Citizensfind difficult to receive fair and balanced servicesin a
timely manner.

State the significance of the case. 10

Suggest the ways to improve the efficiency and effectiveness of servicesto
citizens. 10

5. The micro blogging service Twitter enables users to post short messages or
“tweets’ of up to 140 characters by different web services, Instant Messaging
(IM) or mobile to keep in touch with “followers’ around the world.

While Twitter might appear to have similar functionality to IM, it is not one to
one or one to few, but many-to-many since each subscriber follows others and
in turn is followed by other users. Its open architecture has also enabled many
publishing applicationsfrom the BBC using it to cover breaking news or sports,
through US presidential election candidates to companies such as Cisco and
Woot.com using it to provide product and service information via RSS feeds.

In June 2008, Twitter reported around 3 million monthly web users with others
accessing it viamobile and IM. It is popular throughout Europe as well as the
US. In Chinait has not challenged local services, but it is popular in Japan.

Twitter doesn’t have a stated revenue model. In an interview (Guardian, 2008)
co-founder Even Williams explained that there is sufficient venture capital
investment ($15 million) to pay for what Williamscalled “the usual startup stuff:
salaries, servers, rent” adding “therewill need to be anincome eventually”.

He explainsthat unlike many services, placing adsisnot their preferred revenue
method, instead explaining that “we are striving for (and believe we can achieve)
abuilt-in revenue model that is compatible with the open nature of Twitter and
its ecosystem, rather than something tacked-on.” Watch this space...
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Twitter was founded in 2006 and by 2008 had devel oped to asmall company of
24 full time employees contractors who manage the service in 6 teams. The
makeup of the teams show the main challenges of managing an online service.

* Product team who define, design, and support the Twitter service.
* User Experience who create the user experience and create applications.

* Craft the user experiences of our products, and develop tools hat safeguard
those experiences.

* APl (Application Programming Interface) team who develop the software
interfaces accessed by other services such as Twhirl a desktop application
enabling users to review and post messages and Twitterfeed which enable
blog postings to be added to Twitter.

* Services who develop the main applications and service which form the
Twitter functionality.

* Operations who architect, deploy operate, measure and monitor the
infrastructure, products and services.

The Twitter team has grappled with sustaining service with the growth. Thisis
catalogued in the Twitter status blog which showsthat in May 2008 uptime fell
to alow of 97.14% or 21 hours across the month. While Twitter has a stated
goal to makeTwitter “ A reliable global communication utility” , system outages
indicated by an animated “ Fail Whale” became familiar during early 2008.

Twitter was originally developed on the Ruby on Rails open-source web
application development framework which while sometimes used for devel opment
of content management systems didn’t scale to the capacity required by a
messaging system such as Twitter. The open source MySQL database was
initially used for storing and retrieving updates and this al'so caused problems
since at one stage there was asingle physical database used for storing updates.

State the significance of the case and discussthe challengesregarding the services
offered, security and privacy issues, in adequate budget and manpower. 20
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6. Mr. Jones work as a customer support representative for a small software
company but wasfiredinlate 2004. In early 2005, the company discovered that
someone was login on to its computers at night via a modem and had altered
and copied files. During theinvestigation, the police traced the callsto
Mr. Jones's home and found copies thereof proprietary information valued at
several million dollars. Mr. Jones's access code was cancelled the day he was
terminated. However, the company suspects that he obtained the access code
of another employee.

State the significance of the case study. What can the company, or any company,
doin order to prevent similar incidence in the future ? 20

B/I/11/195
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M.Com. “E” Commerce (Semester — IV) Examination, 2011
ACCOUNTING INFORMATION SYSTEM

Time: 3Hours Max. Marks: 70

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Describethe basic features of Accounting Information System (AlS) and explain
itsrolein organisations.

OR
How System Approach can be used for solving problem ?

2. What isclient/server ? Describethevarious characteristicsthat reflect thefeatures
of client/server system.

OR
Write noteson :
1) System Development Life Cycle[SDLC]
2) RapidApplication Development [RAD]

3. What do you understand by “Requirement Analysis’ ? What is significance of
analysing the present system and how it iscarried out ? Explain briefly.

OR
Write noteson :
A) Risk Management

B) Auditorsresponsibility in control.

P.T.O.
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4. Thefina step of the system implementation isits evaluation, What functionsare
being served by the system of evaluation ? Discuss development, operation and
information evaluation.

OR
Write noteson :
1) Revenue CycleApplication Documentation
2) Expenditure CycleApplication.

5. Explainthe Guidelinesof ICAI in respect of revenue and expense recognition by
DOTCOM companies.

OR
Write notes on (any two) :
1) Accounting for website development cost
2) Equity based consideration

3) Elements of E-commerce Transactions.

B/l/11/195
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M.Com. E.Commerce (Semester — IV) Examination, 2011
404 : E-MARKETING AND CUSTOMER RELATIONSHIP
MANAGEMENT

Time 3 Hours Max. Marks: 70

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. A) What do you mean by the term ‘ Environmental scanning’ ? Explain various
features of environmental scanning.

OR
B) Explain the term ‘E-Business'. What are the salient features of E-business ?

2. A) Explain the term * E-marketing’ . State the reasons of growth of E-Marketing
in India

OR

B) Explain the concept of ‘On Line Marketing'. What are the advantages and
limitations of E-Marketing ?

3. A) Explainthereasonsfor the growth of E-Advertisement. What are the various
forms of E-Advertisement ?

OR

B) What do you mean by “Target Marketing” ? How electronic advertisements
help to attract various target markets ?

4. A) Define the term ‘Brand’. State the methods of Brand Promotion by using
websites and other electronic media ?

OR

B) From the customer’s point of view, what makes online shopping attractive ?
What are the drawbacks of online shopping ?

5. A) Explain the concept of ‘Customer Relationship Management’. Describe
various factors affecting ‘ Customer Relationship Management’.

OR

B) Discuss ‘Relationship Marketing’. How it is different from traditional
marketing ?

B/I/11/195
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M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2011
402 : DATA CENTRE TECHNOLOGIES

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) Figures to right indicate full marks.
Answer thefollowing (any 4) : (4%x4=16)
1) Explain Network Operation Centre (NOC).
2) Write ashort noteon :

1) Inband monitoring
2) Out-of-Band monitoring.

3) Explain TPC Benchmarks.
4) Explain briefly thefollowing cluster components.
a) Shared disk b) Public or service network.

5) Explain briefly the best practicesesthat must onefollow to ease configuration
and maintenance for a network infrastructure in a data centre.

. Answer thefollowing (any 4) : (4x4=16)

1) Describecommercial cluster management software.

2) Explainthe modular cabling design.

3) Explaininternet access and its components.

4) Write ashort note on Power Distribution Unit (PDU’s).
5) Write ashort note on Linpack Benchmarks.

Answer thefollowing (any 4) : (4x4=16)

1) Kareena Designer Dresses Company has several off-line stores around the
state. The owners have decided to establish an online presence to be able to
allow anyone in the country to order dresses. They have acquired services
from a software development firm to place their catlogue online. They have
rented abuilding in the state of India. Study the above data centre case-study
and give the proper requirements and the solution for the above.

2) Explain the characteristics of an outstanding design for data center.
P.T.O.
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3) Explainthe metricsof high-availability.
4) Write a short note on power conditioning.
5) Explaindry-air conditioning system.
V. Answer thefollowing (any 4) : (4%x4=16)
1) Explainthe phasesfor capacity planning.
2) Define server administration. State best practisesfor system administration.
3) Explaintheterm*“Load balancing” and explain its advantages.
4) What iscluster ? Explainitstypes.

5) “The data center must also provide the required power, a well-controlled
environment (with regard to temperature and relative humidity) and network
connectivity to other devices within and outside the data center” — comment.

V. Answer the following (any 4) : (4x4=16)
1) Explainthe software and hardware requirementsfor the cluster implementation.
2) Write short note on many-to-one failover model.
3) Define benchmark. State the aspects of system performance.
4) Explaintheguidelinesfor planning adatacenter.

5) State the objectives of 4VAC systems.

B/1/11/350
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M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2011
(404) BUSINESS AND PROFESSIONAL SKILLS

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
1. Explainthefollowing termsin short (any four) : 16
a) Culture
b) Crestivity
c) Patience
d) Businesscrisis
e) Change management
f) Strategy.

2. Answer the following questions (any four) : 16
a) What factors should be considered while preparing an effective speech ?
b) How versatility helpsin converting threatsinto an opportunity ?
c) How will you matchthe strategy with the culturein the current businessscenario ?
d) Explaintheimportance of communication skillsto aManager.
€) Discuss the advantages of Close-ended questionsin an interview.

3. Answer the following questions (any four) : 16
a) ExplainthebarriersinListening.
b) How Sensitivity helpsin becoming aninsightful executive ?
c) Write anote on the need of strategic thinking.

d) What factors should be considered for creating excellence in a business
organization ?

€) Describe the Process of Strategic evaluation.

P.T.O.
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4. Answer the following questions (any four) : 16
a) Distinguish betweenVerba and nonVerbal Communication.
b) What skills are necessary to achieve excellence ?
c) How will you assess an Organisational culture ?

d) What do you mean by business and professional skills ? Give suitable
illustrations.

€) Discussthequalitiesof anldeal executive.
5. Write short notes (any four) : 16
a) Body Language
b) Importance of group discussions
¢) Environmental Scanning
d) SWOT Anaysis
e) Strategy Implementation

f) Strategic Planning.

B/1/11/350
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M.Com. (Part — I) Examination, 2011
Group B : ADVANCED COST ACCOUNTING AND COST SYSTEMS

Paper — 1 : Advanced Cost Accounting
(Optional Paper) (Old) (2002 Pattern)

Time: 3Hours Max. Marks: 80

Instructions : 1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Use of non-programmable calculator is allowed.
4) Answers to both the Sections should be written in the
same answer book.

SECTION -1
1. Attempt any two of the following : 10
a) Explaintheimportance of proper purchasing.
b) Compare Time Rate and Piece Rate methods.

c) Discuss the principles for apportionment of factory overhead.

2. Compare Job costing and Process costing. 15
OR
What is operating costing ? Explain the procedure of calculating cost for a Power
House. 15
3. Write short notes on any three of the following : 15

a Inventory control

b) Job evaluation

c) Absorption of overhead

d) Idlecapacity

€) Measuresto improve productivity.

P.T.O.
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SECTION — I

4. A machine costs Rs. 90,000 scrap value is estimated at 5% of cost at the end of
itslife of 19 years. Ordinarily, the machineis expected to run for 2400 hours per
annum, however repairs and maintenance requires 150 hours. Further 750 hours
are lost due to various other reasons. 14

The details of the machine shop are given below :

a) Wages of a operator

One operator is running two machines Rs. 6,000 p.m.
b) Rent and Rates of the machine shop Rs. 3,000 p.m.
c) General lighting of the shop Rs. 2,500 p.m.
d) Insurance premium for the machine Rs. 8,400 p.a
€) Cost of repairs and maintenance, per machine Rs. 250 p.m.
f) Shop Supervisor’'s salary Rs. 9,000 p.m.

g) Power consumption of the machine per hour is 20 unitsat therate of Rs. 2 per
unit.
h) Other factory overhead chargable to the shop Rs. 48,000 per annum.

There are four identical machines in the shop. The supervisor is expected to
devote one-fifth of histime for supervising amachine.

Compute a comprehensive machine hour rate.
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5. Mr. Balaram, a Contractor has undertaken two contracts, one at Nashik and
another at Pune. The details of the contracts are given below for the year ended

31% March 2010. 14
Particulars Contract at Nashik  Contract at Pune
Date of commencement 1-7-2009 1-10-2009
Rs. Rs.
Contract price 10,00,000 15,00,000
Direct Labour 2,55,000 1,82,000
Materialsissued 2,20,000 2,00,000
Materialsreturned from site 10,000 15,000
Plantinstalled at site 2,00,000 3,50,000
Direct expenses 40,000 30,000
Office overhead 15,000 10,000
Materials of Rs. 8,000 sold for 10,000 -
Materiasat site 18,000 16,000
Cash received from the contractee
being 80% of work certified 4,80,000 2,40,000
Work uncertified 13,000 9,000
Architect’s fees 7,000 3,000

I) Provide depreciation on plant at 20% p.a.

i) Materials of Rs. 10,000 were transferred from Pune to Nashik contract.

You are required to prepare Contract Account for Nashik and Pune contracts for

the year ended 31-3-2010.
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6. Yashawant Ltd. has closed its accounts for the year ended 31-3-2010. The profit
shownin financial accountsisRs. 3,72,000 and for the same period cost accounts
showed a profit of Rs. 4,10,000. 12

The balances in the two sets of accounts as on 31-3-2010 were as follows:

Stock of : Cost Accounts  Financial Accounts
Rs. Rs.
Raw Materials: Opening 1,36,000 1,45,000
closing 1,10,000 1,03,000
Finished goods : Opening 2,66,000 2,58,000
Closing 2,29,000 2,23,000

Other information available:

Loss on sale of machinery - 35,000
Dividendsreceived — 7,000
Interest received — 4,000
Dividend distributed - 50,000

Prepare memorandum reconciliation account to reconcile profit as per the two
sets of accounts.

B/1/11/690
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M.Com. (Part — I) Examination, 2011
Group B : ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Paper - ii) (Optional)
Cost Control and Cost Systems (Annual Pattern)
Time: 3Hours Max. Marks: 100

N.B. : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Use of calculator is allowed.

1. Define the term ‘ Standard Costing’. What are the various concepts of standard

costs ? Describe advantages and limitations of standard costing.

OR

What do you mean by ‘Responsibility Accounting’ ? What are its principles ?

Describe various types of responsibility centres.
2. Write short notes on (any four) :

a) Essentialsof Effective Budgeting.

b) Usesand limitationsof Marginal costing.

c) VaueAnayss.

d) Selection of method of costing.

€) Management Information System (MI1S).

f) Cost system in Computer Environment.

P.T.O.
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3. A) You aregiventhedatafor theyear ending 31/3/2010 of M/sAshish engineers.

Particulars Rs.
Variable cost 6,00,000
Fixed cost 3,00,000
Sales 10,00,000
Net profit 1,00,000
Compute :

a) P/V ratio

b) B.E.P.

c) Profit when sales are Rs. 12,00,000
d) Salesto earn aprofit of Rs. 2,00,000.

B) What do you mean by ‘Inter Firm Comparison’ ? State its advantages and
limitations.

4. Accurate Processors Ltd. produce a product ‘X’ of which standard material
cost is:
40% of material ‘P @ Rs. 4,000 per m.ton.
60% of material ‘Q’ @ Rs. 6,000 per m.ton.

A standard loss of 10% is expected in production during the month, 171 m.tons
of ‘X’ were produced from the use of 90 m.tons of material ‘P @ Rs. 3,600 per
m.ton and 110 m.tons of material ‘Q’ @ Rs. 6,800 per m.ton.

Calculatethefollowing material variances:
a) Material pricevariances

b) Material mix variances
c) Materia yield variances

d) Material cost variances.
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5. Fromthefollowing particul ars prepare aflexible budget for 60%, 80% and 100%
activity showing the estimated sales, sales cost and profit. Assume the all items

produced are sold.

Fixed Expenses Rs.
Management Salaries 4,20,000
Rent and Taxes 2,80,000
Depreciation on
machinery 3,50,000
Sundry Office Expenses  4,45,000
Total 14,95,000
Variable expenses Rs.
@ 50% Capacity
Materia 12,00,000
L abour 12,80,000
Salesmen’s commission 1,90,000
Total 26,70,000

Semivariable expenses
at 50% capacity
Pant maintenance
Indirect labour
Salesmen’ssaary
Sundry Expenses

Total

Rs.

1,25,000
4,95,000
1,45,000
1,30,000

8,95,000

Semivariable expenses are constant between 41% and 70% activity, increase by
10% between 71% and 80% activity and increase by 15% between 81% and
100% activity. Fixed expenses are constant at all levels of activity. Sales at 60%
activity are Rs. 51,00,000, at 80% activity are Rs. 68,00,000 and at 100% activity

are Rs. 85,00,000.

B/l/11/725
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M.Com. (Part — I) Examination, 2011
Group - C : BUSINESS PRACTICES AND ENVIRONMENT
(Paper — II) (Optional)
Business Environment
(Annual Pattern)

Time: 3 Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. “Economic Environment alone decides the nature of Business Activities’. Do
you agree with this statement ? Give reason.

OR
What are the main types of business environment ? Explain in detail.

2. Explain how social and cultural factors of environment have their impact on
the functioning of business organisation.

OR

“Indian Economic Environment presents a series of contradictions and
paradoxes’. Comment.

3. Explain the role of “Foreign Investment” in the industrial development of
India. Isit useful for Economic Development ?

OR

Explain the role of foreign banks and non-banking institutions in the context
of financial environment of business.

4. Define “Global Environment”. Explain its types and state its impact on world
trade.

OR

What are the techniques of Environmental Analysis ? Explain them in detail.
State limitations of these techniques.
P.T.O.
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5. Write short notes (any two) :
1) Indian Industrial Environment
2) Types of Pollution
3) Effects of Industrial Sickness on Economy
4) Growth of Capital Market in India.

5) Foreign Technology and MNC's.
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M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2011
401 : ADVANCED DATABASE MANAGEMENT SYSTEM

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All questions are carry equal marks.
3) Figures to the right indicate full marks.

1. Attempt any four : (4x4=16)

a) Differentiate between KDBM Sand ORDBMS.

b) Explain the concept of object - oriented databases.
c) Writeanote on client server Architecture.

d) Which applicationsinvolves spatial data?

e) Write anote on SOAP.

2. Attempt any Four : (4x4=16)
a) Explaindifferent parallel database architectures.
b) Discussquery optimization.
c) Writeanote on partitioned join.

d) What is distributed database system ? Explain different types of distributed
database system.

e) What aretheresponsibilitiesof transaction manager and transaction coordinator ?

3. Attempt any four : (4x4=16)
1) Write anote on data mart.
2) Discuss benefits of DSS.
3) Explain OLTPindetalil.
4) Write anote on object | dentity.
5) Writeainvertedindex.

P.T.O.
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4. Attempt any four : (4x4=16)
a) Write a note on vector space model.
b) ExplainHITSalgorithmindetail.
c) What is path expression ? Explain.
d) Why crawler software can be complex ?

e) Define 1) Base set i) Root set
i) Link Page iv) Base Page

5. Attempt any four : (4x4=16)
1) Consider thefollowing relation schema
Emp (eno, ename, title)
Pay (title, sa)
Let, P, : sal <50,000 and P, : sal >50,000 betwo predicates. Perform ahorizontal
fragmentation of relation pay to obtain fragments Pay 1 and Pay 2.

2) Consider thefollowing relation schema project (pno, pname, duration, location,
noofemp) :

Perform vertical fragmentation of the project relation according to thefollowing
conditions:

A siterequires details about
I) pno, duration, noofemp
i) pno, pname, location

3) Explain disadvantages of distributed database system.

4) Defineterms: i) Spatical Data 1) Spatical extent
iii) Point iv) Point data
5) Write a short note on knowledge discovery in database (KDD).

B/1/11/350
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M.C.A. (Commerce Faculty) (Semester — IV) Examination, 2011
403 : WEB ENABLING SYSTEMS AND BUSINESS APPLICATIONS

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) All questions carry equal marks.
4) Consider suitable data if necessary.

1. Attempt any four : (4x4=16)

a) What are fundamental part of e-business application ?

b) What is JSP ? Explain various tags used in JSP.

c) WhatisXML ?How XML isusedinserviet ?

d) What do you mean by bean ? Give coading conventions of bean.
€) What isfactory patterns ? How it is used in database connection ?

2. Attempt any Four : (4x4=16)
a) What areinner workings of e-business XML ?
b) List and explain JDBC component.
c) Differentiate between serviet and JSP.
d) Explainclient server technology.
€) How JavaBean isused in encapsulation of dataand logic ?

3. Attempt any four : (4x4=16)
a) Explain model view controller (MVC) architecture.
b) What arethelimitationsof XML ?
c) How access pattern is used in access to enterprise component ?
d) ExplainJavaBeanAPl.
e) Differentiate between 2 Tier and 3Tier client server architecture.

P.T.O.
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4. Attempt any four : (4x4=16)
a) Explain JZEE multitier architecture.
b) Writeanote on jar and manifest files.

c) What is e-business ? Explain various models used in e-business application
design.

d) Explainlifecycleof servlet.
€) Listthe stepsfor creating XML document.

5. Attempt any four : (4x4=16)

a) Writeaprogram in Javawhich will display student (stud No, Stud Name, Class,
Percentage) information.

b) Write a program in Java using servlet which accept user login information
(ie user ID and password) and checks whether entered user isvalid or not.

c) Write a program in Java using JSP which accepts actor (Act No, Act Name,
Movie Name) information and display it to the second page.

d) Createa XML filethat storetheinformation about fire employee details.
e) Writeaprogram in Javausing JSPthat calcul ates factorial of agiven number.

B/1/11/350
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Group A : ADVANCED ACCOUNTING AND TAXATION (Paper -1)

(Advanced Accounting) (Optional Paper)
(Annual Pattern)

Time: 3Hours

Max. Marks: 100

N.B. : i) All questions are compulsory and carry equal marks.

ii) Use of calculator is allowed.

1. Write short notes on any four of the following :

1) Professional Development of Accountancy in India
2) Methods of valuation of shares
3) Accounting concepts

4) Advantages of human resources accounting and social responsibility

accounting

5) Advantages and disadvantages of mechanised accounting
6) Types of inflation accounting

7) Meaning of Economic value added statement and environmental accounting.

2. Fromthefollowing data, you are required to prepare a consolidated Balance

Sheet of a group of companies :

Balance Sheet as on 31% December 1982

XLtd. YLtd. ZLtd. X Ltd.
Rs. Rs. Rs. Rs.
Sharecapita 250000 200,000 120000 FixedAssts 56,000
Reserves 36,000 20000 14400 Investments
Profit and (at cost)
LossA/c 32,000 4000 10200 SharesinY Ltd. 1,70,000
Z Ltd. Baance 6,600 - — SharesinZLtd. 36,000
Sundry creditors 14,000 10,000 —  Stock-in-trade 24,000
X Ltd. Baance - 14,000 — Y Ltd.Baance 16,000
Sundry Debtors 36,600
X Ltd. Balance -
338,600 248,000 1,44,600
3,38,600

YLtd. ZLtd.
Rs. Rs.
110000 75,000
1,06,000 -
32000 63,000
- 6600
248,000 1,44,600

P.T.O.
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Other particulars are as under :

I) The share capital of all companiesis divided into shares of Rs. 100 each.
i) X Ltd. held 1500 shares of Y Ltd. and 300 shares of Z Ltd.

i) Y Ltd. held 800 shares of Z Ltd.

iv) All investmentswere made on 30" June 1982.
v) Therewerethefollowing balances on 1%t January 1982 :

Y Ltd. (Rs.) Z Ltd. (Rs.)
Reserves 18,000 12,000
Profit and Loss A/c 2,000 1,680

vi) Dividends have not been declared by any company during the year nor are

any proposed.

vii) Y Ltd. sold goods costing Rs. 8,000 to X Ltd. at the price of Rs. 8,800, these

goods were still unsold on 31-12-82.

viii) X Ltd. remitted Rs. 2,000toY Ltd. on 30" December, 1982 but the same was
not received by Y Ltd. by 31% December, 1982.

3. Thebusinessof Rundown Limited was being carried on continuously at |osses.
The following are the extracts from the Balance Sheet of the company as on

31*March, 1985:
Liabilities Rs.

Authorised, Issued and
Subscribed capital :

30,000 equity shares of
Rs. 10 each fully paid 3,00,000

2,000 8 percent cumulative

preference shares of

Rs. 100 each fully paid 2,00,000
Share premium 90,000
Unsecured Loan

(From Director) 50,000

Sundry creditors 3,00,000
Outstanding Expenses

(including Directors

remuneration 20,000) 70,000

10,10,000

Assets

Goodwill
Plant

Loose tools
Debtors

Stock

Cash

Bank

Preliminary expenses
Profit and Loss Account

Rs.

50,000
3,00,000

10,000
2,50,000

1,50,000
10,000
35,000

5,000

2,00,000

10,10,000
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Note : Dividends on cumulative preference sharesarein arrearsfor 3 years.
The following scheme of reconstruction has been agreed upon and duly
approved by the court.

1) Equity shares to be converted into 1,50,000 shares of Rs. 2 each.

2) Equity shareholders to surrender to the company 90 per cent of their
holding.

3) Preference shareholders agree to forgo their right to arrears to dividendsin
consideration of which 8 per cent preference shares are to be converted
into 9 per cent preference shares.

4) Sundry creditors agreeto reducetheir clam by one-fifth in consideration of
their getting shares of Rs. 35,000 out of the surrendered equity shares.

5) Directors agreeto forgo the amounts due on account of unsecured |oan and
Director’sremuneration.

6) Surrendered shares not otherwise utilised to be cancelled.

7) Assets to be reduced as under :

Goodwill by Rs. 50,000
Plant by Rs. 40,000
Tools by Rs. 8,000

Sundry Debtors by Rs. 15,000
Stock by Rs. 20,000

8) Any surplus after meeting the losses should be utilised in writing down the
value of the plant further.

9) Expenses of reconstruction amounted to Rs. 10,000.
10) Further 50,000 Equity Shares were issued to the existing members for
increasing the working capital. Theissue wasfully subscribed and paid up.
11) Authorised capital was suitably increased.

A member holding 100 equity shares opposed the scheme and his shares
were taken over by a Director on payment of Rs. 1,000 asfixed by the
court.

You are required to pass the journal entriesfor giving effect to the above
arrangement and also to draw up the resultant Balance Sheet of the
company.

OR
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3. Thefollowing arethe Balance Sheet asat 31% December, 1991 of X Ltd. and Y Ltd. :

Liabilities X Y Assets X Y
Rs. Rs. Rs. Rs.
Share capita Goodwill 30,000 10,000
Equity shares of Machinery 1,50,000 1,00,000
Rs. 10 each 4,00,000 3,00,000 Stock 40,000 72,000

Reserves and surplus 60,000 80,000 Debtors 2,10,000 1,20,000

Creditors 40,000 30,000 Bank 60,000 90,000
Preliminary
Expenses 10,000 18,000

5,00,000 4,10,000 5,00,000 4,10,000

Goodwill of the companies is to be valued at Rs. 50,000 and Rs. 40,000
respectively. Machinery of X isworth Rs. 2,00,000 and of Y Rs. 90,000. Stock

of Y has been shown at 90% of its cost.

Itisdecided that X will acquireY, without liquidating the latter, by taking over its

entire business by issue of shares at theintrinsic value.

You are required to draft the Balance Sheets of the two companies after putting

through the scheme.
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4. Thefollowing information was extracted from the books of limited company on
31 March, 1983 on which date a winding up order was made :

Rs.
Equity Share Capital :
2,000 shares of Rs. 10 each 20,000
6% preference share capital :
3,000 shares of Rs. 10 each 30,000
Callsinarrear (estimated to
produce Rs. 200) 400
5% First Mortgage Debentures
secured by afloating charge on
the whole of the assets of the
company (interest paid to date) 20,000
Creditorsfully secured (value
of securities of Rs. 4,000) 3,500
Creditors partly secured
(value of securities Rs. 2,000) 4,000
Preferential creditorsfor wages,
rates and taxes etc. 750
Unsecured creditors 27,000
Bank overdraft, secured by a
second charge on the whole
of the assets to the company 2,000
Cash in hand 120
Book Debts — Good 3,800
_ — Doubtful 800
(estimated to produce Rs. 300)
—Bad 450
Stock-in-Trade (estimated to
produce Rs. 6,000) 7,200
Freehold Land and Buildings
(estimated to produce Rs. 18,500) 21,000
Plant and Machinery
(estimated to produce Rs. 6,300) 6,000
Fixturesand Fittings
(estimated to produce Rs. 800) 1,200

You are required to prepare a statement of Affairs of the company as regards
creditors and contributories.
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5. Thefollowing Balances have been obtained from the books of Pravara Education
Society ason 31-3-1998 and 31-3-1999.

31-3-1998 31-3-1999
Building 80,000 85,500
Furniture 40,000 30,600
Advance subscription 1,500 1,000
Arrears of subscription 3,000 5,000
Prepaid expenses 800 1,000
Outstanding expenses 3,000 1,200
Sports equipments 24,000 21,600
Investments — 12,000
Books 15,000 16,200
Cash 16,000 17,100

Thefollowing informationisalso relevant for the year 1998-99.
i) Depreciation provided for the year

Building—4,500

Furniture— 3,400

Sports Equipments — 5,400

Books — 1,800
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i) Some old furniture, standing in books on 1-4-1998 for Rs. 6,000 was sold for
Rs. 4,000 on the same date.

iif) Society had 300 members on 31-3-99. No fresh members admitted during the
year but 10 members |eft the society on 1-10-1998.

Iv) Subscription is payable @ Rs. 15 per month.
v) Donation received Rs. 5,000 has been capitalised.
vi) Expenses paid during the year totalled Rs. 32,300.

vii) Investments was made on 1-2-1999. Interest accrued but not due on
31-3-1999 amounted to Rs. 200.

viii) During the year asum of Rs. 10,000 was spent on extention of building.

You are required to prepare the Receipt and Payment Account, Income and
Expenditure Account for the year ended 31-3-1999. Also draw the Balance
Sheet of the society as at that date.

B/I/11/1210
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M.Com. (Semester — IV) Examination, 2011
Group - H : Advanced Marketing
RECENT ADVANCES IN MARKETING
(2008 Pattern) (New)

Time: 3Hours Max.Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain the concept and process of Integrated Marketing Communication.
OR

1. Define Retailing. Elaborate upon the significance and importance of retailingin
the Present Indian Scenario.

2. Definestrategic service management and explain sustainable competitive advantage
of strategic service management.

OR

2. Elaborate upon the concept, components and significance of supply chain
management.

3. Explaintheroleof I.T. in Relationship Marketing.
OR

3. How will you evaluate marketing communication programmes ? Explain with
examples.

4. Explaintheroleandimportance of strategic marketing inthe present Indian Context.
OR

4. Write adetailed note on New Trendsin Retailing.

P.T.O.
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5. Write short notes on any 4 :
a) Government services
b) Managingreverselogistics
c) Event Management Services
d) Floor Ready Merchandise
€) MediaBuying
f) Channel Selection Criteria.
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M.Com. (E-Commerce) (Semester — 1V) Examination, 2011
405 : NETWORK INFRASTRUCTURE AND E-PAYMENTS
Time: 3Hours Max. Marks: 70

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explain the concept of electronic purse, electronic cheque and electronic cash. 14

OR
1. Explaininbrief E-Commerce and Internet. 14
2. Discussthe structure of file transfer protocol in detail. 14
OR

2. ExplanATM andIntelligent auto teller and netware management systemindetail. 14

3. Compare and contrast OS| and TCP/IP reference model. 14
OR
3. Explaininbrief Home banking and Internet banking. 14
4. Explain different types of Hubs. Also explain the working of Routers. 14
OR
4. Discuss electronic mail and World Wide Web in detalil. 14
5. What are the services provided by transport layer, network layer and physical
layer of TCP/IP reference model ? 14
OR

5. What isthe IP address ? Explain different classes of |P address. 14

B/I/11/195



